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[4101]-201

S.Y. B.A. EXAMINATION, 2012

COMPULSORY ENGLISH

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Reflections-II

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two of the following : [16]

(i) “The greatest ideas in the world are often the simplest ones.”

Do you agree ? Answer with reference to the stories of Akio

Morita/Henry Ford.

(ii) Which incident does Kamala Das recollect from her childhood ?

Has she attained ‘adult peace’ ?

(iii) What were the words of advice given to Sudha Murthy by

JRD Tata ? How did she implement them ?

P.T.O.
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2. Attempt any two of the following : [16]

(i) What is the message conveyed by Dr. Abdul Kalam to Indians

in ‘Unity of Minds’ ?

(ii) Comment on the appropriateness of the title ‘The Three Piece

Suit’.

(iii) Do you agree that ‘After Twenty Years’ is an interesting story

of two friends ? Discuss.

3. Attempt any two of the following : [16]

(i) Write a news report of a road accident you witnessed

recently.

(ii) You come across an advertisement in a local daily for the

post of a clerk in Alfa Laval Pvt. Ltd., Kasarwadi, Pune. You

wish to apply for the post. Write a covering letter for your

resume.

(iii) Your College Cultural Club has organised a few competitions

like poetry-reading, debating, elocution, singing, dancing, etc.

You are the secretary of the cultural club. Write a notice

encouraging all students to participate in these activities. Also

mention the date, venue and time.
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4. Attempt any eight of the following : [16]

(1) Insert the correct collocation in the space provided :

(i) Shyam....................................the door angrily and walked

out. (tossed/slammed)

(ii) I saw the policeman roughly...........................the child behind

him and face the crook. (shove/toss)

(2) Use the correct word in the blank :

(i) He has to....................................the evening train.

(use/take/make)

(ii) I’m warning you, you are.......................................a mistake.

(doing/causing/making)

(3) Fill in the correct suffix and complete the sentences :

(i) I lost several of my value....................belongings when I

shifted my house.

(ii) She was determined to research mytho................... .

(4) Complete the following sentences using the words given in

brackets :

(i) .............................we begged her to come with us, she refused.

(Although/Imply)

(ii) The change in the government is sure to ...................................

business. (affect/effect)

(5) Fill in the blank with a suitable word from the field of

business.

(i) Someone who does business............................... .

(benefactor/entrepreneur)

(ii) A service that is offered to the customer after they have

bought a product.............................

(After sales service/turnover)
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(6) Explain the meanings of the underlined phrases :

(i) I postponed my meeting with the lawyer several times.

I am afraid I can’t put it off any longer.

(ii) Sudesh was not given any role in the play, so he looked

put out.

(7) Choose the correct binomial from the brackets and complete

the sentence :

(i) All day I have been going..........................between my house

and his and I simply cannot take it any more.

(back and forth/in and out)

(ii) Go and visit my cousin when you are in Delhi. He will

take good care of you and................................you.

(wine and dine/rant and rave)

(8) Use a suitable expression of quantity/frequency :

(i) There are...................................of good shops in the

neighbourhood. You can spend hours visiting them all.

(a lot/a little)

(ii) She wants to go abroad to study because..............................her

friends are going.

(many of/a great deal of)
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(9) Use the following phrases in your own sentences :

(i) give in

(ii) set out.

(10) Insert an appropriate link word in the blank :

(i) John...................................Mary are good friends.

(and/but)

(ii) The test will be held tomorrow...................................you come

or not.

(whether/while)

5. Attempt any eight of the following : [16]

(1) Fill in the blank with a suitable preposition :

(i) Sandeep was working.....................................a call centre when

the idea struck him.

(in/of)

(ii) The earth does not belong................................us. (at/to)

(2) Use a suitable article in the blank :

(i) At this point....................................police inspector came into

the crowd.

(a/an)

(ii) The secretary grew frustrated and finally decided to

disturb.....................president.

(the/a)
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(3) Add a question tag :

(i) It is simply a matter of reflection.

(ii) Sudesh waited at the door.

(4) Write antonyms of the following words :

(i) Ancient

(ii) Noisy.

(5) Change into passive voice :

(i) The waiting man pulled out a handsome watch.

(ii) Crocodiles kill many people in Africa.

(6) Convert the following sentences into indirect speech :

(i) The tall man said, “You’ve been under arrest for ten minutes,

Silky Bob.”

(ii) A young girl said, “The flaw is in your shoes.”

(7) Frame questions from the following sentences :

(i) Body language is a major means of communication.

(ii) We don’t want to erect a statue.

(8) Use a suitable link word in the blank :

(i) You will never know..............................the night meant for

me. (why/what)

(ii) Laura has to go to the stage................................present the

annual report. (and/because)
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(9) Write two sentences using the word given below, once in a

literal sense and once in a metaphorical sense.

(i) A star.

(10) Write the correct tense-form of the verb given in brackets :

(i) My mind has...................................an adult peace now.

(find)

(ii) The boys................................me a story last night.

(tell)
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G2 : vk/kqfud ejkBh lkfgR; vkf.k mi;ksftr ejkBh

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

ikB~;iqLrds :— (i) dFkkxkSjo

(ii) vkepk cki vku~ vkEgh-

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. (v) eqÊ.kd«k gs ,d lkaLœfrd /ku vkgs dls rs Li"V djk- [10]

fdaok

[kk«h« mrkjk eqfÊr fpUgkuqlkj ðkqº Lo:ikr f«gk %

Hkk"kk lkgR; vkf.k lLœr gs ,desdkaðkh fuxfMr vkgsr- Hkk"ksP;k ek/;ekru laLœrhp]

lkfgR;kps lo/ku ds«s tkrs- Hkk"kk gk ef«d vewY; Bsok vkgs- Hk"kk

laLdk jkps lk/k u vkgs Hkk"kk gs ,dk fi<hdMwu nlÚ;k fi<hdMs okjlk tru

dj R;kph lo; ek.klkaP;k vaxoˇ.kh iM«s«h vlrs- ekuo vusd Hkk"kd iz;ksx

djrks- R;kru Hkk"kspk odkl gkrks

P.T.O.
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(c) [kk«h fn«s«k vðkqº mrkjk iqUgk ðkqº «s[ku fu;ekuqlkj f«gk % [10]

ek.klkP; eukr vusd izdkjps opkj] Hkkouk fuek.k gksr vlrkr- R;k dq.ktoˇ

rjh izdV djkO;kðkk okV.ks gk ekuoh LoHko vgs- vki«s fopkj] izrÿ;k izdV

dj.ks] R;kaph nsok.k&?ksok.k dj.ks] ,desdkaP;k Hkkoukae/; lgHkkxh gks.ks vkf.k

,desdkauk lgHkkxh d:u gks.ks ;k vfo"dkj izoŸk«k ekuoh laca/kkr ekBs egRo

vlrs- vkiY;k«k dk; okVrs] dk; Eg.kko;kps vkgs] rs izHkkohi.ks idV dj.ks]

brjkai;±r useds o ifj.kke dkjd jR;k iksgpfo.ks thouO;cgkjkr xjtsps vlrs-

izdVhdj.kkP;k ;k d«s«k laoknd«k vls Eg.krkr-

fdaok

[kk«h fn«s«s vðkqº ðkCn ðkqº Lo:ikr f«gk (dks.krsgh ngk) %

(1) eqÊdkdr

(2) dtolq«

(3) ,d=œr

(4) oŸkO;oLFk

(5) ijorZuh;

(6) ck≥~e; o|k

(7) vnHkqrjE

(8) n`ð;rj

(9) =ekfld

(10)O;DreRo

(11)l[kfRedk

(12)eY;fu/kkj.k-
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(d) [kk«h«iSdh dks.krsgh ngk ikfjHkkf"kd ðkCn f«gk % [10]

(1) Balance

(2) Cash

(3) Authority Letter

(4) Advance

(5) Draft

(6) Refund

(7) Ledger Book

(8) Turnover

(9) Withdrawal

(10) Telegram

(11) Headline

(12) Shooting

(13) Tax-free

(14) Text-book

(15) Trademark

(16) Vacancy

(17) Wage

(18) Broadcasting

(19) Keyword

(20) Quarterly.
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2. (v) [kk«h«iSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh ohl ðkCnkai;±r f«gk % [5]

(1) dFksph O;k[;k f«gk-

(2) dFksps ?kVd f«gk-

(3) dFkk fufeZrhps mn~nsðk f«gk-

(4) dFkk fuosnukps izdkj f«gk-

(5) uodFkk dks.kdks.kR;k «s[kdkauh le`º ds«h R;kaph ukos f«gk-

(6) dks.kR;kgh nksu nf«r dFkkdkjkaph ukos f«gk-

(7) dFkkxkSjo ;k ikB~;iqLrdkrh« nksu dFkkaph ðkh"kZds f«gk-

(c) [kk«h«iSdh dks.kR;kgh ikp izðukaph mŸkjs izR;sdh ohl ðkCnkai;±r f«gk % [5]

(1) vkRedFku Eg.kts dk; \

(2) nksu L=h vkRedFkukaph ukos f«gk-

(3) vkRepfj= «s[kukpk mn~nsðk f«gk-

(4) pfj= o vkRepfj= ;krh« Qjd f«gk-

(5) vkRepfj= «s[kukekxh« izsj.kk dks.kR;k rs f«gk-

(6) nf«r vkRedFkus «s[kukekxh« izsj.kk f«gk-

(7) fp=iV {ks=krh« nksu vkRepfj=kaph ðkh"kZds «s[kdkP;k ukokalg f«gk-

3. (v) [kk«h«iSdh ,dk izðukps mŸkj iUukl ðkCnki;±r f«gk % [5]

(1) dFkk ;k ok≥~e; izdkjkaph oSfðk"VÓs f«gk-

(2) L=hoknh dFkk Eg.kts dk; \ rs lksnkgj.k f«gk-

(c) [kk«h«iSdh ,dk izðukps mŸkj iUukl ðkCnkai;±r f«gk % [5]

(1) pfj= vkf.k vkRepfj= ;krh« osxˇsi.k Li"V djk-

(2) vkRedFku «s[kukps Lo:i Li"V djk-
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4. (v) [kk«h«iSdh ^v* xVkrh« ,dk o ^c* xVkrh« ,dk izðukps mŸkj ,dðððððksiUukl

ðkCnkai;±r f«gk % [15]

(1) ^pkSaFkh fHkar* dFkspk lkekftd vkðk; Li"V djk-

(2) ^fdM«s«h ek.kls* dFkspk vkðk; Li"V djk-

(c) (1) ^vkepk cki vku~ vkEgh* e/kh« ekrksljh gs O;fDrfp= rqeP;k ðkCnkr

f«gk-

(2) olaq/kjk tk/ko ;kauh lkafxr«sY;k vkBo.kh rqeP;k ðkCnkr f«gk-

5. ^v* xVkrh« ,dk o ^c* xVkrh« ,dk izðukps mŸkj ,dðððððksiUukl ðkCnkai;±r

f«gk % [15]

(v) (1) ^vkbZph ek;k* dFksrh« dkHkw o ckcw ps O;fDrfp= rqeP;k ðkCnkr f«gk-

(2) ^fgjoh dk;* dFksps vkðk;lw= f«gk-

(c) (1) nkeksnj :atkth tk/ko ;kaps O;fDrfp= rqeP;k ðkCnkr f«gk-

(2) oMkˇÓkph oLrh e/;s MkW- ujsaÊ tk/kokauh dks.kR;k vkBo.kh lkafxrY;k

vkgsr R;k rqeP;k ðkCnkr f«gk-
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G2 : O;kogkfjd vkf.k mi;ksftr ejkBh

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh 20 ðkCnkai;±r f«gk % [20]

(1) dk;kZ«;hu Hkk"ksph dks.krhgh nksu oSfðk"VÓs f«gk-

(2) vtZ«s[kuklkBh vkoð;d vl.kkÚ;k pkj ckch f«gk-

(3) O;fDrxr i=«s[kukps dks.krsgh nksu izdkj f«gk-

(4) vtZ«s[kukph vkoð;drk dk; \ FkksMD;kr f«gk-

(5) bfro`Ÿk dk f«fg«s tkrs \ rs f«gk-

(6) lHkk Eg.kts dk; \ O;k[;k f«gk-

(7) bfro`Ÿkkps izdkj dks.krs \ rs f«gk-

(8) ^vkod ÿekad* Eg.kts dk; \ rs f«gk-

(9) fVIi.khP;k v[ksjhl dks.kR;k xks"Vh uewn djkO;k «kxrkr \

(10) fuosnui=d dðkklkBh izflº ds«s tkrs \

(11) ekfgrhi=dkph O;k[;k f«gk-

(12) okVpk«h«k iaP;kgŸkj o"ksZ iw.kZ >kY;kuarjP;k o"kkZ«k dk; Eg.krkr \

(13) laLFkkif=dk dk<.;kekxs dks.krk izeq[k gsrw vlrks \
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2. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) ,[kkns i= fdaok vtZ dk;kZ«;kr nk[k« >kY;kuarj R;koj dk; dk;Zokgh gksrs]

rs f«gk-

(2) ,[kk|k bfro`Ÿkke/;s dks.kdks.kR;k ekfgrhpk lekosðk vlrks \ FkksMD;kr f«gk-

(3) vukSipkfjd i=O;ogkj ;koj Vhi f«gk-

(4) fufonk&lwpuk i=dkpk gsrw dk; vlrks \ FkksMD;kr f«gk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk %

(v) vkiY;k fe=k«k@eSf=.kh«k i= f«gk-

vkiY;k egkfo|k«;kus uqdrhp L=h&Hkzw.kgR;k fojks/kh tkx`rh in;k=k dk<«h

gksrh- [10]

fdaok

vkiY;k egkfo|k«;krh« leL;kafo"k;h izkpk;k±uk rÿkji= f«gk-

(c) fufonk&lwpuk r;kj djk % [10]

dqlqekxzt xzaFkk«;] iq.ks ;kauk uohu 20 lax.kd [kjsnh djko;kps vkgsr-

fdaok

uxjikf«dsP;k orhus fuosnui=d r;kj djk %

vkiY;k ðkgjkrh« e- xka/kh jLrk vkxkeh ,d efguk okgrqdhlkBh can jkg.kkj

vkgs-
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4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk %

(v) dk;kZ«;hu fVIi.kh r;kj djk % [15]

lfpu ÿhMk eaMˇ] ukfðkd ;kauh eaqcbZ jLR;kojh« ,d ,djkpk Hkw[kaM] 99

o"kk±P;k HkkMsdjkjkus ÿhMkladw« mHkkj.khlkBh ekfxr«k vkgs-

fdaok

lqjs« laxhr lHkk ;k laLFksP;k okf"kZd loZlk/kkj.k lHksps bfro`Ÿk r;kj djk-

(c) Lejf.kdsph :ijs"kk r;kj djk % [15]

laLFksps uko % ekoˇ ðksrdjh la?k] fufeŸk % lqo.kZegksRlo] Lejf.kdsps

uko % e`.e;h-

fdaok

Hkkjrh; thou chek fuxe ;k laLFksP;k ^thou* ;k laLFkkif=dsP;k fnokˇh

vadkph ekaM.kh dðkh vlkoh] rs f«gk-
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foðððððks"kLrj] vH;klif=dk ÿ- 1

(ejkBh lkfgR;krh« fofo/k izokg)

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

ikB~;iqLrdsa :— (i) ukVd o dknacjhph rkfŸod vkf.k lSºkafrd ppkZ-

(ii) ^r`rh; jRu*µe- tksfrjko Qq«s-

(iii) gkY;k gkY;k nq/kw nsµckckjko eqlˇs-

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. (v) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [9]

(1) ukVdkps ?kVd FkksMD;kr Li"V djk-

(2) ðkksdkfRedk Eg.kts dk; \

(3) ^ukV~;xhr* gh ladYiuk Li"V djk-

(4) ukVdke/;s ikðoZlaxhrkph vkoð;drk dk vlrs \

(5) ,dik=h iz;ksxklkBh vkoð;d vl.kkjs ?kVd dks.krs \

P.T.O.



[4101]-203 2

(c) [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [9]

(1) dknacjhpk vkðk; ;k ?kVdkps egŸo Li"V djk-

(2) dknacjhP;k ðkh"kZdkps egŸo dk; \

(3) dknacjhrh« izlaxfp=.k ;k ?kVdkph ppkZ djk-

(4) dknacjhP;k fuosnukps Lo:i FkksMD;kr f«gk-

(5) ,sfrgkfld dknacjhph oSfðk"V~;s f«gk-

2. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [6]

(1) ukVdkrh« ukanh

(2) ukVdkrh« vfHku;

(3) ukVdkrh« izosðk

(4) ukVdkrh« vad-

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [6]

(1) dknacjhph Hkk"kk

(2) dknacjhpk ðksoV

(3) dknacjhph okLrork

(4) dknacjhrh« fulxZfp=-
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3. (v) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) ^r`rh; jRu* ukVdkrh« ^tksðkh* ps O;fDrfp= js[kkVk-

(2) ^r`rh; jRu* ukVdkrh« ikÊh ;k ik=kph ppkZ djk-

(3) ^r̀rh; jRu* ukVdkpk ðksoV foðkn djk-

(4) ^r`rh; jRu* ukVdkrh« laoknkps Lo:i dls vkgs rs f«gk-

(c) [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« «gku eq«kaps fp=.k Li"V djk-

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« izk.;kaps fp=.k djk-

(3) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« l.kkaps fp=.k djk-

(4) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« ^ikolkps o.kZu* ;koj Vhi

f«gk-

4. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [15]

(v) (1) ^^ ^r`rh; jRu* ukVdkrh« ik=s ftoar okVrkr-** ;k fo/kkukpk ijkeðkZ

?;k-

(2) ^r`rh; jRu* ukVdkrh« dq.kfc.khP;k uoÚ;kps erifjorZu dls o dks.kkeq š

>k«s \

(c) (1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhP;k Hkk"kkðkS«hph oSfðk"V~;s f«gk-

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« Eg.kh o okDizpkj lksnkgj.k

f«gk-
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5. [kk«h«iSdh izR;sdh xVkrh« dks.kR;kgh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(v) (1) ^r`rh; jRu* ;k ukVdkP;k ;ðkkph lk/kdck/kd ppkZ djk-

(2) ^r`rh; jRu* ;k ukVdkps lkj FkksMD;kr f«gk-

(c) (1) ^gkY;k gkY;k nq/kw ns* ;k dknacjhrh« la?k"kZ foðkn djk-

(2) ^gkY;k gkY;k nq/kw ns* ;k dknacjhps dFkkud FkksMD;kr f«gk-
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foðððððks"kLrj izðððððuif=dk ÿekad&2

[e/;;qxhu ejkBh ok≥~e;kpk bfrgkl % izkjaHk rs 1818 (LFkwˇ)]

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps xq.k nðkZforkr-

1. iq<h«iSdh ngk izðukaph m�Ÿkjs izR;sdh 20 ðkCnkai;±r f«gk (izR;sd xVkrh« dks.krsgh

ikp) % [20]

(v) (1) eqdaqnjktkaP;k nksu xzaFkkaph ukos lkaxk-

(2) egkuqHkko laiznk;kps vk| izorZd dks.k \

(3) vk| dof;=h dks.kk«k EgV«s tkrs \

(4) lar izHkkoˇhrh« nksu ^L=h* jpukdkjkaph ukos f«gk-

(5) f[kzLr/kfeZ;kaP;k nksu ejkBh lkfgR;œrhaph ukos f«gk-

(6) iatkckr tk.kkjk lar dks.k \

(7) ejkBhrh« nksu fðk«k«s[kkaph ukos f«gk-

P.T.O.
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(c) (1) rqdkjkekaP;k fðk";sps uko f«gk-

(2) lar jkenklkaps laiw.kZ uko f«gk-

(3) okeu iafMrkaP;k nksu xzaFkkaph ukos f«gk-

(4) ^d«kdoh* dks.kR;k iafMr doh«k EgV«s tkrs \

(5) ^lqanjk euke/;s Hkj«h* ;k «ko.khpk jpukdkj dks.k \

(6) ikfuirP;k j.klaxzkekps o.kZu dj.kkÚ;k nksu c[kjhaph ukos f«gk-

(7) ^vkKki=* dks.kh f«fg«s \

2. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [10]

(v) (1) KkusðojkaP;k vHkaxkrh« foß« egkRE; foðkn djk-

(2) egkuqHkko laiznk;kpk vkpkj/keZ FkksMD;kr Li"V djk-

(c) (1) ðkkghj izHkkdjkaph vksˇ[k d:u |k-

(2) j?kqukFk iafMrkaP;k ne;arh Lo;aojkpk vkðk; foðkn djk-

3. iq<h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 150 ðkCnkai;±r f«gk % [20]

(v) (1) ^Kkunsos jfp«k ik;k* ;k mDrhph lkFkZdrk iVowu |k-

(2) egnacsP;k /koˇÓkapk ifjp; d:u |k-

([k) (1) lar rqdkjkekaP;k vHkaxkrh« lkekftdrk lksnkgj.k Li"V djk-

(2) fðkodk«hu c[kj ok≥~e;kps Lo:i o oSfðk"VÓs f«gk-
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4. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(1) lar lkfgR;kph Q«Jqrh Li"V djk-

(2) lar ,dukFkkaP;k ok≥~e;kps osxˇsi.k Li"V djk-

5. iq<h«iSdh ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [15]

(1) iafMrh ok≥~e;kps osxˇsi.k Li"V djk-

(2) ðkkfgjh ok≥~e;kps Lo:i o oSfðk"VÓs f«gk-
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Total No. of Questions—5+5] [Total No. of Printed Pages—7

Seat

No. [4101]-218

S.Y. B.A. EXAMINATION, 2012

HINDI (fganh) (G-2)

(dgkuh] Nk;koknksŸkj dkO; ,oa ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

    ikB~;&iqLrdsa :— (i) dFkk fogkjµlaik- MkW- lqjs'k dqekj tSu

   laik- MkW- oh.kk eupank

(ii) dkO; dqlqekoyhµlaik- MkW- lqjs'k dqekj tSu

(Nk;koknksŸkj dkO;)µlaik- MkW- Ωpk 'kekZ

lwpuk :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(1) ^cz„jk{kl dk f'k";* dgkuh esa xq# us vius f'k"; dh ijh{kk fdl

izdkj yh \

(2) ^^ ^cMs+ ?kj dh csVh* dgkuh la;qDr ifjokj iz.kkyh dk leFkZu djrh gSA**

bl dFku dh lkFkZdrk dks flº dhft,A

P.T.O.
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2. fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [16]

(1) ^izsr dk c;ku* dfork ds vk'k; dks Li"V dhft,A

(2) ^xhr Qjks'k* dfork dk HkkokFkZ vius 'kCnksa esa fyf[k,A

3. fuEufyf[kr esa ls fdUgha nks vorj.kksa dh llanHkZ O;k[;k dhft, % [16]

(1) ^^tc Hkw[kk caxky] rM+i

ej x;k Bksad dj fdLer

chp gkV esa fcdh

rqEgkjh ek°&cguksa dh vLer**

(2) ^^;g ugha og u dguk Fkk

tks fd mldks mnkl ij lPph yqukbZ esa cguk Fkk

tks vius gh vius u jgus dks

rn~xr gks lguk Fkk

;g rks cl #°/k dj pqi jguk Fkk**

(3) ^^ok.kh dks cquus esa@dadj ds pquus esa

dksbZ mRd"kZ ugha@dksbZ ugha ghurkA**

(4) ^^t; gks mldh

ftlus eq>dks nks iSj fn;sA

viuksa ls c<+ dj

ftlus eq>dks xSj fn;s]
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eSa vkt ?kwerk ?kkVh esa

fdrus mrkj] fdrus p<+ko

gj eafty ds vius iM+ko**

4. (v) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [8]

(1) ^Bsl* dgkuh dk fljpuA

(2) ^ijnk* dgkuh esa fpf=r leL;kA

(3) ^fnYyh esa ,d ekSr* dgkuh esa cnyrh laosnukA

(vk) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [8]

(1) ^rktegy dh Nk;k esa* dfork dk izfrikn~;A

(2) ^gesa u cka/kks izkphjksa esa* dfork dk HkkokFkZA

(3) ^lUukVk* dfork dh jkuhA

5. (v) fuEufyf[kr esa ls foKkiu vFkok O;kolkf;d i= dk izk:i rS;kj

dhft, % [8]

cktkj esa vk;h gqbZ ubZ ^eksVj lkbfdy* dk vkd"kZd foKkiu uewuk rS;kj

dhft,A

vFkok

Jh jes'k 'kgk] laxe uxj] ukfld] ek- O;oLFkkid] xhrk lkcqu daiuh] xkaËkh

uxj] eqacbZ&12 ds uke ,tsUlh ek°xus gsrq O;kolkf;d i= fy[krk gSA
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(vk) fuEufyf[kr esa ls fdUgha pkj okD;ksa dks ldkj.k 'kqº djds fQj ls

fyf[k, % [8]

(1) izfrKk xkus dh dljr dj jgh gSA

(2) xkxhZ vkSj eS=s;h foºku efgyk,° FkhA

(3) jkf/kdk dk vkokt e/kqj gSA

(4) mlus [kqn vkRegR;k dj yhA

(5) jkts'k us eq>s lkS #i;s dh uksV nhA

(6) vejus jes'k dh fiVkbZ dhA
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[4101]-218

iz;kstuewyd fganh

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr iz'uksa esa ls fdUgha vkB ds laf{kIr mŸkj fyf[k, % [16]

(1) jpuk ds vk/kkj ij okD; ds nks izdkj fyf[k,A

(2) laoknnkrk ds nks xq.k crkb,A

(3) foKkiu ds nks Qk;ns crkb,A

(4) iz;kstuewyd fganh dh ladYiuk crkb,A

(5) ek/;e ds vk/kkj ij foKkiu ds nks izdkj crkb,A

(6) fjiksrkZt ys[ku dh fo'ks"krk,° crkb,A

(7) cSafdax i=kpkj ds nks izdkj crkb,A

(8) 'kCn&;qXe fdls dgrs gSa \

(9) tulapkj ek/;e ds Qk;ns crkb,A

(10) iz;kstuewyd fganh dh nks 'kSfy;k° fyf[k,A
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2. (v) fuEufyf[kr 'kCn&;qXeksa esa ls fdUgha pkj ds vFkZ crkdj okD; esa iz;ksx

dhft, % [8]

(1) v'o&v'e

(2) fdyk&dhyk

(3) vk°xu&vaxuk

(4) lqj&lwj

(5) dqy&dwy

(6) fnu&nhuA

(vk) fuEufyf[kr esa ls fdlh ,d ?kVuk@izlax dh laoknkRed vfHkO;fDr

fyf[k, % [8]

(1) fdlh lqUnj LFky dk fe= ds lkeus o.kZuA

(2) vius iqjkus lgikBh ls eqykdkrA

3. (v) fuEufyf[kr esa ls fdlh ,d ij vkdk'kok.kh ds fy, foKkiu dk uewuk

rS;kj dhft, % [8]

(1) cktkj esa vk;k u;k LdwVj

(2) [kk|&rsy dk foKkiuA

(vk) fuEufyf[kr esa ls fdlh ,d ij nwjn'kZu ds fy, foKkiu dk uewuk rS;kj

dhft, % [8]

(1) ?kjsyw oLrqvksa dh lsy

(2) lksyj dqdjA
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4. fuEufyf[kr esa ls fdUgha pkj y?kwŸkjh; iz'uksa ds mŸkj fyf[k, % [16]

(1) baVjusV dk egRo crkb,A

(2) iz;kstuewyd fganh rFkk lkekU; (lkfgfR;d) fganh dk ifjp; nhft,A

(3) lk{kkRdkj@HksaVokrkZ dk Lo:i fo'kn dhft,A

(4) cSafdax i=kpkj dk egRo crkb,A

5. fVIif.k;k° fyf[k, (5 esa ls dksbZ 4) % [16]

(1) foKkiu vkSj fganh

(2) dk;kZy;hu fganh

(3) foKkiu ds rRo

(4) laoknnkrk dh dk;Z&iºfr

(5) iz;kstuewyd fganh dh mi;ksfxrkA



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4101]-219

S.Y. B.A. EXAMINATION, 2012

HINDI (fganh)

Special Paper I

(fo'ks"k isij I)

(dkO;'kkL=)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh izðu vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSa A

1- fuEufyf[kr esa ls fdUgha nl iz'uksa ds mŸkj la{ksi esa fyf[k, % [20]

(1) vkpk;Z iafMrjkt txUukFk }kjk izfrikfnr dkO; dh ifjHkk"kk fyf[k, A

(2) lqfe=kuanu iar }kjk nh xbZ dkO; dh ifjHkk"kk fyf[k, A

(3) dkO; ds rhu dkO;&dkj.k crkb, A

(4) izsepan }kjk nh xbZ dgkuh dh ifjHkk"kk fyf[k, A

(5) 'kCn&'kfDr fdls dgrs gSa \

(6) xhfrdkO; ds nks rRo fyf[k, A

(7) ukVd vkSj ,dkadh esa D;k varj gS \

(8) thouh dh ifjHkk"kk fyf[k, A

(9) vkpk;Z Hkjreqfu }kjk izfrikfnr jllw= fyf[k, A

(10) fuca/k dh nks fo'ks"krk,° fyf[k, A

(11) vkykspuk ds nks i;kZ;h uke fyf[k, A

(12) eqDrd dkO; dh ifjHkk"kk fyf[k, A

(13) ekf=d Nan fdls dgrs gSa \
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2- fuEufyf[kr esa ls fdUgha nks Nanksa ds y{k.k crkdj lksnkgj.k Li"V dhft, % [10]

(1) jksyk

(2) nksgk

(3) dfoŸk

(4) eankÿkark A

3- fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj fyf[k, % [20]

(1) ^dyk thou ds fy,* ik'pkR; dkO;&iz;kstu dks fo'kn dhft, A

(2) dkO; esa dYiuk rRo ds egRo dks fo'kn dhft, A

(3) laLej.k dk Lo:i la{ksi esa Li"V dhft, A

(4) jsfM;ks ukVd ds Lo:i dks fo'kn dhft, A

(5) ukVd ds ns'kdky&okrkoj.k ij izdk'k Mkfy, A

(6) gkL; jl dk lksnkgj.k ifjp; nhft, A

4- fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj foLrkj ls fyf[k, % [30]

(1) ^lkfgR;* dh ifjHkk"kk nsrs gq, ^lkfgR;* ds Lo:i ij izdk'k Mkfy, A

(2) egkdkO; vkSj [kaMdkO; ds varj dks le>kb, A

(3) ukVd ds Hkkjrh; rŸoksa dks fo'kn dhft, A

(4) vkykspuk dk Lo:i Li"V djrs gq, vkykspd ds xq.kk s a dks fo'kn

dhft, A

(5) miU;kl dh ifjHkk"kk nsrs gq, miU;kl ds rŸoksa dks Li"V dhft, A



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4101]-220

S.Y. B.A. EXAMINATION, 2012

HINDI (fganh)

Special Paper II

(ukVd] miU;kl vkSj e/;;qxhu fganh dkO;)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~; iqLrdsa :— (i) ^cdjh*µlosZ'oj n;ky lDlsuk

(ii) ^nkSM+*µeerk dkfy;k

(iii) ^dkO;daqt*µ^e/;;qxhu fganh dkO;*

lEik-µMkW- ts- vkj- cksjls

lEik-µMkW- enpk 'kekZ

lwpuk :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks vad iz'u ds iw.kk±d gSaA

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

(i) ^nkSM+* miU;kl ds mn~ns'; dks Li"V djrs gq, 'kh"kZd dh lkFkZdrk fo'kn

dhft,A

(ii) ^nkSM+* miU;kl ds vk/kkj ij VwVrs gq, ikfjokfjd laca/kksa ij izdk'k Mkfy,A

P.T.O.
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2. fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

dchj dh lkekftd mikns;rk ij izdk'k Mkfy,A

vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(i) ^in~ekor* esa izse&HkkoA

(ii) ^Hkzejxhr* dh xksfidk,°A

(iii) ^ehjk* dh HkfDr&HkkoukA

(iv) ^fcgkjh* dh ukf;dkA

3. (v) fuEufyf[kr vorj.kksa esa ls fdlh ,d dh llanHkZ O;k[;k dhft, % [8]

(i) ^^foKkiu dh nqfu;k [kpZ vkSj fcÿh dh nqfu;k gSA ge liuksa ds

lkSnkxj gSa] ftls pkfg, cktkj tk,] liuksa vkSj mEehnksa ls Hkjh VÓwc

[kjhn ysA**

(ii) ^^esjs gj dke esa vki D;k ,fFkDl] eksjSfyVh tSls Hkkjh&Hkjde iRFkj ekjrs

jgrs gSaA eSa ftl nqfu;k esa gw° ogk° ,fFkDl ugha] izksQs'kuy ,fFkDl dh

t:jr gSA**

(vk) fuEufyf[kr vorj.k dh llanHkZ O;k[;k dhft, % [8]

^^Egk° fxj/kj vxk° ukP;k jhA

.kkp .kkp Egk° jfld fj>kok°] izhr iqjkruk tk°P;k jhA

L;ke izhr jh ck°/k ?kq°?kj;k eksg.k Egkjks lk°P;k° jhA

yksd ykt dqyjk ejtknk txek° .ks .kk jk[;k° jhA

izhre iyN.k .kk fcljkok°] ehjk gfj lax jkP;k° jh˚**

vFkok

^^vax&vax ux txer] nhifl[kk lh nsgA

fn;k c<k,° gw° jgS] cMkS mtkjkS xsgA**
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4. fuEufyf[kr iz'u dk mŸkj foLrkjiwoZd fyf[k, % [16]

ukVd ds rŸoksa ds vk/kkj ij ^cdjh* ukVd dh leh{kk dhft,A

vFkok

fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, %

(i) ^cdjh* ukVd esa foifr dk pfj=&fp=.kA

(ii) ^cdjh* ukVd dh Hkk"kk&'kSyhA

(iii) ^cdjh* ukVd dh izrhdkRedrkA

5. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(i) ^nkSM+* miU;kl dk e/;e oxZA

(ii) ^nkSM+* miU;kl esa ubZ ih<+h dh laosnughurkA

(iii) ^iou* dk pfj=&fp=.kA
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SANSKRIT (G-II)

(Raghuvamsha—Canto V and VI, Bhagavadgita Chapter III to VI)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMhy vad laiw.kZ xq.k n'kZforkr-

1. (v) Translate into English or Marathi any two of the following

passages : [8]

[kk«h«iSdh dks.kR;kgh nksu i| mrkÚ;kaps baxzthr fdaok ejkBhr Hkk"kkarj

djk %

(i) vusu psfnPNfl x`gÓek.ka ikf.ka ojs.;su dq# izos'ksA

izklknokrk;ulafJrkuka us=ksRloa iq"iiqjk≥~xukuke~˚

(ii) rfLeUufHk|ksfrrcU/kqin~es izrkila'kksf"kr'k=qi≥~dsA

[kOoU/k lk uksŸkelkSdqek;kZ dqeqn~orh Hkkuqerho Hkkoe~˚

P.T.O.
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(iii) l ueZnkjks/kfl lhdkjknSZeZ#n~feHkjkufrZruDrekysA

fuos'k;kekl foy≥~f?kRok DykUra jtks/kwljdsrq lSU;e~˚

(c) Explain with reference to the context any two of the following : [8]

[kk«h«iSdh dks.kR;kgh nksgksaps lanHkkZlfgr Li"Vhdj.k djk %

(i) LQqjr~ izHkke.Mye/;ofrZ dkUra oiqOiksZepja izisnsA

(ii) jktUorhekgqjusu Hkwfee~A

(iii) 'kjn~?kua uknZfr pkrdks∑fiA

2. Write an essay type answer to any one of the following : [16]

[kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj f«gk %

(i) Critically appreciate the sixth canto of j?kqoa'k-

j?kqoa'kkP;k lgkO;k lxkZps foospd jlxzg.k djk-

(ii) State the characteristics of egkdkO; and justify ^j?kqoa'k* as a

egkdkO;-

egkdkO;kph y{k.ks lkaxwu ^j?kqoa'k* gs egkdkO; dls vkgs] rs Li"V djk-

3. Explain into English or Marathi any two of the following : [16]

[kk«h«iSdh dks.kR;kgh nksu ðyksdkaps baxzthr fdaok ejkBhr Li"Vhdj.k djk %

(i) vFkok ;ksfxukeso dqys Hkofr /kherke~A

,rfn~/k nqyZHkrja yksds tUe ;nhn`'ke~˚
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(ii) ;s fg laLi'kZtk% Hkksxk% nq%[k;ksu; ,o rsA

vk|UroUr% dkSUrs; u rs"kq jers cq/k%˚

(iii) ;L; losZ lekjEHkk% dkeladYioftZrk%A

KkukfXunX/kdekZ.ka rekgq% if.Mra cq/kk%˚

4. Write an essay type answer to any one of the following : [16]

[kkyhyiSdh dks.kR;kgh ,dk iz'ukps lfoLrj mŸkj fygk %

(i) Summarise the fifth chapter of Hkxon~xhrk-

Hkxon~xhrsP;k ikpO;k v/;k;kpk lkjka'k fygk-

(ii) Discuss the topics depicted in the fourth chapter of Hkxon~xhrk-

Hkxon~xhrsP;k pkSF;k v/;k;ke/;s of.kZysY;k fo"k;kaph lfoLrj ppkZ djk-

5. Write a short note on any one from Sections A and B each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh ,dkoj laf{kIr Vhi fygk %

Section A

(foHkkx ^v*)

(i) Character sketch of Sunanda. [8]

lquansps O;fDrfp=.k-

(ii) The King Anga.

v≥~xjktk-
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Section B

(foHkkx ^c*)

(i) Yajnachakra. [8]

;Kpÿ-

(ii) Divine birth and duty.

fnO; tUe vkf.k deZ-
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1. (A) Explain into English or Marathi any two of the following :  [8]

iq<h«iSdh dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr Li"Vhdj.k djk %

(i) uojl#fpjka fufeZfrekn/krh Hkkjrh dostZ;frA

(ii) rnnks"kkS 'kCnkFkkSZ lxq.kkouyaœrh iqu% DokfiA

(iii) dkO;Kf'k{k;kH;kl bfr gsrqLrnqn~HkosA

(B) Explain with Sanskrit definition and Sanskrit illustration any

two of the following Figures of Speech : [8]

laLœre/khy y{k.k vkf.k mnkgj.k lkaxwu iq<hyiSdh dks.kR;kgh nksu vyadkjkaps

Li"Vhdj.k djk %

(i) vuUo;

(ii) jluksiek

(iii) HkzkfUreku~

(iv) n`"VkUr

P.T.O.
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2. Explain in detail purposes of poetry as described by Mammata.  [16]

eEeVkus lkafxrysyh dkO;iz;kstus lfoLrj Li"V djk-

Or

(fdaok)

What is Vyanjana ? Explain Arthivyanjana.

O;atuk Eg.kts dk; \ vkFkhZO;atuk Li"V djk-

3. (A) Explain with reference to the context any two of the

following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps lanHkkZlg Li"Vhdj.k djk %

(i) iznhi% loZfo|kukeqik;% loZdeZ.kke~A

(ii) oS'kL;k/;;ua ;tua nkua œf"kik'kqikY;s of.kT;k pA

(iii) viz.khrLrq ekRL;U;k;eqn~Hkko;frA

(B) Explain with Sanskrit definition and Sanskrit illustration any

two of the following metres : [8]

laLœre/khy y{k.k vkf.k mnkgj.k lkaxwu iq<hyiSdh dks.krhgh nksu o`Rrs Li"V

djk %

(i) xhfr%

(ii) olUrfrydk

(iii) i`Foh

(iv) 'kknwZyfoÿhfMr-
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4. Explain the topics discussed by Kautilya any one of the following : [16]

dkSfVY;kus pfpZysY;k dks.kR;kgh ,dk fo"k;koj ppkZ djk %

(i) jktiq=j{k.ke~A

(ii) fo|kleqn~ns'k% µr= =;hLFkkiukA

5. Write a critical paragraph each on any one from Section A and B :

iq<hyiSdh ^v* vkf.k ^c* foHkkxkrwu izR;sdh dks.kR;kgh ,dkoj foospd ifjPNsn

fygk %

Section A

(^v* foHkkx)

(i) lapkjh xqIrpj

(ii) jkT;kph lkr vaxs-

The seven parts of state. [8]

Section B

(^c* foHkkx)

(i) y{k.kk

(ii) dfoph l`"Vh-

The world of poet. [8]
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(i) loZ iz'u vfuok;Z vkgsr-

(ii) mtohdMh« vad laiw.kZ xq.k nðkZforkr-

1. (A) Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]

[kkyhyiSdh dks.kR;kgh nksu eU=kaps vko';d Vhislg ejkBh fdaok baxzthr vuqokn

fygk %

(i) ek uks o/kk; gRuos ftghˇkuL; jhj/k% A

ek ‚.kkuL; eU;os AA

(ii) iz ioZrkukeq'krh miLFkkn‹os'o fof"krs gklekus A

xkoso 'kqHkz ekrjk fjgk.ks foikV~NqrqÊh i;lk vosrs AA

(iii) ;r~ itZU; dfuÿnr~ Lru;u~ gafl nq"œr% A

izrhna fo‹o eksnr ;r~ fda p i`fFkO;kef/k AA
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(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Describe the deity Agni in the Rgveda.

ΩXosnkrhy vfXunsorsps o.kZu djk-

(ii) Write an essay on Purush hymn of the Rgveda.

ΩXosnkrhy iq#"klwDrkoj fuca/k fygk-

2. (A) Translate into English or Marathi any two of the following

Mantras with necessary notes : [6]

[kkyhyiSdh dks.kR;kgh nksu eU=kaps vko';d Vhislg ejkBh fdaok baxzthr vuqokn

fygk %

(i) ,eka dqekjLr#.k vk oRlks txrk lg A

,eka ifjÚqr% dqEHk vk n/u% dyq'kSjxq% AA

(ii) l‚n;a lkaeuL;efo}s"ka œ.kksfe o% A

vU;ks vY;efHk g;Zr oRla tkrfeokgU;k AA

(iii) d.kkZ 'okfor~ rnczohn fxjsjopjfUrdk A

;k% dk‹psek% [kfuf=ekLrklkejlrea fo"ke~ AA

(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Write an essay on ‘jkK% laoj.k hymn’ of the Atharvaveda.

vFkoZosnkrhy jkK% laoj.k lwDrkoj fuca/k fygk-

(ii) vFkoZosnkps vUrxZr Lo:i-
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3. (A) Explain with reference to the context any one of the

following : [6]

[kkyhyiSdh dks.kR;kgh ,dkps lanHkkZlg Li"Vhdj.k fygk %

(i) vf/kifrjso lekukuka Hkofr A

(ii) rfgZ ok vfruk"V™ks HkforkfLe bfr A

(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Critically appreciate the lesson of ^nsokukef/kifr%*.

nsokukef/kifr% ;k ikBkps fpfdRld o.kZu djk-

(ii) Explain the lesson of ^;wifuekZ.ke~*.

^;wifuekZ.ke~* ;k ikBkps o.kZu djk-

4. (A) Explain with reference to the context any one of the

following : [6]

[kkyhyiSdh dks.kR;kgh ,dkps lanHkkZlg Li"Vhdj.k djk %

(i) ek x`/k% dL;fLoºue~ A

(ii) vUua u fuU|kr~ A

(B) Write an essay type answer to any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkps lfoLrj mŸkj fygk %

(i) Explain the ^;eufpdsrlks% laokn%*.

^;eufpdsrlks% laokn%* gk ikB Li"V djk-

(ii) Describe Yadnyavalkya’s preaching to Maitreyi.

;kKoYD;kus eS=s;hyk dsysyk mins'k Li"V djk-
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5. (A) Write a critical note on any one of the following : [6]

[kkyhyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(i) Structure of Rgveda

ΩXosnkph jpuk-

(ii) Eulogy of river by Viswamitra.

fo‹okfe=kauh dsysyh u|kaph Lrqrh-

(B) Write critical note on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) czk„.k xzaFkkaps Lo:i-

(ii) ,srjs; czk„.k-

(iii) vk#.khpk ‹osrdsrwyk mins'k-

Aruni’s preaching to Svetketu.
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1. Translate into English or Marathi any two from the following :  [8]

iq<h«iSdh nksgksaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(i) rrks e;k ek;k Hkf.k;k vfRFk vEeksA vEga dksbZ o;alvks v..kks bZl∑RFk&lRFk&dql«ks \

rrks rh, dfg;a&vfRFk dkslach, fimLl rs ijefeŸkks ^n<Iigkfj* fŸk uke ,Dd«sglkf«vks

;] rega ,Dda tk.kkfeA rrks e;k ek;k Hkf.krk&vEeksA xPNkfe dkslafc n<IigkfjLl

jfg;Ll ik;ew«a bZl∑RFkd«kvks flfD[k≈.kkxPNkfeA rrks eg;k foeÌs.ka vCHk.kq..kkvksA

rrks ga xrks ifoÎks ; dkslafcA rRFk ; e;k n<Iigkjh ^bZl∑RFk&lRFk jgpfj;

flD[kkdql«ks vk;fjm*fŸk fo.km.k,.k moxarw.k i.kfevksA

(ii) vEgs fo nsom«a mox;kA Hkf.k;k ; es lkenŸkk&ek chgsfl] vPN eqgqŸka tko

elk.kkvks vfXax vk.ksfeA rrks ga vfXax ?ksŸkw.k vkxrks] isPNkfe ; rfEe nsodq«s

P.T.O.
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mTtksoaA iqfPN;k ; es lkenŸkkµfdesl mTtksoks \ fŸkA rrks rh, «fovaµgRFkx;Ll

rs vfXxLl nsom«s mTtksvks ladrks nhlbA rrks e;k «fovaµvfl«Íh rko fx.glq

tko mTtksoa djsfe frA xfg;k ; rh, vfl«ÍhA rrks vgefo vfXax mTtk«sm

i;ŸkksA vXxvks ; es vfl«Íh ifM;kA llaHkrs.k ; iqfPN;kµfdes;a \ fŸkA

rrks rh, «fo;a&laHkeks es tkrks] ts.k es vfl«Íh gRFkkvks HkÎ fŸkA

(iii) rh, Hkf.k;aµ,l vfXxa ?ksŸkw.k ,fgfr] ee ; gRFks vfl«fÎa nkfgb] rrks vga

rLl vfXxa tkf«arLl lhla fNnkfe fŸkA rvks vEg Hkkm.kk vCHkqox;aA vkxvks

; lks vfXxa ?ksrw.kA Hk.kb ;µfda nsom«s mTtksd \ fŸkA rrks rh, «fo;aµrqg

gRFkx;Ll vfXxLl ,l mTtksm fŸkA rrks rs.k «fo;kµ,;a rko vfl«Îh fx.glq

fŸk] tko vfXxa tk«sfe fŸkA xfg;k ; rk, vfl«ÎhA lks ; vfXxa tk«sma i;ŸkksA

lk ; vfl«fÎa dMwf<≈.k vkgaraq i;rkA rrks vEg Hkkm.kk fpfr;aµ^vgks !!!

lkgla efg«k.ka fŸkA

2. Explain with reference to the context any two of the following :  [8]

iq<h«iSdh dks.kR;kgh nksgksaps lalnHkkZlg Li"Vhdj.k djk %

(i) fda bg fol, vkslgh ufRFk osTtk ok ufRFk \ fŸkA

(ii) rqCHks iq.k ,;a v.k&ik.ka ek Hkqatsg tb lq.kgA

(iii) vgks !!! lkgla efg«k.kaA

3. How did Agadadatta conquer the theif of Kosambi ? [16]

vxMnŸkkus dkslach uxjkrh« pksjkoj dlk fot; feˇfo«k \
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Or

(vFkok)

Critically appreciate the ^vxMŸkeqf.kvŸkdgk* as a /keZdFkk-

^vxMnŸkeqf.kvŸkdgkps ,d /keZdFkk Eg.kwu foospd jlxzg.k djk-

4. Write a critical paragraph on any one of the following : [8]

iq<h«iSdh dks.kR;kgh ,dk fo"k;koj foospd ifjPNsn f«gk %

(i) vk.kandgk

(ii) lqHkkf"krs in the vxMnŸkeqf.kvŸkdgk-

5. Translate any two of the following stanzas into English or Marathi : [8]

iq<h«iSdh dks.kR;kgh nksu ð«ksdkaps baxzthr fdaok ejkBhr Hkk"kakrj djk %

(i) ra ePNjs.k djdf«;fHkaHkeo«ksbma b;jdqejkA

mogkls.k i;aiafr lsf.k;a fHkHklkjks* fŸk˚

ra nV~Bw.k ufjans.k fpfr;a lsf.k,.k lkgq d;aA

i<efe.ka jTtaxa laxfg;k ts.k t;<Ddk˚

(ii) veqf.k;dq«Ddek.ka vifjfD[k;lh«u;lgkok.kaA

rk;∑Egk.ka dUua fo;jarks eq.kfl ra pso˚

rks Hk.kb HkÌlsV~Bh dqekj rqg «D[k.kkf.k vD[kafrA

iqgbZiflº mŸkedq«Ddea [karoalLl˚
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(iii) vHk;dqekjks fx.gb lkox/kEea nqok«lfoga fiA

rks i.kfema ftf.kan lOos fo x;k lBk.kslq˚

,Ÿkks fo gq v.kqofjla jksgb jksls.k jk;fxgu;jaA

fu;c«xfRo;fpŸkks lqi;aMks paM iTtksvks̊

6. Explain with reference to the context any two of the following :  [8]

iq<h«iSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(i) ^isPN vga rk,.k fo tsV~Bks fo tgk ijkHkwvksA

(ii) rqg t.kvks fo u uTtb fda d«gfl ra e, lfºaA

(iii) /kEePN«s.k Nf«vks ikok, bek, lks Hk.kbA

7. What was the solemn declaration of vHk;dqekj and how did he fulfil

it ? [16]

vHk;dqekjkph izfrKk dks.krh gksrh o rh R;kus dðkh iw.kZ ds«h \

Or

(vFkok)

Describe the society reflected in the vHk;D[kk.k-

^vHk;D[kk.k* e/;s izfrfcafcr >k«sY;k lektkps o.kZu djk-

8. Write critical paragraphs on any one of the following : [8]

iq<h«iSdh dks.kR;kgh ,dkoj foospd ifjPNsn f«gk %

(i) The Snake-episode.

liZizlax-

(ii) The marriage and consecration of Jsf.kd-

Jsf.kdkpk fookg o jkT;kfHk"ksd-













Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-230

S.Y. B.A. EXAMINATION, 2012

ECONOMICS

General Paper II (G-2)

(Banking and Co-operation in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the meaning of the word ‘Bank’.

(ii) Explain the principles of Banking.

(iii) Explain the types of Cheque.

(iv) Explain the principles of Co-operation.

2. Write notes in 100 words each (any four) : [20]

(i) Demand Draft (DD).

P.T.O.
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(ii) Functions of State Co-operative Banks.

(iii) Types of Securities.

(iv) State Trading Co-operation.

(v) Explain the objectives of Monetary Policy.

(vi) Explain the consumers co-operatives problem and measures.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Discuss the achievements and failures of Nationalised Banks

in India.

(ii) Explain the importance and nature of Co-operation.

(iii) Explain the functions of Reserve Bank of India.

(iv) Explain the problems of Co-operative Agricultural Marketing.

(v) State the objectives and functions of NABARD.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the process of multiple credit creation of Commercial

Banks and state the limitations.

(ii) Explain the drawback and measures of Co-operative Sugar Industry

in Maharashtra.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœrh dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ^c°d* ;k ðkCnkpk vFkZ Li"V djk-

(ii) c°fdaxph ew«rRos Li"V djk-

(iii) ^psd* ps izdkj Li"V djk-

(iv) lgdkjkph ew«rRos Li"V djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ekx.kh /kukd"kZ

(ii) jkT; lgdkjh c°dsph dk;sZ

(iii) rkj.kkps izdkj

(iv) jkT; O;kikj egkeaMˇ

(v) p«ufo"k;d /kksj.kkph oSfðk"VÓs Li"V djk-

(vi) xzkgd lgdkjh laLFkkaP;k leL;k vkf.k mik; Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) Hkkjrkrh« jk"V™h;hœr c°dkauk vk«s«s ;ðk vkf.k vi;ðk ppkZ djk-

(ii) lgdkjkps egRo vkf.k Lo:i Li"V djk-

(iii) Hkkjrh; fj>oZ c°dsph dk;sZ Li"V djk-

(iv) lgdkjh œ"kh&foi.kukP;k leL;k Li"V djk-

(v) ^ukckMZ*ph mn~nh"VÓs vkf.k dk;sZ lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðukaph 500 ðkCnkar mŸkj f«gk % [20]

(i) O;kikjh c°dkaph cgqfo/k irfufeZrhph izfÿ;k Li"V djk vkf.k e;kZnk

lkaxk-

(ii) egkjk"V™krh« lgdkjh lk[kj mnÓksxkP;k leL;k vkf.k mik;;kstuk Li"V

djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-231

S.Y. B.A. EXAMINATION, 2012

ECONOMICS

Special Paper I

(Micro-economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the basic economic problems.

(ii) Explain the production possibility curve.

(iii) State the characteristics of duopoly.

(iv) Explain the Risk and Uncertainty Theory of Profit.

2. Write notes in 100 words each (any four) : [20]

(i) Law of Demand

(ii) Average and Marginal Cost

(iii) Characteristics of Monopolistic competition

(iv) Pigouvian Welfare Economics

(v) Innovation theory of Profit

(vi) Average and Marginal Revenue.
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3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain the limitations of Micro-Economics.

(ii) Explain the short-run equilibrium of firm under monopoly.

(iii) Explain the law of return to scale.

(iv) Explain the Keynes liquidity preference theory of interest.

(v) Explain the characteristics of perfect competition.

4. Answer any one of the following questions in 500 words : [20]

(i) What is Elasticity of Demand ? Explain the types of Elasticity

of Demand.

(ii) Explain the Marginal Productivity theory of distribution.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhy iz'ukaph izR;sdh 50 'kCnkar mŸkjs fygk (dks.krsgh nksu) % [10]

(i) ewyHkwr vkfFkZd leL;k lkaxk-

(ii) mRiknu 'kD;rk oÿ Li"V djk-

(iii) f}foÿsrkf/kdkj Li/ksZph oSf'k"Vs lkaxk-

(iv) u∂;kpk /kksdk o vfuf'prrk flºkar Li"V djk-
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2- izR;sdh 100 'kCnkar fVik fygk (dks.krsgh pkj) % [20]

(i) ekx.khpk fu;e

(ii) ljkljh o lhekar [kpZ

(iii) eDrsnkjh;qDr Li/ksZph oSf'k"Vs

(iv) fixwps dY;k.kdkjh vFkZ'kkL=

(v) u∂;kpk uoksUes"k flºkar

(vi) ljkljh o lhekar izkIrh-

3- [kkyhy iz'ukaph izR;sdh 200&250 ðkCnkar mŸkjs fygk (dks.krsgh rhu) % [30]

(i) lq{ey{kh vFkZ'kkL=kP;k e;kZnk Li"V djk-

(ii) eDrsnkjh Li/ksZr O;olk;laLFkspk vYidkyhu lerksy Li"V djk-

(iii) mRiknu izek.k Qy flºkar Li"V djk-

(iv) dsUlpk O;ktkpk jks[krk ilarh flºkar Li"V djk-

(v) iw.kZ Li/ksZph oSf'k"Vs Li"V djk-

4- [kyhyiSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar fygk % [20]

(i) ekx.khph yofpdrk Eg.kts dk; \ ekx.khP;k yofpdrsps izdkj Li"V djk-

(ii) foHkktukpk flekar mRikndrk flºkar Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-232

S.Y. B.A. EXAMINATION, 2012

ECONOMICS

Special Paper II

(Macro-Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the limitations of Macro-economics.

(ii) State Autonomous Investment and Induced Investment.

(iii) Explain Demand-Pull Inflation.

(iv) State the characteristics of Trade Cycle.

2. Write notes in 100 words each (any four) : [20]

(i) Gross National Product and Net National Product.

P.T.O.
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(ii) Implications of Say’s Law.

(iii) RBI’s several money measures.

(iv) Causes of deflation.

(v) Average and Marginal Propensity to Consume.

(vi) Philips curve.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain the Cash Balance Approach.

(ii) Explain the Keynesian theory of Employment.

(iii) Explain the market, income and price policies in new policy

options.

(iv) Explain the objectives of Macro-economic policy.

(v) Explain the difference between micro and macro-economics.

4. Answer any one of the following question in 500 words : [20]

(i) What is Inflation ? Explain the causes and consequences of

Inflation.

(ii) What is Trade Cycle ? Explain the phases of Trade Cycle

and Anti-cyclical measures.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lexz«{kh vFkZðkkL=kph e;kZnk Li"V djk-

(ii) Lok;Ÿk xqaro.kwd o izsfjr xqaro.kwd lkaxk-

(iii) ekx.kh&rk.k fufeZr p«uok< Li"V djk-

(iv) O;kikjpÿkph oSfðk"Vs lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) LFkw« jk"V™h; mRiknu vkf.k fuOoˇ jk"V™h; mRiknu-

(ii) ^ls* P;k fu;ekps lwfprkFkZ-

(iii) fj>OgZ c°dsus ds«s«s iSðkkps foLr`r eksteki-

(iv) p«u?kVhph dkj.ks-

(v) ljkljh o lhekar miHkksx izo`Ÿkh-

(vi) fQf«Il oÿ-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) jks[k fðkY«d n`f"Vdksu Li"V djk-

(ii) dsUlpk jkstxkjfo"k;d flºkar Li"V djk-

(iii) uohu /kksj.kkRed i;kZ;krh« cktkjfo"k;d] mRiUu o fdaerfo"k;d /kksj.ks Li"V

djk-

(iv) lexz«{kh vkfFkZd /kksj.kkph mÌh"Vs Li"V djk-

(v) lq{e«{kh o lexz«{kh vFkZðkkL=krh« Qjd Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk 500 ðkCnkr mŸkj f«gk % [20]

(i) p«uok< Eg.kts dk; \ p«uok<hph dkj.ks o ifj.kke Li"V djk-

(ii) O;kikjpÿ Eg.kts dk; \ O;kikjpÿkP;k voLFkk Li"V d:u O;kikjpÿ fojksËkh

mik;;kstuk Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4101]-233

S.Y. B.A. EXAMINATION, 2012

POLITICS

[General Paper II]

(Constitutional and Political Process in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions (in 50 words each) : [10]

(1) Philosophy of the Preamble.

(2) 74th amendment of the Constitution.

(3) Judicial Review.

(4) Demand of Telugu State.

2. Answer any four questions (in 100 words each) : [20]

(1) Delimitation Commission for Constituencies.

(2) India’s New Industrial Policy.

(3) Mandal Commission.

P.T.O.
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(4) Explain the limits of constitutional amendment power of the

Parliament.

(5) Importance of 1989 Lok Sabha Election.

(6) Problems of women’s movement.

3. Answer any three questions (in 200 to 250 words each) : [30]

(1) Explain the Directive Principles of the State Policy.

(2) Explain the law-making procedure.

(3) Write an essay on the performance of peasants movement.

(4) Explain Right to freedom and Right to freedom of religion

in Indian Constitution.

(5) Explain the relation between Parliament and Judiciary.

4. Answer any one question in 500 words : [20]

(1) Explain the features of Indian Federal System.

(2) Write an essay on the performance of Congress Party.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) mÌsðkif=dsps rRoKku-
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(2) 74oh jkT;?kVuk nq#Lrh-

(3) U;k;k«;hu iqufoZ«ksdu-

(4) rs«xw Hkkf"kd jkT;kph ekx.kh-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkar f«gk % [20]

(1) ernkj la?k ifjlheu vk;ksx-

(2) Hkkjrkps uos vkSnÓksfxd /kksj.k-

(3) eaM« vk;ksx-

(4) lalnsP;k ?kVuk nq#Lrhfo"k;d vf/kdkjkP;k e;kZnk Li"V djk-

(5) 1989 P;k «ksd lHkk fuoM.kqdhps egRo-

(6) L=h pˇoˇhP;k leL;k-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) Hkkjrh; jkT;?kVusrh« jkT;kP;k /kksj.kkph ekxZnðkZd rRos Li"V djk-

(2) fof/kfu;e fufeZrhph izfÿ;k Li"V djk-

(3) ðksrdjh pˇoˇhP;k dkefxjhoj fuca/k f«gk-

(4) Hkkjrh; jkT;?kVusrh« Lokra´;kpk gDd vkf.k /kkfeZd Lokra´;kpk gDd Li"V

djk-

(5) laln vkf.k U;k;eaMˇ ;kaP;krh« laca/k Li"V djk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrh; la?kjkT; O;oLFksph oSfðk"VÓs Li"V djk-

(2) dk°xzsl i{kkP;k dkefxjhoj fuca/k f«gk-
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[4101]-233

(Political and Social Movement in India)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Sarvajanik Sabha.

(2) Narmada Bachao Andolan.

(3) Dalit Panthar.

(4) Renaissance Movement.

2. Attempt any four questions (in 100 words each) : [20]

(1) Sub-Regionalism in India.

(2) Problems of Peasants Movement in India.

(3) Problems of Project affected society.

(4) The causes for the rise of Hinduist Movement.

(5) Mahatma Phule’s view on religion.

(6) Lokmanya Tilak’s thought about ‘Swadeshi’.
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3. Attempt any three questions (in 200 to 250 words each) : [30]

(1) Describe J. Ranade’s views on Social Reforms.

(2) Explain the role of leftist parties in Workers Movement.

(3) Examine the ideology of Bahujan Movement.

(4) Evaluate the efforts for Women’s Empowerment.

(5) Discuss on Samyukta Maharashtra Movement.

4. Attempt any one question (in 500 words) : [20]

(1) Explain M. Gandhi’s contribution in Indian Freedom Movement.

(2) “Naxalite Movement is a threat of the unity and integrity of

India.” Discuss.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) lkoZtfud lHkk-

(2) ueZnk cpko vkanks«u-

(3) n«hr i°Fkj-

(4) izcks/ku pˇoˇ-
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2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(1) Hkkjrkrh« mi&izknsfðkdokn-

(2) Hkkjrkrh« ðksrdjh pˇoˇhP;k leL;k-

(3) izdYixzLrkaP;k leL;k-

(4) fganwRooknh pˇoˇhP;k mn;kph dkj.ks-

(5) egkRek Qq«s ;kapk /keZfo"k;d n`"Vhdks.k-

(6) «ksdekU; fVˇdkaps Lonsðkh fo"k;hps fopkj-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(1) U;k- jkuMs ;kaP;k lkekftd lq/kkj.kkfo"k;d n`"Vhdksukps o.kZu djk-

(2) dkexkj pˇoˇhrh« MkO;k i{kkaph Hkwfedk Li"V djk-

(3) cgqtukaP;k pˇoˇhph fpdhRlk djk-

(4) efg«k lc«hdj.kkrh« iz;Rukaps ijh{k.k djk-

(5) la;wDr egkjk"V™kP;k pˇoˇhoj ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrh; Lokra´; pˇoˇhrh« e- xka/khthaps ;ksxnku Li"V djk-

(2) ^^u{k«oknh pˇoˇheq š HkkjrkP;k ,drk o v[kaMrs«k /kksdk vkgs-** ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-234

S.Y. B.A. EXAMINATION, 2012

POLITICS

Special Paper I

S-1 : Western and Indian Political Thinkers

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(1) Aristotle’s views on classification of Constitutions.

(2) J. S. Mill’s views on Utilitarianism.

(3) Mahatma Phule’s views on Caste System.

(4) Justice Ranade’s views on Liberalism.

2. Attempt any four questions (in 100 words each) : [20]

(1) John Locke’s views on Natural Right.

(2) Karl Marx’s views on Class Struggle.

(3) Dr. Ambedkar’s views on Caste System.

(4) Mahatma Gandhi’s concept of Satya.

(5) Justice Ranade’s views on British Government.

(6) Aristotle’s views on Slavery.

P.T.O.
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3. Attempt any three questions (in 250 words each) : [30]

(1) Critically examine Karl Marx’s theory of Historical Materialism.

(2) State Mahatma Phule’s views on British Government.

(3) Explain the thought of Dr. B.R. Ambedkar on Social Democracy.

(4) Explain J.S. Mill’s views on Liberty.

(5) Explain Aristotle’s views on Revolution.

4. Attempt any one question (in 500 words) : [20]

(1) Explain John Locke’s theory of Social Contract.

(2) Explain Mahatma Gandhi’s thought about Satyagraha.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðu&if=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkr) % [10]

(1) vWfjLVkWV«ps jkT;?kVusps oxhZdj.kklaca/kh fopkj-

(2) ts- ,l- fe«pk mi;ksfxrkokn-

(3) egkRek Qq«s ;kaps tkrh O;oLFksckcrps fopkj-

(4) U;k- jkuMs ;kaps mnkjeroknklaca/kh fopkj-

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkr) % [20]

(1) tkWu «kWdps uSlxhZd gDdkckcr fopkj-

(2) dk«Z ekDlZps oxZla?k"kZfo"k;d fopkj-
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(3) MkW- vkacsMdjkaps tkrh O;oLFkkfo"k;d fopkj-

(4) egkRek xka/khph lR; ladYiuk-

(5) U;k- jkuMs ;kaps fczVhðk ðkkluklaca/kh fopkj-

(6) vWfjLVkWV«ps xq«kefxjhlaca/kh fopkj-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkr) % [30]

(1) dk«Z ekDlZP;k ,sfrgklhd HkkSfrdokn flºkarkps fVdkRed ijh{k.k djk-

(2) egkRek Qq«s ;kapk fczVhðk ðkklukckcr fopkj lkaxk-

(3) MkW- ch- vkj- vkacsMdjkaps lkekftd «ksdðkkgh ckcrps fopkj Li"V djk-

(4) ts- ,l- fe«ps Lokra´;fo"k;d fopkj Li"V djk-

(5) vWfjLVkWV«ps ÿkarhfo"k;d fopkj Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkr) % [20]

(1) tkWu «kWdpk lkekthd djkj flºkar Li"V djk-

(2) egkRek xka/khps lR;kxzgklaca/kh fopkj Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-235

S.Y. B.A. EXAMINATION, 2012

POLITICS

Special Paper II

(S-2 : Modern Political Analysis)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Nature of traditional political analysis.

(ii) Features of Behaviourism.

(iii) Aims and features of Political Survey Method.

(iv) Types of Political Culture.

2. Attempt any four questions (in 100 words each) : [20]

(i) Meaning and features of Political System.

(ii) Meaning and nature of Political Development.

(iii) Nature of Political Socialization.

(iv) Causes of Political Change.

(v) Meaning of Political Participation.

(vi) Nature of Political Culture.

P.T.O.
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3. Attempt any three questions (in 250 words each) : [30]

(i) Explain the meaning and types of Political Recruitment.

(ii) Explain the input-output functions of Political System.

(iii) Explain the types of Political Socialization.

(iv) Explain the meaning and types of Political Change.

(v) Explain the levels of Political Participation.

4. Attempt any one question (in 500 words) : [20]

(i) Explain the agencies of Political Socialization.

(ii) Explain the agencies of Public Opinion.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkr) % [10]

(i) ijaijkxr jktfd; foð«s"k.kkps Lo:i-

(ii) orZuoknkph oSfðk"Vs-

(iii) jktfd; losZ{k.k iºrhpk mÌsðk o oSfðk"Vs-

(iv) jktfd; laLœrhps izdkj-
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2. [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkr) % [20]

(i) jktfd; O;oLFkspk vFkZ o oSfðk"Vs f«gk-

(ii) jktfd; fodkl Eg.kts dk; \ R;kps Lo:i Li"V djk-

(iii) jktfd; lkekthdj.kkps Lo:i f«gk-

(iv) jktfd; cn«kph (ijhorZu) dkj.ks f«gk-

(v) jktfd; lgHkkx Eg.kts dk;-

(vi) jktfd; laLœrhps Lo:i f«gk-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkr) % [30]

(i) jktfd; Hkjrhpk vFkZ o izdkj Li"V djk-

(ii) jktfd; O;oLFksph vknku&iznku dk;Z Li"V lkaxk-

(iii) jktfd; lkekthdj.kkps izdkj lkaxk-

(iv) jktfd; cn« (ifjorZu) Eg.kts dk; rs lkaxwu izdkj Li"V djk-

(v) jktfd; lgHkkxkP;k ikrˇÓk (vkœrhca/k) Li"V djk-

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkr) % [20]

(i) jktfd; lkekthdj.kkph lk/kus Li"V djk-

(ii) «ksderkph lk/kus Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-236

S.Y. B.A. EXAMINATION, 2012

HISTORY

General Paper II

(Modern India, 1885-1992)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What do you know about the Ilbert Bill ?

(2) What is meant by ‘Two Nation Theory’ ?

(3) State the importance of ‘Panchsheel’.

(4) Explain the objectives of GATT.

2. Write short notes in 100 words each (any four) : [20]

(1) Economic Drain Theory.

(2) Four-fold Programme of Lokmanya Tilak.

(3) Khilaphat movement.

(4) Integration process of Hyderabad.

(5) Peasant movement.

(6) Indian Space Research Organization (ISRO).

P.T.O.



[4101]-236 2

3. Answer the following questions in 250 words each (any three) : [30]

(1) Examine the achievement of Abhinav Bharat Society as the

revolutionary movement.

(2) Give an account of Civil Disobedience Movement of 1930.

(3) Explain the consequences of partition in 1947.

(4) Assess the relation between India and China.

(5) Give an account of the workers movement after Indian

Independence.

4. Answer any one of the following questions in 500 words : [20]

(1) Give an account of the Non-co-operation Movement.

(2) Discuss the salient features of Indian Constitution.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) bZYcVZ fc«kfo"k;h vki.kkl dk; ekfgr vkgs \

(2) ^f}jk"V™okn flºkar* Eg.kts dk; \

(3) iapfðk«ps egRo lkaxk-

(4) xWVph mfÌ"Vs Li"V djk-
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2. izR;sdh 100 ðkCnkar laf{kIr fVik f«gk (dks.kR;kgh pkj) % [20]

(1) vkfFkZd fu%lkj.kkpk flºkar

(2) «ksdekU; fVˇdkaph prq%lw=h dk;Zÿe

(3) f[kˇkQr pˇoˇ

(4) gSÊkckn laLFkkukps fof«uhdj.k

(5) ðksrdjh pˇoˇ

(6) Hkkjrh; vodkðk laðkks/ku laLFkk (blzks)-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(1) ÿkarhdkjh pˇoˇhrh« vfHkuo Hkkjr lkslk;VhP;k dkefxjhps ijh{k.k djk-

(2) 1930 P;k lfou; dk;nsHkax pˇoˇhpk o`rkar |k-

(3) 1947 P;k Qkˇ.khps ijh.kke Li"V djk-

(4) Hkkjr o phu ;kaP;krh« laca/kkps ewY;ekiu djk-

(5) Hkkjrh; Lokra´;kuarjP;k dkexkj pˇoˇhpk o`rkar |k-

4. [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) vlgdkj pˇoˇhpk o`rkar |k-

(2) Hkkjrh; jkT;?kVusP;k Bˇd oSfðk"VÓkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-237

S.Y. B.A. EXAMINATION, 2012

HISTORY

Special Paper I

(Introduction to History)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]

(i) ‘History is unending dialogue between the present and the past.’

Explain the nature of History with this statement.

(ii) Explain the types of History writing advocated by V.K. Rajwade.

(iii) What is ‘Imperialist School’ of Historiography ?

(iv) Why did Herodotus call as a Father of History ?

2. Write short notes in 100 words each (any four) : [20]

(i) Misuse of History.

(ii) Differences between original and secondary sources.

P.T.O.
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(iii) Historical materialism.

(iv) Salient features of Subaltern school of historiography.

(v) Ranke’s ideology of historiography.

(vi) History writing of Toyanbee.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the historical significance of the documents preserved

in Bharat Itihas Sanshodhak Mandal, Pune.

(ii) What is criticism of the sources ? How does the credibility

of a Manuscript ascertain ?

(iii) Explain the co-relations between History and Economics.

(iv) State the salient features of Marxist School of historiography.

(v) Make an assessment of R.C. Mujumdar as a Indian

historian.

4. Answer any one of the following questions in 500 words : [20]

(i) Examine the contribution of T.S. Shejwalkar as a Maratha

historian.

(ii) Evaluate Romila Thaper’s contribution to Indian History

writing.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) %  [10]

(i) ^bfrgkl Eg.kts orZekudkˇ vkf.k Hkwrdkˇ ;kaP;krh« d/khgh u lai.kkjk laokn

gks;-* ;k fo/kkukP;k vk/kkjs bfrgklkps Lo:i foðkn djk-

(ii) fo- dk- jktokMs ;kaps bfrgkl «s[kufo"k;d izdkj Li"V djk-

(iii) ^lkezkT;oknh bfrgkl«s[ku izokg* Eg.kts dk; \

(iv) ^fgjksMksVl«k* bfrgklkps tud* vls dka Eg.krkr \

2. izR;sdh 100 ðkCnkr laf{kIr fVik f«gk (dks.krsgh pkj) % [20]

(i) bfrgklkps nq#i;ksx-

(ii) ewˇ o nq∏;e lk/kukarh« Qjd-

(iii) ,sfrgkfld HkkSfrdokn

(iv) oafprkaP;k bfrgkl «s[kuizokgkph Bˇd oSfðk"VÓs

(v) jk°dsph bfrgkl «s[ku fopkjiz.kk«h

(vi) VkW;Uchps bfrgkl «s[ku-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) Hkkjr bfrgkl laðkks/kd eaMˇ] iq.ks vfHk«s[kkxkjkrh« dkxni=kaps ,sfrgkfld egRo

foðkn djk-

(ii) ^lk/ku fpfdRlk* Eg.kts dk; \ gLrf«f[krkaph foðoluh;rk dðkh flº ds«h

tkrs \

(iii) bfrgkl o vFkZðkkL= ;kaP;krh« ijLij laca/k Li"V djk-

(iv) ekDlZoknh bfrgkl«s[ku izokgkph Bˇd oSfðk"VÓs uewn djk-

(v) Hkkjrh; bfrgkldkj ;k ukR;kus vkj-lh- eqtqenkjkaP;k dk;kZps eqY;kadu djk-

4. [kk«h«iSdh dks.kR;kgh ,d izðukpk mŸkj izR;sdh 500 ðkCnkr f«gk % [20]

(i) ejkBÓkaps bfrgkl Eg.kwu Vh-,l- 'kstoˇdjkaP;k dkefxjhps ijh{k.k djk-

(ii) jksfe«k Fkkij ;kaP;k Hkkjrh; bfrgkl «s[kukl «kHk«sY;k ;ksxnkukps ewY;ekiu

djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-238

S.Y. B.A. EXAMINATION, 2012

HISTORY

Special Paper II

[Ancient India (3000 B.C. to 1200 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What is Brahmane ?

(2) Explain the concept of ‘Purushartha’.

(3) What is ‘Chaitya’ and ‘Vihar’ ?

(4) Who were called as the ‘Alwar’ and ‘Nayanars’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Importance of Archaeological sources.

(2) Town planning of Harappan Period.

(3) Saptanga Theory.

(4) Social Life during the Maurya Period.

(5) Sangam Literature.

(6) Science in the age of Guptas.

P.T.O.



[4101]-238 2

3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the social life during the Post-Vedic Period.

(2) Explain the Buddhist Philosophy.

(3) Write the causes of decline of Maurya empire.

(4) Evaluate the achievements of Chalukyas in the history of South

India.

(5) Evaluate the achievement of Samrat Harshavardhana.

4. Answer any one the following question in 500 words : [20]

(1) Explain the social and economic life during the Harappan

Civilization.

(2) Why did Gupta period call as the Golden Age ?

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ^czk„.ks* Eg.kts dk; \

(2) ^iq#"kkFkZ* gh ladYiuk Li"V djk-

(3) ^pSR;* vkf.k ^fogkj* Eg.kts dk; \

(4) ^v«okj* vkf.k ^u;ukj* dks.kkl Eg.kr \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) iqjkrŸoh; lk/kukaps egŸo-
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(2) gjIikdk«hu uxjjpuk-

(3) lIrkax&flºkar-

(4) ekS;Zdk«hu lekt thou-

(5) laxe lkfgR;-

(6) xqIrdk«hu foKku-

3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) mŸkj oSfnd dkˇkrh« lkekftd thou Li"V djk-

(2) ckSº rRoKku Li"V djk-

(3) ekS;Z lkezkT;kP;k Úgklkph dkj.ks f«gk-

(4) nf{k.k HkkjrkP;k bfrgklkrh« pk«qD;kaP;k dkefxjhps ewY;ekiu djk-

(5) lezkV g"kZo/kZuP;k dkefxjhps ewY;ekiu djk-

4. [kk«h«iSdh dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) gjIik laLœrhdk«hu lkekftd vkf.k vkfFkZd thou Li"V djk-

(2) xqIr dkˇk«k lqo.kZ;qx vls dka EgV«s tkrs \
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[4101]-238

[History of U.S.A. (1914 to 2001 A.D.)]

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) State the objectives of League of Nations.

(2) Explain the Marshall Plan.

(3) Write about the Women’s right movement.

(4) Explain the ‘GATT Treaty’.

2. Write short notes in 100 words each (any four) : [20]

(1) Truman Doctrine.

(2) Dr. Martin Luther King.

(3) Concept of ‘Cold War’.

(4) U.S.A. and Japan relations.

(5) Open Trade Policy.

(6) Nature of Terrorism.

3. Answer the following questions in 250 words each (any three) : [30]

(1) Discuss the causes of the Great Depression of 1929.

(2) Explain the role of U.S.A. in the World War II.

(3) State the significance of the Civil Rights Movement.

(4) Explain the relations between U.S.A. and Vietnam.

(5) Examine the salient features of ‘Dunkel Proposal’.
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4. Answer any one of the following questions in 500 words : [20]

(1) Describe the programme of ‘New Deal’ of F.D. Roosevelt.

(2) Explain the causes for the rise of America as a world power

after Second World War.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) jk"V™la?kkps mÌh"Vs foðkn djk-

(2) ekðkZ« ;kstuk Li"V djk-

(3) efg«kaP;k gDdkaP;k pˇoˇhph ekfgrh f«gk-

(4) ^xWV djkj* Li"V djk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) V™qeu flºkar-

(2) MkW- ekfVZu Y;wFkj fdax-

(3) ðkhr;qºkph ladYiuk-

(4) vesfjdk vkf.k tkiku laca/k-

(5) eq‰ O;kikj /kksj.k-

(6) ngðkroknkps Lo:i-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) 1929P;k egkeanhP;k dkj.kkaph ppkZ djk-

(2) nqlÚ;k egk;qºkrh« vesfjdsph Hkwfedk Li"V djk-

(3) ukxjh gDd pˇoˇhps egRo Li"V djk-

(4) vesfjdk o Ogh,rukee/kh« laca/k foðkn djk-

(5) ^Mads« izLrkokP;k* Bˇd oSfðk"VÓkaps ifj{k.k djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) ,Q-th- #>osYVP;k ^U;w Mh«* dk;Zÿekps o.kZu djk-

(2) nqlÚ;k egk;qºkuarj tkxfrd egklŸkk Eg.kwu vesfjdsP;k mn;kph dkj.ks Li"V

djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4101]-239

S.Y. B.A. EXAMINATION, 2012

ANTHROPOLOGY

G-2 : Indian Tribes and Tribal Welfare

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Write the economic classification of Indian Tribes.

(ii) Write in brief the Religious life of Warlis.

(iii) State the nature of Primitive Religion.

(iv) What are the problmes of Tribals in Urban area ?

2. Write short notes on any four of the following in 100 words each : [20]

(i) Deforestation

(ii) I.T.D.P.

(iii) Report writing

P.T.O.

Seat

No.
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(iv) Youth Dormitories among Tribals

(v) Concept of Adivasi

(vi) Social life of Bhils.

3. Answer any three of the following questions in 250 words each : [30]

(i) Explain the role of magic among the tribes.

(ii) Discuss the various provisions for Tribal Welfare in the Constitution

of India.

(iii) Explain the fieldwork tradition in Anthropology.

(iv) Describe the various systems of classification of Indian Tribes.

(v) Explain the concept of Acculturation.

4. Answer any one of the following in 500 words each : [20]

(i) Explain the structure and functions of Youth Dormitories.

(ii) Explain the various approaches to tribal welfare.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(i) Hkkjrh; vkfnoklhaps vkfFkZd oxhZdj.k f«gk-

(ii) okj«haps /kkfeZd thou FkksMD;kr f«gk-

(iii) vkfne /kekZps Lo:i lkaxk-

(iv) ðkgjh Hkkxkrh« vkfnoklhaP;k leL;k dk; vkgsr \
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2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(i) tax«rksM

(ii) I.T.D.P.

(iii) vgok««s[ku

(iv) vkfnoklhae/kh« ;qokx`g

(v) vkfnoklh ,d ladYiuk

(vi) fHkY«kaps lkekftd thou

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(i) vkfnoklhae/kh« tknwph Hkqfedk Li"V djk-

(ii) Hkkjrh; ?kVusr vl«sY;k vkfnoklhaP;k fofo/k dY;k.kdkjh rjrqnhaph ppkZ

djk-

(iii) ekuoðkkL=krh« {ks= vH;klkph ijaijk Li"V djk-

(iv) Hkkjrh; vkfnoklhaP;k oxhZdj.kkP;k fofo/k iºrh lkaxk-

(v) lelaLœrhdj.kkph ladYiuk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;±r f«gk % [20]

(i) ;qokx`gkph jpuk o dk;sZ Li"V djk-

(ii) vkfnoklh fodklkps fofo/k n`"Vhdksu lkaxk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

[4101]-240

S.Y. B.A. EXAMINATION, 2012

GEOGRAPHY

(General Paper-II)

(Gg–210 : Geography of Human Resources)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Define Human Geography.

(2) State any two names in medieval period Geographer.

(3) State the stages evolution of Man.

(4) Define ‘Human Race’.

(5) Write the names of Pure Race.

(6) State the habitat location of PYGMY.

(7) Give the economic activities of ‘Bhill Tribe’.

(8) Give any four world principal language family.

(9) State the names of major religions in world.

P.T.O.

Seat

No.
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(10) Define ‘Migration’.

(11) Write the types of Rural Settlement.

(12) Define the linear pattern of settlement.

(13) Give the hypothesis of Malthus theory.

2. Answer in 50 words each (any two) : [10]

(1) Human Geography in Modern Period.

(2) Economic activities of BUSHMEN.

(3) Social life of ‘Gond’ tribe.

(4) Factors affecting on the location of Rural Settlement.

3. Answer in 150 words each (any two) : [20]

(1) Explain the physical traits of Human Race.

(2) Explain the human life of ESKIMO.

(3) Describe the characteristics of ‘Hindu Religion.’

(4) Explain the Malthus theory of population growth.

4. Answer in 300 words each (any two) : [30]

(1) Explain the nature and scope of Human Resources Geography.

(2) Explain the civilization characteristics of Tigris and Euphratis.

(3) Write the geographical account on Naga Tribe.

(4) Discuss the factors affecting on Migration.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1. izR;sdh lqekjs 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) ekuoh Hkwxks«kph O;k[;k-

(2) e/;;qxhu dkˇkrh« nksu Hkwxks«rKkaph ukos lkaxk-

(3) ekuoh mRÿkarhps VIis lkaxk-

(4) ^ekuoh oaðkk*ph O;k[;k-

(5) ðkqº oaðkkph ukos f«gk-

(6) fiXeh «ksdkaps fuoklLFkku lkaxk-

(7) ^fHkY« tekrh*P;k vkfFkZd fÿ;k nÓk-

(8) txkrh« dks.krhgh pkj izeq[k Hkk"kkdqˇs nÓk-

(9) txkrh« izeq[k /kek±ph ukos lkaxk-

(10) LFk«karjkph O;k[;k djk-

(11) xzkeh.k olkgrhaps izdkj f«gk-

(12) js"kkizk:i oLrhph O;k[;k djk-

(13) ekYFklP;k flºkarkph x`fgrrRos nÓk-
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2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vk/kqfud dkˇkrh« ekuoh Hkwxks«-

(2) cqðkesu «ksdkaP;k vkfFkZd fÿ;k-

(3) ^xksaM* tekrhps lkekftd thou-

(4) xzkeh.k oLrhLFkkukoj ifj.kke dj.kkjs ?kVd-

3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) ekuoh oaðkkps ðkkfjjhd ekinaM Li"V djk-

(2) ,fLdeks «ksdkaps lkekthd thou Li"V djk-

(3) ^fganw /keZ* oSfðk"VÓkaps o.kZu djk-

(4) ekYFklpk «ksdla[;k ok<hpk flºkar Li"V djk-

4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) ekuoh lk/ku laiŸkh Hkwxks«kps Lo:i vkf.k O;kIrh Li"V djk-

(2) rSxzhl vkf.k ;q›kfVl laLœrhph oSfðk"VÓs Li"V djk-

(3) ukxk tekrhoj HkkSxksf«d ekfgrh f«gk-

(4) LFk«karjkoj ifj.kke dj.kkÚ;k ?kVdkaph ppkZ djk-
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[4101]-240

(Gg–210 : Geography and Natural Hazards)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer in about 20 words each (any ten) : [20]

(1) Mention two approaches to study the Environmental Geography.

(2) State two examples of atmospheric hazards.

(3) Define ‘environmental stress’.

(4) What is disaster rehabilitation ?

(5) Give two Tsunami affected areas.

(6) Give two management policies of drought.

(7) What is Cyclone ?

(8) Give two causes of landslide.

(9) Mention two examples of earthquake in India.

(10) State two effects of deforestation.

(11) Write two causes of natural forest fire.

(12) Define optimum population.

(13) State two causes of flood.
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2. Answer in 50 words each (any two) : [10]

(1) Importance of Environmental Geography.

(2) Natural Hazards.

(3) Pre-Hazard management of Flood.

(4) Management of Forest Fire.

3. Answer in 150 words each (any two) : [20]

(1) Scope of Environmental Geography.

(2) “Manmade hazards are more intensive than natural hazards.”

Explain.

(3) Explain the causes and effects of wet drought.

(4) Explain the management of Tsunami.

4. Answer in 300 words each (any two) : [30]

(1) Explain effects and management of Earthquake.

(2) Classify hazards and explain manmade hazards with examples.

(3) Describe the causes, effects and management of population

explosion in India.

(4) What is disaster management ? Explain pre- and post-disaster

management.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh eqˇ baxzth izðuif=dk igkoh-

1. izR;sdh lqekjs 20 ðkCnki;±r mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) i;kZoj.kh; Hkwxks« vH;kliºrhrh« dks.krsgh nksu n`"Vhdks.k f«gk-

(2) okrkoj.kh; vkiŸkhph dks.krhgh nksu mnkgj.ks lkaxk-

(3) ^i;kZoj.kh; rk.k* O;k[;k f«gk-

(4) vkiŸkh iqujZpuk@iquoZlu Eg.kts dk; \

(5) dks.krhgh nksu Rlqukeh izo.k{ks=kph ukos f«gk-

(6) nq"dkˇ O;oLFkkiukrh« nksu /kksj.ks |k-

(7) pÿhoknˇ Eg.kts dk; \

(8) HkwL[k«ukph@Hkwfeikrkph dks.krhgh nksu dkj.ks f«gk-

(9) Hkkjrkrh« Hkwwdaikph dks.krhgh nksu mnkgj.ks |k-

(10) fuoZuhdj.kkps dks.krsgh nksu ifj.kke f«gk-

(11) o.kO;kph dks.krhgh nksu uSlfxZd dkj.ks f«gk-

(12) ^i;kZIr «ksdla[;k* O;k[;k f«gk-

(13) iwjkph dks.krhgh nksu dkj.ks f«gk-
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2. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) i;kZoj.kh; Hkwxks«kps egRo_

(2) uSlfxZd vkiŸkh-

(3) iwj iwoZ&O;oLFkkiu-

(4) o.kO;kps O;oLFkkiu-

3. izR;sdh 150 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) i;kZoj.kh; Hkwxks«kph O;kIrh-

(2) ^^ekuofufeZr vkiŸkh uSlfxZd vkiŸkhis{kk vf/kd O;kid vlrs-* Li"V djk-

(3) vksY;k nq"dkˇkph dkj.ks o ifj.kke Li"V djk-

(4) Rlqukehps O;oLFkkiu Li"V djk-

4. izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) Hkwdaikps ifj.kke o O;oLFkkiu Li"V djk-

(2) vkiŸkhps oxhZdj.k d:u ekuofufeZr vkiŸkhps mnkgj.kklg Li"Vhdj.k

djk-

(3) Hkkjrkrh« «ksdla[;k foLQksVkph dkj.ks] ifj.kke vkf.k O;oLFkkiukps o.kZu

djk-

(4) vkiŸkh O;oLFkkiu Eg.kts dk; \ vkiŸkh&iwoZ o vkiŸkh&uarjps O;oLFkkiu

Li"V djk-
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Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4101]-241

S.Y. B.A. EXAMINATION, 2012

GEOGRAPHY

Gg-220 : India—A Geographical Analysis (S-1)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in about 20 words each (any ten) : [20]

(1) Give latitudinal and longitudinal extent of India.

(2) Write the names of two divisions of Indian peninsular plateau.

(3) State the names of two west flowing rivers of India.

(4) Write any two characteristics of Monsoon.

(5) What is soil degradation ?

(6) State any two types of forests in India.

(7) Write two names of Petroleum producing centers in India.

(8) What is Blue Revolution ?

(9) State any two problems of Indian Agriculture.

(10) Write any two locational factors of Iron and Steel Industries.
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(11) What is Urbanization ?

(12) Define Migration.

(13) What is Balance of Trade ?

2. Answer in 50 words each (any two) : [10]

(1) Godavari River System.

(2) South-West Monsoon.

(3) White Revolution.

(4) Rural-Urban Migration.

3. Answer in 150 words each (any two) : [20]

(1) Explain the major soil types in India.

(2) Explain the significance of forest in Indian Economy.

(3) Give an account of distribution of Iron-ore in India.

(4) State the importance of railway transportation in India.

4. Answer in 300 words each (any two) : [30]

(1) Mention the physiographic divisions of India and describe the

North Indian Plains.

(2) State the causes of deforestation in India and explain the

importance of the forest conservation.

(3) Explain the development and distribution of Iron and Steel

industries in India.

(4) Give an account of population distribution in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1- izR;sdh lqekjs 20 ðkCnkr mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) Hkkjrkpk v{ko`Ÿkh; o js[kko`Ÿkh; foLrkj |k-

(2) Hkkjrh; f}idYih; iBkjkaP;k nksu foHkkxkaph ukos f«gk-

(3) Hkkjrkrh« nksu ifðpeokfguh u|kaph ukos lkaxk-

(4) ekUlwuph dks.krsgh nksu oSfðk"VÓs f«gk-

(5) ènk Úgkl Eg.kts dk; \

(6) Hkkjrkrh« dks.krsgh nksu tax«kps izdkj lkaxk-

(7) Hkkjrkrh« nksu [kfut rs« mRiknd dsaÊkph ukos f«gk-

(8) fu«ÿkarh Eg.kts dk; \

(9) Hkkjrh; ðksrhP;k nksu leL;k lkaxk-

(10) «ksgiks«kn m|ksxkP;k LFkkfudhdj.kkoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd

f«gk-

(11) ukxjhdj.k Eg.kts dk; \

(12) LFk«karjkph O;k[;k-

(13) O;kikj&larw«u Eg.kts dk; \
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2- izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) xksnkojh unh iz.kk«h-

(2) uSΩZR; ekUlwu-

(3) /ko«ÿkarh-

(4) xzkeh.k&ðkgjh LFk«karj-

3- izR;sdh 150 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) Hkkjrkrh« izeq[k e`nk izdkj Li"V djk-

(2) Hkkjrh; vFkZO;oLFksrh« oukaps egRo Li"V djk-

(3) Hkkjrkrh« «ksg&[kfut forj.kkpk o`Ÿkkar |k-

(4) Hkkjrh; jsYos ogkrwdhps egRo lkaxk-

4- izR;sdh 300 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) Hkkjrkps izew[k izkœrhd foHkkx lkaxwu] mŸkjsdMh« eSnkuh iznsðkkps o.kZu djk-

(2) Hkkjrkrh« fuoZuhdj.kkph dkj.ks lkaxwu] oulao/kZukps egRo Li"V djk-

(3) Hkkjrkrh« «ksgiks«kn m|ksxkps forj.k o fodkl Li"V djk-

(4) Hkkjrkrh« «ksdla[;k forj.kkpk o`Ÿkkar |k-
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[4101]-241

Gg-220 : China—A Geographical Analysis

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of map stencils is allowed.

(iv) Draw neat diagrams wherever necessary.

1. Answer in 20 words each (any ten) : [20]

(1) Give the geographical location of China.

(2) Write the names of physiographic divisions of China.

(3) What is drainage pattern ?

(4) Name the major climatic regions of China.

(5) Define soil degradation.

(6) What is deforestation ?

(7) Write the names of any two thermal power projects in China.

(8) Name any two iron-ore producing areas in China.

(9) Define ‘Blue Revolution’.

(10) Write any two factors affecting on location of textile industry.

(11) Give any two effects of urbanization in China.

(12) State in brief the importance of railway transportation in regional

development.

(13) Write any two effects of communication technology on socio-

economic development in China.
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2. Answer in 50 words each (any two) : [10]

(1) Relative location of China.

(2) Methods of soil conservation in China.

(3) Hydropower projects in China.

(4) ‘White Revolution’ in China.

3. Answer in 150 words each (any two) : [20]

(1) Give an account of the characteristics of various seasons in

China.

(2) Describe in detail the West Chinese mountain region.

(3) “Distribution of population is uneven in China.” Explain.

(4) Explain the development and distribution of iron and steel

industries in China.

4. Answer in 300 words each (any two) : [30]

(1) Explain major forest types and its distribution in China.

(2) Describe the east-flowing river system in China.

(3) Mention the types of transportation and give an account of

waterway transport in China.

(4) Give an account of the importance of agriculture in China’s

economy.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(iv) vkoð;d rsFks lqcd vkœR;k dk<k-

1- izR;sdh 20 ðkCnkar mŸkjs f«gk (dks.krsgh ngk) % [20]

(1) phups HkkSxksf«d LFkku lkaxk-

(2) phuP;k izkœfrd foHkkxkaph ukos f«gk-

(3) unh iz.kk«h Eg.kts dk; \

(4) phups izeq[k gokeku foHkkx lkaxk-

(5) e`nk voufrph O;k[;k nÓk-

(6) fuoZuhdj.k Eg.kts dk; \

(7) phue/kh« dks.kR;kgh nksu vkSf".kd izdYikaph ukos f«gk-

(8) phue/kh« dks.kR;kgh nksu «ksg&[kfut mRiknd iznsðkkaph ukos f«gk-

(9) ^fu« ÿkarh* O;k[;k nÓk-

(10) lwrh oL=ksnÓksxkP;k LFkkfudhdj.kkoj ifj.kke dj.kkjs dks.krsgh nksu ?kVd f«gk-

(11) phue/kh« ukxjhdj.kkps dks.krsgh nksu ifj.kke lkaxk-

(12) izknsfðkd fodklkrh« jsYos okgrqdhps egRo FkksMD;kr lkaxk-

(13) phue/kh« nˇ.koˇ.k ra=Kkukps lkekftd o vkfFkZd fodklkojh« dks.krsgh

nksu ifj.kke f«gk-
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2- izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) phups lkis{k LFkku-

(2) phue/kh« e`nk la/kkj.kkP;k iºrh-

(3) phue/kh« t«fonÓqr izdYi-

(4) phue/kh« ^/ko« ÿkarh*-

3- izR;sdh 150 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [20]

(1) phue/kh« fofo/k ΩrwaP;k oSfðk"VÓkapk o`Ÿkkar nÓk-

(2) ifðpe phue/kh« ioZrh; iznsðkkps lfoLrj o.kZu djk-

(3) ^phue/kh« «ksdla[;sps forj.k fo"ke vkgs-* Li"V djk-

(4) phue/kh« «ksg&iks«kn mnÓksxkapk fodkl vkf.k forj.k Li"V djk-

4- izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [30]

(1) phue/kh« oukaps izeq[k izdkj o forj.k Li"V djk-

(2) phue/kh« iqoZokfguh unhiz.kk«hps o.kZu djk-

(3) okgrqdhps izdkj lkaxwu phue/kh« t«ogkrqdhpk o`Ÿkkar nÓk-

(4) phuP;k vFkZO;oLFksrh« ðksrhps egRo ;koj o`Ÿkkar f«gk-



P.T.O.

Total No. of Questions—7+7+6] [Total No. of Printed Pages—4+1

Seat

No. [4101]-243

S.Y. B.A. EXAMINATION, 2012

MUSIC (laxhr) (S-1)

foðððððks"k ,l&1

(Special Paper 1)

(2008 PATTERN)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

foðððððks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh rqEgh fðkd«sY;k

fo"k;kph dks.krhgh ,d izðuif=dk lksMok-

jkxlaxhr xk;u

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr canhðk (cMk [;k«) Loj&f«ihcº

djk- [5]

2. ðkqº&lkjax fdaok dY;k.k ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

vkjksg&vojksg&idM ;klg f«gk- [5]

3. fo«afcr «;hrh« dks.kR;kgh ,dk rk«kps «s[ku djk-

fdaok

>qejk vkf.k vkMk pkSrk« ;k nksu rk«kaph rw«uk djk- [5]
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4. [kk«h«iSdh dks.kR;kgh ikpph O;k[;k f«gk % [5]

(1) Jqrh

(2) oknh Loj

(3) laoknh Loj

(4) oT;Z Loj

(5) vkanksf«r Loj

(6) [kaM

(7) mŸkjkaxoknh jkx

(8) p« Loj-

5. [kk«h«iSdh dks.kR;kgh nksuoj fVik f«gk % [5]

(1) o.kZ vkf.k o.kkZps izdkj

(2) prqjax

(3) ladh.kZ jkx

(4) f=oV

(5) foU;kl&viU;kl-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thoupfj= f«gk % [5]

(1) ia- ckˇœ".kcqok bp«djathdj

(2) ≈- vehj [kk°

(3) ≈- vY«kj[kk°-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) nsðkh laxhr&ekxhZ laxhr

(2) laxhrkrh« ?kjk.kh

(3) xk;ukr ðkCnksPpkjkps egŸo-
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[4101]-243

jkxlaxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ficº djk- [5]

2. jkx&nqxkZ o jkx&ckxsJh ;kaiSdh dks.kR;kgh ,dk jkxkph oSfðk"VÓkalg lfoLrj ðkkL=ksDr

ekfgrh f«gk- [5]

3. dsgjok] :id] nknjk] pkSrk« ;kaiSdh dks.kR;kgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk«

;k izek.ks «s[ku djk- [5]

4. O;k[;k f«gk (dks.kR;kgh ikp) % [5]

(1) oknh Loj

(2) laoknh Loj

(3) vuqoknh Loj

(4) fooknh Loj

(5) ladh.kZ jkx

(6) tksM jkx

(7) vaðk Loj

(8) vkanksf«r

(9) foU;kl-
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5. Vhik f«gk (dks.krsgh nksu) % [5]

(1) Bqejh

(2) nknjk

(3) miðkkL=h; laxhr izdkj

(4) prjax

(5) rjk.kk-

6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) lrkj ;k ok|kpk bfrgkl

(2) lrkj oknukrh« eSgj ?kjk.ks

(3) fj;ktkps egRo-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) ia- jfoðkadj

(2) vUuiw.kkZ nsoh

(3) cMs xq«ke v«h [kk°-
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[4101]-243
rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z- ,dw.k pkj izðu lksMok-

1. >qejk fdaok vkMk pkSrk« ;kiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh vkf.k
,diV&nqIiV f«gk- [5]

2. «;dkjhP;k vkM] dqvkM vkf.k fcvkM ;k izdkjkafo"k;h foLrkjkus f«gk- [5]

3. rcY;krh« can vkf.k [kq«k ;k nksu cktkafo"k;h FkksMD;kr foospu djk- [5]

4. [;k« fdaok /k̀in&/kekj ;kiSdh ,dk xk;uizdkjkfo"k;h FkksMD;kr ekfgrh |k- [5]

5. rcY;kP;k fufeZrhfo"k;h FkksMD;kr foospu djk- [5]

6. rqeP;k vkoMR;k d«kdkjkph oknu oSfðk"VÓs foðkn djk- [5]



P.T.O.
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osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

fo'ks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kiSdh dks.krhgh ,d

izðuif=dk lksMok-

(jkxlaxhr xk;u)

lwpuk :— (i) ifg«k izðu vfuok;Z vkgs-

(ii) vfuok;Z izðu ,d vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj

izðu lksMok-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph fo«afcr canhðk@cMk [;k« Loj&f«ficº

djk- [5]

2. Hkheiykl fdaok paÊdkSal ;kiSdh dks.kR;kgh ,dk jkxkph laiw.kZ 'kkL=h; ekfgrh

vkjksg&vojksg&idM ;klg fygk- [5]

3. leku ek=kaP;k dks.kR;kgh nksu rkykaps ys[ku djk- [5]

4. [kk«h«iSdh dks.kR;kgh nksu fVik f«gk % [5]

(1) 'kCniz/kku xhr

(2) ukV~;laxhr

(3) nknjk xhrizdkj

(4) ik'oZlaxhr-
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5. [kk«h«iSdh dks.kR;kgh nksuoj FkksMD;kr f«gk % [5]

(1) Lojys[ku iºrhph O;kIrh

(2) lqxe laxhr 'kSyh

(3) ik'oZxk;u

(4) laxhr vkf.k dkO;-

6. [kk«h«iSdh dks.kR;kgh ,dk laxhrKkps thou&pfj= f«gk % [5]

(1) ia- Hkhelsu tksðkh

(2) ia- Ogh- th- tksx

(3) m- fcfLeYyk [kk°-

7. [kk«h«iSdh dks.kR;kgh ,dk fo"k;koj foLrkjkus f«gk % [5]

(1) laxhr fðk{k.kkps Lo:i

(2) /k`in&/kekj xk;dh

(3) uHkksok.kh}kjs gks.kkjk laxhrkpk izpkj-
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[4101]-244

jkxlaxhr Loj ok| oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZjhr izðukaiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk leku xq.k vlwu rs mtohdMs nðkZfo«s vkgsr-

1. vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« eflr[kkuh xr Lojf«ihcº djk- [5]

2. jkx paÊdkSal o 'kqº lkjax ;kiSdh dks.kR;kgh ,dk jkxkph oSf'k"VÓkalg lfoLrj 'kkL=ksDr

ekfgrh fygk- [5]

3. ,drky] pkSrky] >qejk ;kiSdh dks.kR;kgh ,dk rkykps ek=k] [kaM] Vkˇh] dky ;k

izek.ks ys[ku djk- [5]

4. Vhik fygk (dks.krkgh ,d) % [5]

(1) lrkj oknukrh« rc«k lkFk

(2) ukVdkr laxhrkps egRo

(3) laxhr vkf.k lkfgR;-

5. FkksMD;kr ekfgrh f«gk (dks.krkgh ,d) % [5]

(1) Loj«s[ku iºrhph O;kIrh o e;kZnk

(2) lrkj oknukrhy ehaMps egRo

(3) egkjk"V™krhy yksdlaxhr-
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6. fuca/k f«gk (dks.krkgh ,d) % [5]

(1) /k`in] /kekj xk;dhpk bfrgkl

(2) laxhr o vk/kqfud oSKkfud midj.ks

(3) HkkonðkZuklkBh fujfujkˇÓk ok|kapk mi;ksx-

7. pfj= f«gk (dks.krkgh ,d) % [5]

(1) Jherh csxe v[rj

(2) mLrkn vetn vyh [kk°

(3) ia- Hkhelsu tks'kh-
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rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— izFke izðu vfuok;Z vkgs- ,dw.k pkj izðu lksMok-

1. [kseVk fdaok rsojk (rhozk) ;kiSdh dks.kR;kgh ,dk rkykph laiw.kZ 'kkL=h; ekfgrh vkf.k

,diV&nqIiV fygk- [5]

2. [kk«h«iSdh dks.kR;kgh nksuoj Vhik f«gk % [5]

(1) vken

(2) xr

(3) ij.k-

3. le] Vkˇh] dky bR;knhaps rky&fufeZrh e/khy egŸo fo'kn djk- [5]

4. rcY;krh« vtjkMk vkf.k Q#Z[kkckn ;kiSdh ,dk cktk fo"k;h foLrkjkus fygk- [5]

5. uxek («gjk) ;k fo"k;koj FkksMD;kr foospu djk- [5]
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[4101]-245

S.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

(General Paper II)

(Theory of Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :[10]

(i) Explain the nature of Public Administration.

(ii) Mention the co-ordination principle of organization.

(iii) State the benefits of Training.

(iv) Write any two difinitions of Public Administration.

2. Write notes in 100 words each (any four) : [20]

(i) Explain in brief the structural-functional approach.

(ii) Explain the principle of Hierarchy.

(iii) Direct recruitment.

(iv) Importance of Bureaucracy.

P.T.O.
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No.
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(v) Fast track courts.

(vi) Types of Chief Executive.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) State the similarity between Public Administration and Private

Administration.

(ii) Write the powers and functions of Union Public Service

Commission.

(iii) State the importance of Communication.

(iv) Explain the executive control over Public Administration.

(v) State the functions of Comptroller and Auditor General.

4. Answer any one question (in 500 words) : [20]

(i) Discuss the Budgetary Process in India.

(ii) Explain types and bases of Departmental Organization.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) «ksdizðkklukps Lo:i Li"V djk-

(ii) la?kVusps leUo; rRo uewn djk-

(iii) izfðk{k.kkps Qk;ns lkaxk-

(iv) «ksdizðkklukpk dks.kR;kgh nksu O;k[;k f«gk-
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2. izR;sdh 100 ðkCnakr fVik f«gk (dks.krsgh pkj) % [20]

(i) jpukRed dk;Zoknh n`"Vhdksu FkksMD;kr Li"V djk-

(ii) inlksiku ijaijspss rRo Li"V djk-

(iii) izR;{k Hkjrh-

(iv) uksdjðkkghps egRo-

(v) fðk?kzxrh U;k;k«;-

(vi) izeq[k dk;kZf/kdkÚ;kps izdkj-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) «ksdizðkklu vkf.k [kktxh izðkklukrh« lkE; lkaxk-

(ii) dsaÊh; «ksdlsok vk;ksxkps vf/kdkj o dk;sZ f«gk-

(iii) tulaidkZps egRo lkaxk-

(iv) «ksdizðkklukojh« dk;Zdkjh eaMˇkps fu;a=.k Li"V djk-

(v) fu;a=d o egk«s[kkifj{kdkps dk;sZ lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok (500 ðkCnkar) % [20]

(i) Hkkjrkrh« vankti=dh; izfÿ;sps o.kZu djk-

(ii) [kkR;kps izdkj vkf.k vk/kkjHkwr ?kVd Li"V djk-
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Seat

No. [4101]-246

S.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

Special Paper I

(Administrative Thinkers)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State Kautilya’s views on Administrative Corruption.

(ii) Explain Woodrow Wilson’s views on Administration.

(iii) Nature of ‘Sala Model’.

(iv) Max Weber’s views on Legitimacy.

2. Write notes in 100 words each (any four) : [20]

(i) Explain Kautilya’s views on principles of Administration.

(ii) State F.W. Taylor’s concept of Scientific Management.

(iii) Nehru’s views on Bureaucracy.

(iv) Mention Herbert Simon’s views on Behaviourism.

(v) Chester Barnard’s theory of Authority.

(vi) Nehru’s views on Socialism.
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3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain Herbert Simon’s views on Traditional Administration.

(ii) Explain Riggs structural-functional approach.

(iii) Explain Kautilya’s Nature of Rajdharam.

(iv) State Nehru’s views on Decentralization.

(v) Critically evaluate Taylor’s concept of Scientific Management.

4. Answer any one question (in 500 words) : [20]

(i) Mention Chester Barnard’s powers and functions of the Chief

Executive.

(ii) Explain Nehru’s contribution to the development of socialism

and Administration.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) dkSfVY;kps izðkkldh; Hkz"Vkpkjklaca/kh fopkj lkaxk-

(ii) oqM™ks foYlups izðkkluklaca/kh ers Li"V djk-

(iii) ^lk«k ekWMs«* ps Lo:i-

(iv) vf/kekU;rslaca/kh eWDl oscjph ers-
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2- izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) dkSfVY;kph izðkkldh; rRokalaca/kh ers Li"V djk-

(ii) ,Q- MCY;q- Vs«j ;kaph ðkkL=h; O;oLFkki.kkph ladYiuk lkaxk-

(iii) uksdjðkkgh laca/kh usg:aph ers-

(iv) orZuoknkojh« gcZVZ lk;euph ers uewn djk-

(v) psLVj cukZMZpk vf/kdkjkpk flºkar-

(vi) lektoknklaca/kh usg:aph ers-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ijaijkxr izðkkluklaca/kh gcZVZ lk;euph ers Li"V djk-

(ii) fjXtpk jpukRed dk;Zoknh n`"Vhdksu Li"V djk-

(iii) dkSfVY;kps jkt/kekZps Lo:i Li"V djk-

(iv) fodsaÊhdj.kklaca/kh iafMr usg:aps fopkj lkaxk-

(v) Vs«jP;k ðkkL=h; O;oLFkkiukP;k ladYiusps fVdkRed eqY;ekiu djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) psLVj cukZMZus lqpfo«s«h izeq[k vf/kdkÚ;kps vf/kdkj o dkes uewn djk-

(ii) lektokn vkf.k izðkklu fodklkrh« usg:aps ;ksxnku Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-247

S.Y. B.A. EXAMINATION, 2012

PUBLIC ADMINISTRATION

Special Paper II

(Institutions and Issues in Indian Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) All India Services.

(ii) Role of National Development Council.

(iii) Planning Commission.

(iv) Nature of Globalization.

2. Write the notes in 100 words each (any four) : [20]

(i) Structure of Union Public Service Commission.

(ii) State the types of training.

(iii) Recommendations of National Commission for Woman.

(iv) Role of State Reserve Police Force.

(v) Social Justice.

(vi) Liberalization.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain the functions of State Public Service Commission.

(ii) Explain the meaning and significance of E-Governance.

(iii) Explain the Budgetary process in India.

(iv) Mention the functions of Voluntary Organization.

(v) Explain the role of Dept. of Home Affairs regarding the Law

and Order.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the relationship between Political Executives and

Administrative Executives.

(ii) Explain the role of Lokpal and Lokayukta.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) vk[kh« Hkkjrh; lsok

(ii) jk"V™h; fodkl ifj"knsph Hkwfedk

(iii) fu;kstu vk;ksx

(iv) tkxfrdhdj.kkps Lo:i-
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2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) dsaÊh; «ksdlsok vk;ksxkph jpuk-

(ii) izfðk{k.kkps izdkj lkaxk-

(iii) jk"V™h; efg«k vk;ksxkP;k fðkQkjðkh-

(iv) jkT; jk[kho iks«hl n«kph Hkwfedk-

(v) lkekftd U;k;-

(vi) mnkjhdj.k-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) jkT; «ksdlsok vk;ksxkph dkes Li"V djk-

(ii) bZ&ðkklukpk vFkZ vkf.k egRo Li"V djk-

(iii) Hkkjrkrh« vankti=dh; izfÿ;k Li"V djk-

(iv) Lo;alsoh la?kVukaph dkes uewn djk-

(v) dk;nk o lqO;oLFksckcr x`gea=k«;kph Hkwfedk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(i) jktdh; dk;Zdkjh izeq[k o izðkkldh; dk;Zdkjh izeq[k ;kaP;karh« laca/k Li"V

djk-

(ii) «ksdik« o «ksdk;qDrkph Hkwfedk Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-248

S.Y. B.A. EXAMINATION, 2012

PSYCHOLOGY

(G-2 : Social Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) :  [10]

(i) What is Self-esteem ?

(ii) Explain the factors of Attitudes.

(iii) What is Social Cognition ?

(iv) Explain the Internal Attraction.

2. Write short notes in 100 words each (any four) : [20]

(i) Self-concept

(ii) Group decision making

(iii) Foot in the Door Technique

(iv) Social Rejection

(v) Self-awareness

(vi) Sociometric Technique.

P.T.O.
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3. Attempt any three questions in 200 to 250 words each : [30]

(i) What is aggression ? Explain the causes of Aggression.

(ii) Explain the basic sources of attribution error.

(iii) Define leadership. Describe the styles of leadership.

(iv) Describe factors affecting conformity.

(v) Explain the triangular theory of Love.

4. Answer any one of the following questions in 500 words : [20]

(i) Define social psychology. Describe various tools of data

collections.

(ii) What is communication ? Explain the process of Communication.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vfuok;Z vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) ^Lo* vknj Eg.kts dk; \

(ii) vfHko`Ÿkhps ?kVd Li"V djk-

(iii) lkekftd cks/ku Eg.kts dk; \

(iv) varxZr vkd"kZ.k Li"V djk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) ^Lo* ladYiuk-

(ii) leqg fu.kZ; izfÿ;k-

(iii) nkjkr ik≈« Vkd.;kps ra=-

(iv) lkekftd R;tu-

(v) ^Lo* tkf.ko-

(vi) lektfefr ra=-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 500 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) vkÿedrk Eg.kts dk; \ vkÿedrsph dkj.ks Li"V djk-

(ii) vkjksiukph eq«Hkwr mxeLFkkus o izekn Li"V djk-

(iii) usr`Rokph O;k[;k f«gk- usr`Ro ðkS«hps o.kZu djk-

(iv) vuqlkfjrsoj ifj.kke dj.kkÚ;k ?kVdkaps o.kZu djk-

(v) izsekpk f=dks.k flºkar Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) lkekftd ekulðkkL=kph O;k[;k f«gk- iznŸk lad«u dj.;kP;k fofo/k ra=kps

vFkok lk/kukaps o.kZu djk-

(ii) laizs"k.k Eg.kts dk; \ laizs"k.k izfÿ;k Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4101]-249

S.Y. B.A. EXAMINATION, 2012

PSYCHOLOGY

Special Paper I

(Psychology of Adjustment)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Explain the concept of work and career issues.

(2) State the concept of Health Psychology.

(3) Explain the concept of Alcoholism.

(4) State the concept of Abnormal Behaviour.

2. Write short notes in 100 words each (any four) : [20]

(1) Karl Jung’s psychoanalytical approach.

P.T.O.
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(2) Mind-body relationship

(3) Sexual harassment

(4) Criteria of abnormal behaviour

(5) Eating disorders

(6) Blaming yourself as common coping pattern.

3. Attempt any three questions in 200 to 250 words each : [30]

(1) State the psychosexual developmental stages.

(2) Explain the prediction of marital success.

(3) Define anxiety. State the types of anxiety disorders.

(4) Explain the Ellis’s Rational Emotive Behaviour Therapy

(REBT).

(5) State the effects of smoking on health.

4. Answer any one of the following question in 500

words : [20]

(1) Define stress. State the responses given to

stress.

(2) Describe in brief the model of career choice and development

by Super.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðui=hdk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) dke vkf.k dfjvj gh ladYiuk Li"V djk-

(2) LokLF; ekulðkkL= gh ladYiuk foðkn djk-

(3) e|klfDr gh ladYiuk Li"V djk-

(4) vilkekU; orZu@euksfoœr orZu gh ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) dk«Z ;qaxpk euksfoð«s"k.k n`f"Vdksu

(2) ðkjhj&eu laca/k

(3) «Saxhd Nˇ

(4) euksfoœr orZukps fud"k

(5) [kk.;kP;k foœrh

(6) Lor%oj nks"kkjksi dj.kkjk lkekU; vkœrhca/k-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) ekul«Saxhd fodklkP;k voLFkk Li"V djk-

(2) oSokfgd ;ðkkps iwoZdFku Li"V djk-

(3) fparsph O;k[;k |k- fpark foœrhps izdkj Li"V djk-

(4) ,f«l ;kaph rdZfu"B Hkkofud orZu mipkj iºrh Li"V djk-

(5) /kqezikukps LokLFkkojh« ifj.kke Li"V djk-

4. dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) r.kkokph O;k[;k |k- r.kkokl dks.kdks.kR;k izfrfÿ;k fnY;k tkrkr rs Li"V

djk-

(2) O;olk; fuoM vkf.k fodkl ;kckcr lqij ;kauh fn«sY;k izk:ikps FkksMD;kr

o.kZu djk-
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[4101]-249

(Abnormal Psychology and Therapeutic Interventions)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Give the characteristic features of Paranoid Schizophrenia.

(2) Explain the generalized anxiety disorder.

(3) Explain the nature of family therapy.

(4) State the need for Psychotherapy.

2. Write short notes in 100 words each (any four) : [20]

(1) DSM–IV based classification of mental disorders.

(2) Types of dissociative disorders (any one).

(3) Professionals in psychotherapy.

(4) Yoga therapy.

(5) Measuring success in Psychotherapy.

(6) Client-centered therapy.
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3. Attempt any three questions in 200 to 250 words each : [30]

(1) Definition and nature of Abnormal Behaviour.

(2) Discuss the types of odd and eccentric personality disorder.

(3) Explain the types of Shizophrenia.

(4) Beck’s cognitive therapy.

(5) Describe marital therapy.

4. Answer any one question in 500 words : [20]

(1) Define Phobia. Describe different types of phobia.

(2) Discuss systematic desensitization and token economy method.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(1) laðk;h fNUueuLdrsph oSfðk"VÓs lkaxk-

(2) lkekU; fparkfoœrh Li"V djk-

(3) dkSVqafcd mipkj iºrhps Lo:i Li"V djk-

(4) ekulksipkj iºrhph xjt Li"V djk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) fM- ,l- ,e-&pkj izf.kr euksfoœrhps oxhZdj.k-

(2) fo;kstukRed foœrhpk dks.krkgh ,d izdkj

(3) ekulksipkjkrh« O;kolkf;drk

(4) ;ksxk&mipkj iºrh

(5) ekulksipkjkrh« ;ðkfLorsps ekiu

(6) #X.kdsafÊr mipkj iºrh (O;fDrdsafÊr mipkj iºr)-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) vilkekU; orZukph O;k[;k vkf.k Lo:i Li"V djk-

(2) fo«{k.k vkf.k fof{kIr O;fDreRo foœrhps izdkj Li"V djk-

(3) fNUueuLdrsps izdkj Li"V djk-

(4) csdph cks/kukRed mipkj iºrh-

(5) oSokfgd ekulksipkj iºrhps o.kZu djk-

4. dks.krkgh ,d izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) nqfHkZrhph O;k[;k |k- nqfHkZrhps izdkj Li"V djk-

(2) iºrðkhj vkosnuðkh«u vkf.k izfrdkRed ikfjrksf"kd iºrhph ppkZ djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4101]-250

S.Y.B.A. EXAMINATION, 2012

PSYCHOLOGY

Special Paper II

(S-II : Developmental Psychology)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions in 50 words each : [10]

(i) State the various stages in life span.

(ii) Explain the concept of ‘effective parenting’.

(iii) Explain the friendship in adolescence.

(iv) Explain the daily life in adulthood.

2. Write answers in 100 words each (any four) : [20]

(i) How does human life begin ?

P.T.O.
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(ii) Explain the friendship in preschool years.

(iii) Explain the hazards during adolescence.

(iv) State the problems of working women.

(v) Describe in brief the physical changes in adolescence.

(vi) How individual adjust to the late adulthood ?

3. Attempt any three questions in 200-250 words each : [30]

(i) Explain the hazards in pre-natal period.

(ii) Describe the factors affecting the physical development in pre-

school years.

(iii) Describe the development of ‘self’ in middle childhood.

(iv) Explain the family relationships in middle adulthood.

(v) Explain the physical changes in late adulthood.

4. Attempt any one question in 500 words : [20]

(i) Explain the theory of cognitive development by Piaget in

infancy.

(ii) Describe in detail the cognitive development in early

adulthood.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) thou d{ksrh« fofo/k VIis lkaxk-

(ii) ^;ðkLoh ik«dRo* ladYiuk Li"V djk-

(iii) fdðkksjkoLFksrh« eSf=laca/k Li"V djk-

(iv) o`ºkaph fnup;kZ Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(i) ekuoh thoukph lqjokr dðkh gksrs \

(ii) iwoZðkk«s; o;krh« eSf=laca/k Li"V djk-

(iii) fdðkksjkoLFksrh« /kksds Li"V djk-

(iv) uksdjh dj.kkÚ;k L=h;kaP;k leL;k Li"V djk-

(v) fdðkksjkoLFksrh« ðkkjhfjd cn«kaps FkksMD;kr o.kZu djk-

(vi) mŸkj&izkS<koLFksðkh lek;kstu dls ds«s tkrs \

3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) tUeiwoZ vkoLFksrh« /kksds foðkn djk-
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(ii) iwoZðkk«s; o;krh« ðkkjhjhd fodklkoj ifj.kke dj.kkÚ;k ?kVdkaps o.kZu djk-

(iii) e/;e ckY;koLFksrh« Lo&fodklkps o.kZu djk-

(iv) e/;e izkS<koLFksrh« dkSVqafcd laca/k Li"V djk-

(v) mŸkj&òºkoLFksrh« ðkkjhfjd cn« Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ðkSðkokoLFksrh« cks/kkRed fodklkpk fi;kts ;kapk flºkar Li"V djk-

(ii) iwoZ&izkS<koLFksrh« cks/kkRed fodklkps lfoLrj o.kZu djk-



[4101]-250 5 P.T.O.

[4101]-250

(S-II : Positive Psychology and Counselling Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt the following questions in 50 words each (any two) : [10]

(i) What is emotional intelligence ?

(ii) Explain the importance of communication with children.

(iii) Write a note on ‘Gestalt Counselling’.

(iv) Explain personal centered counselling.

2. Attempt the following short notes in 100 words each (any four) : [20]

(i) Successful aging.

(ii) Positive emotions.

(iii) Determinants of happiness.

(iv) Happiness and subjective well being.

(v) Concept of ‘hope’.

(vi) Learned optimism.
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3. Attempt the following questions in 200-250 words each (any three) : [30]

(i) Explain the positive youth development.

(ii) What is conselling ? Explain the stages of counselling process.

(iii) Explain the characteristics of effective counsellor.

(iv) Describe how children differ from adults.

(v) Explain trait factor counselling.

4. Attempt any one of the following questions in 500 words : [20]

(i) Describe the negative aspects of human nature through traditional

psychology.

(ii) Explain the characteristics of an older adult as a client and

state the predictable counselling agendas.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) Hkkofud cqfºeŸkk Eg.kts dk; \

(ii) ck«dkacjkscj laoknkps egRo Li"V djk-

(iii) xsLVkWYV leqinsðkukoj Vhi f«gk-

(iv) O;fDr&dsafÊr leqinsðku Li"V djk-
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2. [kk«h«iSdh izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) ;ðkLoh o`ºRo-

(ii) ldkjkRed Hkkouk-

(iii) vkuanho`Ÿkhph fu/kkZjds-

(iv) vkuanho`Ÿkh vkf.k [kqðkk«h-

(v) ^vkðkk* ladYiuk-

(vi) v/;f;r vkðkkokn-

3. [kk«h« izðukaph izR;sdh 200&250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ldkjkRed ;qok fodkl Li"V djk-

(ii) leqinsðku Eg.kts dk; \ leqinsðku izfÿ;sP;k voLFkk Li"V djk-

(iii) ifj.kkedkjd leqinsðkdkph oSfðk"VÓs Li"V djk-

(iv) ck«d izkS<kais{kk osxˇs dls \ o.kZu djk-

(v) ^xq.krRo leqinsðku* Li"V djk-

4. [kk«h« izðukaph mŸkjs 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ikjaikfjd ekulðkkL=kP;k vk/kkjs ekuoh LoHkkokrh« udkjkRed cktwaps o.kZu

djk-

(ii) ,d lY«kFkhZ Eg.kwu o;Ld izkS<kph oSfðk"VÓs Li"V djk o iwoZdFkutU;&leqinsðku

fo"k;if=dk lkaxk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-251

S.Y. B.A. EXAMINATION, 2012

GANDHIAN THOUGHT

General Paper II

(Socio-political and Religious Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain briefly Gandhiji’s idea of decentralization of power.

(2) State and explain Gandhiji’s idea of Bycott.

(3) Discuss the reasons for what Gandhiji opposed to Mechanization.

(4) Explain the interrelation between Truth and Non-violence

according to Gandhiji.

2. Write short notes on any four of the following in 100 words each : [20]

(1) Nature of Gram Punchayat.

(2) Gandhiji’s idea of Trusteeship.

(3) Gandhiji’s conception of Ramrajya.

(4) Gandhiji and Bhagwadgita.

(5) Unity of all religions.

(6) Gandhian idea of spiritualization of politics.
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3. Answer any three of the following in 200 to 250 words each : [30]

(1) Explain the various techniques of Satyagraha according to

Gandhiji.

(2) Explain and evaluate Gandhiji’s views on Varna and Caste.

(3) Bring out the importance of small scale industries according

to Gandhiji.

(4) Explain four dimensions of Swaraj according to Gandhiji.

(5) Explain Gandhiji’s views on nature and functions of the State.

4. Answer any one of the following questions in 500 words : [20]

(1) State the problem of Untouchability and discuss various ways

for removal of Untouchability according to Gandhiji.

(2) Explain and evaluate Gandhiji’s views on Mechanization and

Industrialization.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.krsgh nksu izðukaph 50 ðkCnkar mŸkjs f«gk % [10]

(1) lRrsps fodsaÊhdj.k gh xka/khthph dYiuk FkksMD;kr Li"V djk-

(2) xka/khthaph cfg"dkj gh dYiuk lkaxwu rhps Li"Vhdj.k djk-

(3) xka/khth ;kaf=dhdj.kkl fojks/k dk djrkr R;kaP;k dkj.kfeekalsoj ppkZ djk-

(4) xka/khthaP;k erkuwlkj lR; vkf.k vfgalk ;kaP;krh« ijLij laca/k Li"V djk-
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2- [kk«h«iSdh dks.krsgh pkjkaoj izR;sdh 100 ðkCnkar Vhik f«gk % [20]

(1) xzkeiapk;rhps Lo:i-

(2) xka/khthaph foðoLr gh dYiuk

(3) xka/khthaph ^jkejkT;* gh dYiuk

(4) xka/khth vkf.k Hkxon~xhrk-

(5) loZ /kek±ph ,dkRerk-

(6) xka/khthaph jktdkj.kkps vk/;kfRedj.k gh dYiuk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) xka/khthaP;k erkuwlkj lR;kxzgkP;k fofo/k ra=kps Li"Vhdj.k djk-

(2) o.kZ vkf.k tkrh ;kfo"k;hpk xka/khthapk n`"Vhdksu Li"V d:u R;kps ijh{k.k

djk-

(3) xka/khthP;k erkuwlkj «?kwm|ksxkaps egRo foðkn djk-

(4) xka/khthaP;k erkuwlkj LojkT;kph pkj vaxs Li"V djk-

(5) jkT;kps Lo:i vkf.k drZO;s ;kcÌ«pk xka/khthapk n`"Vhdksu Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukaps mŸkj 500 ðkCnkar f«gk % [20]

(1) vLi`';rslaca/khph leL;k foðkn d:u vLi`ð;rk fueZw«uklaca/kh xka/khthauh

lwpfo«sY;k mik;;kstukaoj ppkZ djk-

(2) ;kaf=dhdj.k vkf.k vkS|ksfxdj.kkcÌ« xka/khthapk n`"Vhdksu Li"V d:u R;kps

ewY;ekiu djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4101]-252

S.Y. B.A. EXAMINATION, 2012

YOGVIDYA (;ksxfo|k)

(G-2 : Yogachi Sarvangeen Baithak)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one from the following in 50 words : [5]

(i) Explain the correlation between character and Yoga Science.

(ii) Write the characteristics of process of learning.

2. Write short notes (any two) : [10]

(i) Hattayoga

(ii) Sankhyadarshan

(iii) Prattyahar

(iv) Kaivalyadham.

P.T.O.

Seat

No.
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3. Answer any two questions from the following in 200 to 250

words : [15]

(i) What is the meaning of ‘Shuddhikriya’ ? State types and benefits

of Kriyas with example.

(ii) What are Asttikdarshan ? Discuss in detail of Yogadarshan.

(iii) Which factors bring distribution in mental health ? Discuss.

4. Attempt any one question in detail : [10]

(i) Explain the correlation between Social Health and Yoga Science.

(ii) Explain Patanjali’s ‘Chittavrittinirodh’.

(ejkBh :ikarj)

osˇ % nksu rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh eqˇ baxzth iz'uif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(i) pkfj´; vkf.k ;ksxðkkL=kpk lglaca/k Li"V djk-

(ii) v/;;u izfÿ;sps oSfðk"Vs f«gk-

2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) gB;ksx

(ii) lka[;nðkZu

(iii) izR;kgkj

(iv) dSoY;/kke
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3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkj |k % [15]

(i) ðkwfºÿh;kapk vFkZ dk; vkgs \ ðkqfºÿh;kaps fofo/k izdkj lkaxwu lgmnkgj.k

Qk;ns Li"V djk-

(ii) vkfLrd nðkZu Eg.kts dk; \ ;ksx nðkZu lfoLrj Li"V djk-

(iii) ekufld LokLF;kr fc?kkM fuekZ.k dj.kkjs ?kVd dks.krs \ ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(i) lkekftd LokLF; vkf.k ;ksxðkkL=kpk lglaca/k Li"V djk-

(ii) irat«huwlkj ^fpŸko`Ÿkhfujks/k* Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-253

S.Y. B.A. EXAMINATION, 2012

HISTORY OF CIVILIZATION

General Paper II

(Indian Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Proto-historic period.

(ii) Importance of ‘Ashram System’.

(iii) Forts in Maharashtra.

(iv) Medical Science.

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of Indian Culture.

(ii) Archaeological sources of Ancient Indian History.

(iii) Merits and demerits of Caste System.

(iv) Guru Nanak.

(v) Music in Mughal period.

(vi) Mathematic.



[4101]-253 2

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain the Religion and Arts during the Harappa Culture.

(ii) Discuss the ‘Varna System’ in Ancient Indian Society.

(iii) Write a note on Bhakti Movement.

(iv) Review the progress of Ancient Indian Painting.

(v) Write in detail about Information Technology.

4. Answer any one of the following questions in 500 words : [20]

(i) Write the teaching of Jainism.

(ii) State the contribution of Brahmo Samaj in socio-religious

movement in India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ew« baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) bfrgkliwoZdkˇ-

(ii) vkJeO;oLFksps egRo-

(iii) egkjk"V™krh« fdY«s-

(iv) oS|dðkkL=-

2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) Hkkjrh; laLœrhps egRo-
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(ii) izkphu Hkkjrh; laLœrhP;k vH;klkph HkkSfrd lk/kus-

(iii) tkfrlaLFksps xq.knks"k-

(iv) xq: ukud-

(v) eksx«dk«hu laxhr-

(vi) xkf.krðkkL=-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) gjkIik laLœrhrh« /keZ o d«k Li"V djk-

(ii) izkphu Hkkjrh; lkektkrh« o.kZO;oLFksfo"k;h ppkZ djk-

(iii) HkDrh pˇoˇ;koj fViu f«gk-

(iv) izkphu Hkkjrh; fp=d«sP;k izxrhpk vk<kok ?;k-

(v) ekfgrh ra=Kkukfo"k;h lfoLrj ekfgrh f«gk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) tSu /kekZph fðkdo.k f«gk-

(ii) Hkkjrkrh« lkekftd&/kkfeZd pˇoˇhr czkEgks lektkps dk;Z lkaxk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-254

S.Y. B.A. EXAMINATION, 2012

HOME ECONOMICS—G-2

G-2 : Sociology of Family

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(1) Importance of Sociology.

(2) Merits of Joint Family.

(3) Child welfare.

(4) Family Disorganisation.

2. Write short notes in 100 words each (any four) : [20]

(1) Types of Marriage.

(2) Human Race.

(3) Different types of Family.

(4) Socialization of child.

(5) Human Race

(6) Social institution.
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3. Answer the following questions in 200 words each (any three) : [30]

(1) Explain the functions of family.

(2) Explain the importance of family in the process of socialisation

of child.

(3) Describe the causes of family disintegration in India.

(4) “Marriage as an Institution”. Explain.

(5) Describe the importance of women education in family

development.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the merits and demerits of Nuclear Family.

(2) Write an essay on social legislation about marriage and family

in India after independence.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

1- [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) lektðkkL=kps egRo

(2) ,d= dqVqackps xq.k

(3) ck«dY;k.k

(4) dqVqackps foLFkkiu-
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2- izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) fookgkps izdkj-

(2) ekuoh oaðk-

(3) dqVqackps fofo/k izdkj-

(4) ck«dkps lkekftdhdj.k-

(5) ekuoh oaðk-

(6) lkekftd laLFkk-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh rhu)  % [30]

(1) dqVqackph dk;sZ Li"V djk-

(2) ckYkdkaP;k lkekftdhdj.k izfÿ;srh« dqVqackps egRo Li"V djk-

(3) Hkkjrkrh« dqVqac fo?kVukps dkj.ks foðkn djk-

(4) flfookg ,d laLFkk vkgsfi- Li"V djk-

(5) dqVqac fodklkr L=h fðk{k.kkps egRo foðkn djk-

4- [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [20]

(1) foHkDr dqVqaciºrhps xq.k&nks"k Li"V djk-

(2) Hkkjrkrh« Lokra´;k sŸkj dkˇkrh« fookg vkf.k dqVq acfo"k;d lkekftd

fo/ks;dkoj fuca/k f«gk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+1

Seat

No. [4101]-255

S.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

G-2 (A) : India’s National Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the objectives of Indian Foreign Policy ?

(2) Explain the concept of Terrorism.

(3) State geostrategic importance of Kashmir.

(4) What are the India’s Internal Security Problems ?

2. Write short notes in 100 words each (any four) : [20]

(1) Concept of National Security

(2) Nuclear Test 1998

(3) Strategic importance of Indian Ocean

(4) Nuclear agreement between India and USA

(5) Objectives of SAARC

(6) Indian Naval Security.

P.T.O.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Discuss “a military power as a ‘Capability Factor’.”

(2) Explain India’s Nuclear Policy.

(3) Explain the causes and measures of Insurgency.

(4) Explain how the border problem is a crucial issue in India-

China relations.

(5) Explain the India’s role in SAARC.

4. Answer in 500 words (any one) : [20]

(1) Explain the principles of Indian Foreign Policy.

(2) Explain the relation between India and Russia.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) Hkkjrh; ijjk"V™h; /kksj.kkph mÌh"Vs dks.krh \

(2) ngðkroknkph ladYiuk Li"V djk-

(3) dkðehjps Hkwlkefjd egRo lkaxk-

(4) Hkkjrh; varxZr lqj{ksP;k leL;k dks.kR;k \

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) jk"V™h; lqj{ksph ladYiuk

(2) 1998ph v.kw pkp.kh
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(3) fganh egklkxjkps lkefjd egRo

(4) Hkkjr&vesfjdk vkf.od djkj

(5) lkdZph mÌh"Vs

(6) Hkkjrh; ukohd lqj{kk-

3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(1) ^«"djh ðkDrh ,d lkeF;Zoku ?kVd vkgs-* ;koj ppkZ djk-

(2) Hkkjrkps v.kq /kksj.k Li"V djk-

(3) foI«okph dkj.ks o mik; Li"V djk-

(4) ^^lhek leL;k Hkkjr&phu laca/kk«k d«kV.kh ns.kkjh dðkh vkgs-** rs Li"V

djk-

(5) Hkkjrkph lkdZe/kh« Hkwfedk Li"V djk-

4. [kk«h«iSdh izðukapk mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(1) Hkkjrh; ijjk"V™h; /kksj.kkph rRos Li"V djk-

(2) Hkkjr vkf.k jfðk;kps laca/k Li"V djk-
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[4101]-255

G-2 (B) : Cold War

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain the nature of Cold War.

(2) According to Russians what is Detente ?

(3) What is Truman Plan ?

(4) Explain the objectives of NATO.

2. Write short notes in 100 words each (any four) : [20]

(1) Scope of Cold War

(2) Berlin Blockade

(3) SEATO

(4) Moscow Summit-1972

(5) End of Cold War

(6) New Cold War.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain in detail the German Problem.

(2) State the causes of Afghanistan Crisis.

(3) Evaluate the ‘WARSAW PACT’.

(4) Explain in detail the evaluation of Detente.

(5) State in detail the causes of Cold War.
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4. Answer in 500 words (any one) : [20]

(1) Explain in detail the Disintegration of Soviet Union.

(2) Explain in detail the Cuban Crisis.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) ðkhr;qºkps Lo:i Li"V djk-

(2) jfðk;kP;k erkuqlkj r.kkoðkSfFkY; (nsrkar) Eg.kts dk; \

(3) V™weu ;kstuk Eg.kts dk; \

(4) ukVksph mÌh"Vs Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) ðkhr;qºkph O;kIrh

(2) cf«Zuph ukdscanh

(3) flVks

(4) 1972ph ekWLdks ifj"kn~

(5) ðkhr;qºkpk ðksoV

(6) uohu ðkhr;qº-
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3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) %  [30]

(1) teZu leL;k lfoLrj Li"V djk-

(2) vQxkf.kLrku la?k"kkZph dkj.ks lkaxk-

(3) okWlkZ djkjkps eqY;ekiu djk-

(4) r.kko ðkSfFkY;kps eqY;ekiu FkksMD;kr Li"V djk-

(5) ðkhr;qºkph dkj.ks lfoLrj lkaxk-

4. [kk«h«iSdh dks.krkgh ,d izðukapk mŸkj 500 ðkCnkar f«gk % [20]

(1) lksfOg,r ;qfu;ups foHkktu lfoLrj Li"V djk-

(2) D;wcu la?k"kZ lfoLrj Li"V djk-
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[4101]-255

G-2 (C) : Evaluation of Strategic Thought

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) According to Moltke, what is the role of Commander in

war ?

(2) State Dupica’s concept of War Strategy.

(3) Explain Ludendorff’s concept of Total War.

(4) According to Fuller, what are the causes of War ?

2. Write short notes in 100 words each (any four) : [20]

(1) Clausewitz

(2) Jomini

(3) Marshal Foch

(4) Admiral A.T. Mahan

(5) Mao Zedong

(6) Karl Houshopher.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Explain Douhet’s theory of Air Power.

(2) Describe Geopolitical theories by Karl Houshopher.
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(3) According to Admiral A.T. Mahan, what are the elements of

Sea Power ?

(4) Explain the military thought by Jomini.

(5) Describe the strategic thought by Marshal Foch.

4. Answer in 500 words (any one) : [20]

(1) Describe in detail strategic thought by Clausewitz.

(2) State the views of Mao Zedong about Guerrilla strategy.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) eksYVdsP;k ers ;qºkrh« lsukirhph Hkwfedk dks.krh \

(2) Mwfidph ;qº /kksj.kkph ladYiuk lkaxk-

(3) «wMsuMkWQZph lo±d"k ;qºkph ladYiuk Li"V djk-

(4) Qq«jP;kers ;qºkph dkj.ks dks.krh \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(1) D«kWtfoV>~

(2) tksfeuh

(3) ekðkZ« Qksp

(4) vWMfej« ,-Vh- egku

(5) ekvks >sMk°x

(6) dk«Z gkSðkksQj-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) MwgsVpk gokbZ ðkDrhpk flºkar Li"V djk-

(2) dk«Z gkSðkksQjps Hkwjktfurhd flºkar foðkn djk-

(3) vWMfej« ,- Vh- egku ;kaP;k ers lkxjh lŸksoj ifj.kke dj.kkjs ?kVd

dks.krs \

(4) tksfeuhps «"djh fopkj Li"V djk-

(5) ekðkZ« Qksp ;kaps lkefjd fopkj foðkn djk-

4. dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkr f«gk % [20]

(1) D«kWtfoV>~ps lkefjd fopkj foðkn djk-

(2) ekvks >sMk°x ;kaps xfueh ;qºfurh fo"k;hps fopkj lkaxk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-256

S.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D.S. S-1 (A) : International and Regional Organisation

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What are the objectives of UN ?

(2) What is the Human Rights ?

(3) State the aims of ASEAN.

(4) State the structure of European Union.

2. Write short notes in 100 words each (any four) : [20]

(1) NAFTA

(2) Hindrances in the working of UN

(3) Security Council

(4) Aims of European Union

(5) ASEAN

(6) Declaration of Human Rights.
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3. Answer in 200 to 250 words each (any three) : [30]

(1) Describe the role of UN in the field of Social and Economic

issues.

(2) State the structure of UN.

(3) State the objectives and functions of European Union.

(4) State the aims, objectives and functions of NAFTA.

(5) Explain the future of UN.

4. Answer in 500 words each (any one) : [20]

(1) Give an account of role of UN in maintaining peace and

security.

(2) Explain the aims, objectives and functions of SAARC.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) ;quksph mÌh"Vs dks.krh \

(2) ekuoh gDd Eg.kts dk; \

(3) vkfl;kups mÌsðk lkaxk-

(4) ;qjksfi;u ;qfu;uph jpuk lkaxk-
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2- izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) uk∂rk

(2) la;qDr jk"V™kaP;k dk;kZrh« vMFkˇs

(3) lqj{kk ifj"kn~

(4) ;qjksfi;u ;qfu;ups gsrw

(5) vkfl;ku

(6) ekuoh gDdkpk tkghjukek-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) lkekthd vkf.k vkfFkZd {ks=krh« la;qDr jk"V™kaph Hkwfedk foðkn djk-

(2) la;qDr jk"V™kaph jpuk lkaxk-

(3) ;qjksfi;u ;qfu;ups mfÌ"Vs vkf.k dk;sZ lkaxk-

(4) uk∂rkph gsrw] mfÌ"Vs vkf.k dk;sZ lkaxk-

(5) la;qDr jk"V™kaps HkforO; Li"V djk-

4- [kk«h«iSdh dks.krkgh ,d izðukps mŸkj 500 ðkCnkr f«gk % [20]

(1) tkxfrd ðkkarrk vkf.k lqjf{krrk fVdfo.;kr la;qDr jk"V™kauh ikj ikM«sY;k Hkwfedspk

vk<kok ?;k-

(2) lkdZps gsrw] mfÌ"Vs vkf.k dk;sZ Li"V djk-
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[4101]-256

D.S. S-1 (B) : India and Her Neighbours

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What is India’s Geostrategic Location ?

(2) What is Tibet Problem ?

(3) State the causes of 1965 war.

(4) Explain the causes of Kargil Operation.

2. Write short notes in 100 words each (any four) : [20]

(1) Role of Airforce in Bangla Desh war

(2) Mac Mahon Line

(3) Objectives of SAARC

(4) Maritime Border

(5) Geostrategic importance of Bhutan

(6) Co-operation between India and Myanmar.

3. Answer in 200 to 250 words each (any three) : [30]

(1) State India’s role in the independence of Bangla Desh.
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(2) State the Geostrategic importance of Kashmir.

(3) State India’s role in Nepal’s development.

(4) State the elements of India’s National Power.

(5) Discuss “Present Status in Bhutan development”.

4. Answer any one in 500 words : [20]

(1) Describe India’s role in SAARC.

(2) Explain in detail the ethnic problems in Sri Lanka.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(1) Hkkjrkps Hkwlkefjd LFkku dk; vkgs \

(2) frcsV leL;k dk; vkgs \

(3) 1965P;k ;qºkph dkj.ks lkaxk-

(4) dkjxh« dk;Zokghph dkj.ks Li"V djk-

2- izR;sdh 100 ðkCnkr FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(1) gokbZ lsusph ckax«knsðk ;qºkrh« Hkwfedk
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(2) eWdeksgu js"kk

(3) lkdZph mfÌ"Vs

(4) lkxjh fdaok leqÊlhek

(5) Hkwrkups Hkwlkefjd egRo

(6) Hkkjr vkf.k E;kuekj ;kaP;krh« lgdk;Z-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(1) ckax«knsðk Lokra´;krh« Hkkjrkph Hkwfedk lkaxk-

(2) dkðehjps Hkwlkefjd egRo lkaxk-

(3) usikˇP;k fodklkrh« Hkkjrkph Hkwfedk lkaxk-

(4) HkkjrkP;k jk"V™h; ðkDrhps ?kVd lkaxk-

(5) ^l|fLFkrhrh« HkwrkuP;k fodklkoj ppkZ djk-

4- dks.krkgh ,d izðukph mŸkj 500 ðkCnkr f«gk % [20]

(1) lkdZe/kh« HkkjrkP;k Hkwfedsps o.kZu djk-

(2) Jh«adsrh« okafðkd leL;sps lfoLrj o.kZu djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4101]-257

S.Y. B.A. EXAMINATION, 2012

DEFENCE AND STRATEGIC STUDIES

D-S S-2(A) : Defence Economics

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) How is defence budget prepared ?

(ii) State the importance of wartime economy.

(iii) What are the effects of inflation ?

(iv) Explain the objectives of economic warfare.

2. Write short notes on the following in 100 words each (any

four) : [20]

(i) External threats of India’s security

(ii) Public Accounts Committee

(iii) Importance of Defence

(iv) Sources of wartime economy

(v) War potential

(vi) Importance of war finance.

P.T.O.
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3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) What are the main problems of wartime economy ?

(ii) Describe the effects of war on economic structure.

(iii) Contrast between defence and development.

(iv) Describe the causes of increasing defence expenditure of

India.

(v) Explain the parliamentary control of defence budget in

India.

4. Answer any one question in 500 words : [20]

(i) Describe the means of war finance.

(ii) Analyse the defence expenditure of India from 1947 to up

date.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) %  [10]

(i) laj{k.k vankti=dkph r;kjh dðkh ds«h tkrs \

(ii) ;qºdk«hu vFkZO;oLFksps egRo lkaxk-

(iii) p«uok<hps ifj.kke dks.krs \

(iv) vkFkhZd ;qºiºrhph mfÌ"VÓs Li"V djk-

2. [kk«h«iSdh izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.krkgh pkj) % [20]

(i) HkkjrkP;k lqj{ksps cfgxZr /kksds

(ii) lkoZtfud «s[kk lferh

(iii) laj{k.kkps egRo

(iv) ;qºdk«hu vFkZO;oLFksph lk/kus

(v) ;qº {kerk

(vi) ;qº foŸkkps egRo-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %  [30]

(i) ;qºdk«hu vFkZO;oLFksP;k izeq[k leL;k dks.kR;k \

(ii) ;qºkps vkfFkZd {ks=kojh« ifj.kke foðkn djk-

(iii) laj{k.k vkf.k fodkl ;krh« Qjd Li"V djk-

(iv) HkkjrkP;k laj{k.k [kpkZr ok< gks.;kph dkj.ks foðkn djk-

(v) Hkkjrh; lalnsps laj{k.k vankti=dkojh« fu;a=.k Li"V djk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ;qº foŸkkph lk/kus foðkn djk-

(ii) b-l- 1947 rs vkti;±rP;k HkkjrkP;k laj{k.k [kpkZps foð«s"k.k djk-
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[4101]-257

D-S S-2(B) : Military Psychology and Sociology

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) Explain significance of morale in defence.

(2) State the functions of Military leaders.

(3) State the characteristics of Armed Forces.

(4) Explain the relation between Society and Soldier.

2. Write short notes in 100 words each (any four) : [20]

(1) Group testing

(2) Motivation

(3) Social institution

(4) National integration

(5) Military organisation

(6) Intelligence test.

3. Answer in 200 to 250 words each (any three) : [30]

(1) Discuss the various dimensions of human behaviour.

(2) State effects of war on the society.

(3) Explain in detail the mental health problems of the soldier

in war.

(4) State the impact of rumours on society.

(5) Describe the social causes of war.
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4. Answer in 500 words (any one) : [20]

(1) State the importance of discipline, moral and hierarchy in the

military organization.

(2) Explain the principles of psychology which are always used

in military training.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.kR;kgh nksu) %  [10]

(1) laj{k.kkrh« euks/kS;kZps egRo Li"V djk-

(2) «"djh usr`Rokph dk;sZ lkaxk-

(3) lðkL= n«kph oSfðk"Vs lkaxk-

(4) lSfud vkf.k lekt ;kaps laca/k Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) %  [20]

(1) xV pkp.kh

(2) izsj.kk

(3) lkekftd laLFkk

(4) jk"V™h; ,dkRerk

(5) «"djh la?kVu

(6) ckSfºd pkp.kh-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) %   [30]

(1) ekuoh orZ.kqdhps fofo/k iS«waoj ppkZ djk-
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(2) ;qºkps lektkojh« ifj.kke lkaxk-

(3) ;qºkrh« lSfudkaP;k ekufld LokLF;kP;k leL;k FkksMD;kr Li"V djk-

(4) vQokapk lektkojh« ifj.kke lkaxk-

(5) ;qºkP;k lkekftd dkj.kkaps o.kZu djk-

4. dks.kR;kgh ,dk izðukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) «"djh la?kVuse/kh« fðkLr] euks/kS;Z vkf.k ijaijk ;kaps egRo-

(2) «"djh izfðk{k.kkr usgeh okij«h tk.kkjh ekulðkkL=kph rRos Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-258

S.Y. B.A. EXAMINATION, 2012

SOCIAL WORK (General)

(I) Introduction : Fields of Social Work

(II) Population Education)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(i) Explain the problems of rural youth.

(ii) ‘Population education is a social education.’ Explain.

(iii) Explain the biological factors affecting on population growth.

(iv) Prepare a note on tribal entrepreneurship.

2. Answer any four of the following questions in 100 words each : [20]

(i) Explain the economical factors affecting on population

growth.

P.T.O.
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(ii) Discuss the trends in population growth in Maharashtra after

independence.

(iii) “High fertility rate lead to population growth.” Discuss.

(iv) Explain the disadvantages of large size family.

(v) Write a note on ‘Services for child welfare’.

(vi) Explain the relationship between population growth and un-

employment.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(i) Explain the policy and programmes for the old aged.

(ii) Write a note on global population trends in the last decade.

(iii) Discuss the impact of population growth on family life in urban

area.

(iv) Prepare an action plan on health education to be given to

the community.

(v) State the importance of education in socio-economic development

of society.

4. Answer any one of the following questions in 500 words : [20]

(i) Write an essay on socio-cultural factors in population

growth.

(ii) Explain the fields of social work practice in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnki;±r f«gk %  [10]

(i) xzkeh.k ;qodkaP;k leL;k Li"V djk-

(ii) ^«ksdla[;k fðk{k.k gs lkekftd fðk{k.k vkgs-* Li"V djk-

(iii) «ksdla[;k ok<hoj ifj.kke dj.kkjs thoðkkL=h; ?kVd Li"V djk-

(iv) vkfnoklh mnÓkstdrsoj fVi.k r;kj djk-

2. [kk«h«iSdh dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnki;±r f«gk% [20]

(i) «ksdla[;k ok<hoj ifj.kke dj.kkjs vkfFkZd ?kVd Li"V djk-

(ii) Lokra´;kuarj egkjk"V™krh« «ksdla[;k ok<hrh« izokgkaph ppkZ djk-

(iii) ^^tkLr tuu nj «ksdla[;k ok< djrs-** ppkZ djk-

(iv) eksBÓk vkdkjkP;k dqVwackps rksVs Li"V djk-

(v) ^ck«dY;k.k lsok* ;koj fVi.k f«gk-

(vi) «ksdla[;k ok< vkf.k csjkstxkjh ;krh« laca/k Li"V djk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnki;±r f«gk % [30]

(i) o`ºkalkBh vl«s«s /kksj.k o dk;Zÿe Li"V djk-
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(ii) ^xsY;k nðkdkrh« tkxfrd «k sdla[;k ok<hrh« izokg* ;koj fVi.k

f«gk-

(iii) ukxjh {ks=kr «ksdla[;k ok<hpk dqVwac thoukoj gks.kkÚ;k ifj.kkekaph ppkZ

djk-

(iv) leqnk;k«k vkjksX; fðk{k.k ns.;klaca/khpk œrh vkjk[kMk r;kj djk-

(v) lektkP;k lkekftd&vkfFkZd fodklkr fðk{k.kkps egRo lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ^«ksdla[;k ok<hrh« lkekftd&lkaLœfrd ?kVd* ;koj fuca/k f«gk-

(ii) Hkkjrkrh« lekt dk;kZph {ks=s Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-260

S.Y. B.A. EXAMINATION, 2012

COMMERCE (G-2)

(Business Accounting)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Answer the following questions (any five) : [10]

(a) Concept of Book-keeping.

(b) Meaning of Real Account.

(c) What is Trading Account ?

(d) What are the selling overheads ?

(e) What is Cost sheet ?

(f) Concept of F.I.F.O.

2. Journalise the following transactions : [20]

April 2009

April 1 Dilip started his business with cash Rs. 15,000

April 2 Paid cash to Dravid Rs. 5,000
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April 5 Received cash from Dhoni Rs. 3,500

April 8 Sold goods on credit to Sachin Rs. 1,500

April 12 Received commission Rs. 650

April 15 Deposited Rs. 3,000 into Bank

April 18 Purchased furniture of Rs. 1,200 from Laxaman on credit

April 20 Paid commission to an agent Rs. 100

April 25 Returned one chair of Rs. 200 to Laxaman

April 28 Paid for sundry expenses of Rs. 600.

Or

Explain meaning, form and necessity of Trial Balance.

3. (A) What are the limitations of Financial Accounting ? [15]

Or

State in brief the methods of Time-keeping.

(B) Prepare a Store Ledger Account from the following transactions

assuming that issues of stores have been made on the basis

of ‘First In First Out.’ [15]

2010

Sep. 1 Received 1000 units at Rs. 20 per unit.

Sep. 3 Received 200 units at Rs. 15 per unit.

Sep. 6 Issued 500 units.

Sep. 8 Issued 400 units.

Sep. 15 Received 550 units at Rs. 25 per unit.

Sep. 20 Issued 350 units.
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Sep. 24 Received 100 units at Rs. 26 per unit.

Sep. 25 Issued 500 units.

Sep. 28 Received 300 units at Rs. 22 per unit.

Sep. 30 Issued 280 units.

Or

Describe the procedure for purchasing materials.

4. Write short notes on (any four) : [20]

(a) Principles of Double Entry.

(b) Types of Accounts.

(c) Balance Sheet and Profit & Loss A/c.

(d) Types of overheads.

(e) Objects of Cost Accounting.

(f) LIFO.



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-261

S.Y. B.A. EXAMINATION, 2012

EDUCATION G-2

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the answers of the following questions in 50 words each

(any two) : [10]

(1) Explain the importance of Vocational Education.

(2) Explain the objectives of Secondary Education.

(3) Explain the difference between Growth and Development.

(4) Explain the Thorndike’s laws of learning.

2. Write short notes in 100 words each (any four) : [20]

(1) Stages of process of memory.

(2) Factors affecting on Learning.

(3) Objectives of Education in Democracy.

(4) Concept of Problem Solving Method.

(5) Concept of Basic Education.

(6) Objectives of Shriniketan.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(1) What is Heredity ? Explain the educational contribution of

Heredity and Environment.
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(2) What is Democratic Citizenship ? Explain the role of School

in developing Democratic Citizenship.

(3) Write the Naturalism of Rousseau and explain the role of Rousseau

in Women Education.

(4) What is forgetting ? Explain the causes of forgetting.

(5) What is insight method of learning ? Explain its nature and

importance.

(6) What are the objectives of Open University ? Explain the merits

of Open University.

4. Write the answer of the following question in 500 words (any one) : [20]

(1) What is Secondary Education ? Write the problems in

Secondary Education and suggest the remedial measures to

overcome these problems.

(2) Adolescence stage is known as ‘the period of storm’. Explain

with appropriate examples.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) O;olk; fðk{k.kkps egŸo Li"V djk-

(2) ek/;fed fðk{k.kkph mfÌ"VÓs Li"V djk-

(3) ok< o fodklkrh« Qjd Li"V djk-

(4) FkkWuZMkbZdus lkafxr«s«s v/;;ukps fu;e Li"V djk-
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2- izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.krsgh pkj) % [20]

(1) Lej.k izfÿ;sps VIis-

(2) v/;;ukoj ifj.kke dj.kkjs ?kVd-

(3) «ksdðkkghrh« fðk{k.kkph mfÌ"Vs-

(4) leL;k fuokj.k iºrhph ladYiuk-

(5) ew«ksnÓksxh fðk{k.kkph ladYiuk-

(6) Jhfudsruph mfÌ"VÓs-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) vuqoaðkkph ladYiuk lkaxwu vuqoaðk o ifjfLFkrhps ðkS{kf.kd egRo Li"V djk-

(2) «ksdðkkgh ukxfjdRo Eg.kts dk; \ «ksdðkkgh ukxfjdRo fodklkr ðkkˇsph

Hkwfedk Li"V djk-

(3) :lkspk fulxZokn lkaxwu L=h&fðk{k.k&fo"k;d Hkwfedk Li"V djk-

(4) foLej.k Eg.kts dk; \ foLej.kkph dkj.ks Li"V djk-

(5) eeZn`"Vhew«d v/;;u Eg.kts dk; \ eeZn`"Vhew«d v/;;ukps Lo:i o egRo

foðkn djk-

(6) eqDr fonÓkihBkph mfÌ"Vs dks.krh \ eqDr fonÓkihBkps Qk;ns Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ek/;fed fðk{k.k Eg.kts dk; \ ek/;fed fðk{k.kkrh« leL;k lkaxwu mik;

lwpok-

(2) dqekjkoLFkk Eg.kts ^oknˇh vðkkarrspk dkˇ* lksnkgj.k Li"V djk-



Total No. of Questions—5] [Total No. of Printed Pages—8+1

Seat

No. [4101]-262

S.Y. B.A. EXAMINATION, 2012

MATHEMATICS

(FMG-2 : Operations Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of logarithmic table and calculator is allowed.

(iv) Graph paper will be supplied on demand.

1. Attempt each of the following : [16]

(i) Write four applications of operations research.

(ii) Define slack and surplus variable.

(iii) Write the dual of the following linear programming problem :

Min    Z = 10x1 + 20x2

Subject to 3x1 + 2x2 > 18

x1 + 3x2 = 8

2x1 – x2 < 6

x1 > 0, x2 > 0.

P.T.O.
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(iv) How do you convert the maximisation assignment into

minimisation ?

(v) What do you mean by degeneracy in Transportation problem ?

How to resolved ?

(vi) Explain the term saddle point.

(vii) What is sequencing problem ?

(viii) State any two differences between CPM and PERT.

2. (A) Attempt any one of the following : [6]

(i) Solve the following L.P.P. by Simplex method :

Max   Z = 3x1 + 2x2

Subject to 2x1 + x2 < 5

x1 + x2 < 3

x1 > 0, x2 > 0.

(ii) Solve the following L.P.P. by Dual Simplex method :

Min.      Z = 3x1 + 5x2

Subject to 2x1 + 8x2 > 40

3x1 + 4x2 > 50

x1 > 0, x2 > 0.

(B) Attempt any two of the following : [10]

(i) Solve the following L.P.P. by Graphical method :

Min.      Z = 3x1 + 2x2

Subject to 5x1 + x2 > 10

x1 + x2 > 6

x1 + 4x2 > 12

x1 > 0, x2 > 0.
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(ii) A marketing manager has five salesmen and sales districts.

Considering the capabilities of the salesmen and the nature

of districts, the marketing manager estimates that sales

per month (in hundred rupees) for each salesman in each

district would as follows :

Districts

A B C D E

1 32 38 40 28 40

2 40 24 28 21 36

Salesmen 3 41 27 33 30 37

4 22 38 41 36 36

5 29 33 40 35 39

Find the assignment of salesmen to districts that will result

in maximum sales.

(iii) Find the I.B.F. solution for the following T.P. by VAM

method :

Origin Destination Availability

1 2 3 4

1 10 8 11 7 20

2 9 12 14 6 40

3 8 9 12 10 35

Requirement 16 18 31 30 95
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3. (A) Attempt any one of the following : [8]

(i) Obtain the optimum solution of the following transportation

problem :

   Market

A B C Supply

1 10 12 7 180

Warehouse 2 14 11 6 100

3 9 5 20 160

4 11 7 9 220

Demand 240 200 220 660

(ii) Solve the following T.P. for maximizing profit :

   Destination

A B C D Supply

P 15 51 42 33 23

Source Q 80 42 26 81 44

R 90 40 66 60 33

Demand 23 31 16 30

(B) Attempt any one of the following : [8]

(i) Solve the following game using dominance principle :

   Player B

B1 B2 B3 B4

A1 3 2 4 0

Player A A2 3 4 2 4

A3 4 2 4 0

A4 0 4 0 8
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(ii) A project schedule has the following characteristics :

Activity Duration (Days)

1–2 3

1–3 4

1–4 14

2–3 10

2–6 5

3–5 4

3–6 6

4–5 1

5–6 1

Construct a network diagram and find critical path.

4. (A) Attempt any one of the following : [6]

(i) The data on the operating costs per year and resale prices

of equipment A whose purchase price is Rs. 10,000 are

given below :

Year Operating Cost (Rs.) Resale Value (Rs.)

1 1500 5000

2 1900 2500

3 2300 1250

4 2900 600

5 3600 400

6 4500 400

7 5500 400

Determine the optimal period for replacement.
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(ii) A machine M costing Rs. 9,000 has a maintenance cost

of Rs. 200 in the first year of its operation which rises

by Rs. 2,000 in each of the successive years. Assuming

that the machine replacement can be done only at the

end of a year determine the best age at which the machine

be replaced.

(B) Attempt any two of the following : [10]

(i) Find the sequence that minimize the total elapsed time

required to complete the following tasks :

Tasks Time on Machine I Time on Machine II

A 2 6

B 5 8

C 4 7

D 9 4

E 6 3

F 8 9

G 7 3

H 5 8

I 4 11
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(ii) Solve the following game :

     Player B

B1 B2

A1 8 –7
Player A

A2 –6 4

(iii) Solve the following game by dominance principle :

Player B

B1 B2 B3 B4 B5

A1 –2 0 0 5 3

A2 3 2 1 2 2

Player A A3 –4 –3 0 –2 6

A4 5 3 –4 2 –6

5. (A) Attempt any one of the following : [6]

(i) We have seven jobs each of which has to 90 through the

machines M1 and M2 in the order M1M2 processing times

(in hours) are given below. Find job sequence and total

ellapsed time.

Job Machine M1 Machine M2

J1 3 8

J2 12 10

J3 15 10

J4 6 6

J5 10 12

J6 11 1

J7 9 3
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(ii) Solve the following game graphically :

Player B

I II III IV V

1 3 0 6 –1 7

Player A
2 –1 5 –2 2 1

(B) Attempt any one of the following : [10]

(i) The following table shows the jobs of project with their

duration in days. Draw the network and determine the

critical path. Also calculate all floats :

Jobs Duration

1–2 2

1–3 7

1–4 8

2–5 3

3–5 6

3–6 10

3–7 4

4–6 6

5–7 2

6–8 5

7–8 6
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(ii) The following table shows the jobs of a network along

with their time estimates in days as follows :

Job A B C D E F G H I

Time 1–2 2–3 2–4 3–6 3–5 4–6 5–7 6–7 7–8

to 4 5 4 15 10 8 4 1 6

tm 6 7 8 20 18 9 8 2 7

tp 8 15 12 25 26 16 12 2 8

(a) Draw the project network.

(b) Find the cirtical path.
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-263

S.Y. B.A. EXAMINATION, 2012

MATHEMATICAL STATISTICS (GENERAL)

(Discrete Probability Distributions and Statistical Methods)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Symbols and abbreviations have usual meanings.

(iv) Use of calculator and statistical tables is allowed.

(v) Graph-paper will be provided on request.

1. Attempt any two of the following : [2×5=10]

(a) Define the following terms with an illustration :

(i) Discrete random variable (r.v.) on infinite sample space.

(ii) Probability mass function (p.m.f.) on infinite sample space.

(b) Show that all cumulants of Poisson distribution are equal to

parameter ‘m’. Hence find its variance.

(c) With usual notations, describe a large sample test for

testing H0 : P1 = P2 against H1 : P1 ≠ P2. Use α level

of significance (l.o.s.).

(d) Distinguish between chain base index numbers and fixed base

index numbers.
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2. Attempt any four of the following : [4×5=20]

(a) Derive the recurrence relation between raw moments of Poisson

distribution.

(b) Define the term ‘moment generating function’ (m.g.f.). Derive

the m.g.f. of the Negative Binomial distribution with parameters

k and p.

(c) A coin is tossed 400 times and a head turned up 210 times.

Can the coin be regarded as fair ? Test at 5% l.o.s. Also

verify your result by confidence interval.

(d) Describe stepwise procedure of finding seasonal variations by

simple average method.

(e) With usual notations, show that :

( ) ( )
12 13 23

12.3 2 2
13 23

.
.

1 1

r r r
r

r r

−
=

− −

(f) State and prove lack of memory property of geometric

distribution.

3. Attempt any three of the following : [3×10=30]

(a) (i) Describe the exponential smoothing method of estimating

trend values in a time series. (5)

(ii) Define the term m.g.f. of bivariate r.v. State and prove

its any two properties. (5)
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(b) (i) Obtain the distribution function of geometric r.v. over

the range of non-negative integer values. (5)

(ii) Describe any two methods of estimating national income. (5)

(c) (i) Define the term ‘Expected value of a random variable

(r.v.). State and prove any two properties of it. (5)

(ii) An item is produced in large numbers. The machine is

known to produce 5% defectives. A quality control inspector

is examining the items by taking them at random. What

is the probability that at least 4 items are to be examined

in order to get 2 defectives ? (5)

(d) (i) Describe the ‘logistic regression with one regressor

in detail. State any one real situation where it can be

used. (6)

(ii) Explain the following terms : (4)

(1) Gross domestic product (GDP)

(2) Coefficient of multiple determination.

(e) (i) Describe the procedure of testing equality of two population

correlation coefficients. State your assumptions. (5)

(ii) A consumer purchased 50 electric bulbs of brand A and

50 electric bulbs of brand B. Brand A bulbs gave an

average life of 1520 hours with a standard deviation of

60 hours while brand B bulbs gave an average life of

1490 hours with a standard deviation of 90 hours. Is

there significant difference in the mean life of the two

brands of bulbs ? Test at 4% l.o.s. (5)
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4. Attempt any one of the following : [1×20=20]

(a) (i) Obtain the expression of multiple correlation coefficient

(R1.23) in terms of total correlation coefficients. (8)

(ii) A television repairman finds that the time spent on his

job follows exponential distribution with mean of 30 minutes.

If he repairs sets in order in which they came in, and

if the arrival of sets follows a Poisson distribution with

an average rate of 10 per 8 hrs day. (6)

Calculate :

(1) The expected number of TV sets in the system.

(2) The probability that repairman is idle.

(iii) Write a note on splicing and deflating related to index

numbers. (6)

(b) (i) Describe various considerations in the construction of

consumers price index numbers. (8)

(ii) Define ‘partial correlation coefficient’ in case of trivariate

data. Also, derive its expression in terms of total correlation

coefficients. (8)

(iii) Write a note on importance of national income. (4)



Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4101]-264

S.Y. B.A. EXAMINATION, 2012

ENGLISH

General Paper II

(Understanding Fiction)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed : (i) Lord of the Flies : William Golding

(ii) Inside the Haveli : Rama Mehta

(iii) A Man of the People : Chinua Achebe.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) What is the stream of consciousness technique in a novel ?

(ii) Mention the types of plot in fiction with an example.

(iii) Explain the techniques of narration with suitable examples.

(iv) Explain the role of setting in fiction.

(v) Explain the role of a protagonist in a novel.

(vi) Give any four features of a novel.

P.T.O.
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2. Attempt any four of the following in not more than 150 words

each : [16]

(i) Discuss ‘Lord of the Flies’ as a moral allegory.

(ii) Explain the significance of the spectacles of Piggy.

(iii) Compare and contrast the characters of Ralph and Jack.

(iv) Write a note on the use of imagery in Lord of the Flies.

(v) Write a brief account of the mock-hunts in Lord of the Flies

and bring out its significance in the story.

(vi) Comment on the ending of the novel Lord of the Flies.

3. Attempt any two of the following : [16]

(i) Attempt the character-sketch of Pari as the devoted traditional

woman.

(ii) Do you feel the title of the novel Inside the Haveli is appropriate ?

Give reasons.

(iii) Write a note on the socio-cultural aspects depicted in Inside

the Haveli.

4. Attempt any two of the following in not more than 150 words

each : [16]

(i) Discuss ‘A Man of the People’ as a political satire.

(ii) Attempt a character-sketch of Odili Samalu.

(iii) Comment on the technique of narration in Chinua-Achebe’s

A Man of the People.
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5. Attempt any four of the following in about 50 words each :  [16]

(i) Discuss Inside the Haveli as a feminist novel.

(ii) Comment on the symbolism in Lord of the Flies.

(iii) Describe the setting of A Man of the People.

(iv) Explain A Man of the People as a regional novel.

(v) Explain briefly the difference between flat and round characters

with the help of the novels you have studied.

(vi) Comment on the element of Irony in the novel Lord of the

Flies.
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4101]-265

S.Y. B.A. EXAMINATION, 2012

ENGLISH

Special Paper I

(Understanding Drama)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts Prescribed :

(i) The Importance of Being Earnest : Oscar wilde.

(ii) Death of a sales man : Arthur Miller.

(iii) Hayavadana : Girish Karnad.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any four of the following : [16]

(i) Explain in brief the three unities in drama.

(ii) What are the elements of drama ?

(iii) What is climax in a play ? Give illustrations.

(iv) Explain the term Tragi-Comedy.

(v) Point out any two differences each between comedy and tragedy.

(vi) Explain round and flat characters in drama. Give examples.
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2. Attempt any four of the following : [16]

(i) Comment on the significance of the word ‘Earnest’ in the play

The Importance of Being Earnest.

(ii) Draw a character sketch of Govendolen Fairfax.

(iii) Write a note on the beginning of the play The Importance

of Being Earnest.

(iv) Describe the role of Algernon Moncrief in The Importance of

Being Earnest.

(v) Give an account of Cecily’s First encounter with her uncle

Jack’s wicked younger brother.

(vi) Give an account of various love affairs in The Importance of

Being Earnest.

3. Attempt any two of the following : [16]

(i) Consider Death of a Salesman as a challenge to the American

dream.

(ii) Discuss Death of a salesman as a tragedy of a common man.

(iii) Draw a character sketch of Happy Loman.

4. Attempt any two of the following : [16]

(i) “Hayavadana deals with Padmini’s quest for identity.” Comment.

(ii) Write a note on traditional elements in Hayavadana.

(iii) Consider Hayavadana as a play about ‘incompleteness.’
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5. Attempt any four of the following : [16]

(i) Comment on The Importance of Being Earnest as a comedy.

(ii) Discuss the Death of a Salesman as a critique of American

values and institutions.

(iii) Write a note on the role of Chorus in Hayavadana.

(iv) Explain the use of parody and humour in The Importance of

Being Earnest.

(v) Analyse the plot construction of Death of a Salesman.

(vi) Bring out the conflict between Kapila and Devadatta.



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4101]-266

S.Y. B.A. EXAMINATION, 2012

ENGLISH

Special Paper II

(Understanding Poetry)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Text Prescribed : Poetry Down the Ages.

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any four of the following : [16]

(i) What is a ‘dramatic monologue’ ? Explain with an example.

(ii) Describe the difference between ‘simile’ and ‘metaphor’. Give

an example each.

(iii) What do you understand by ‘run-on-line’ ? Give two examples.

(iv) Name the Italian poet who popularized the ‘sonnet’ as a form

of poetry and discuss the subsequent changes in its form.

(v) What is an ‘elegy’ ? Can Shakespeare’s “A Requiem” be called

an elegy ? Why ?

(vi) Describe the features of ‘lyric’ with two examples.

P.T.O.
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2. Answer any four of the following : [16]

(i) Discuss the use of conceit in Donne’s “A Valediction : Forbidding

Mourning”.

(ii) How is Blake’s “Chimney Sweepers” a journey from innocence

to experience for the chimney sweeper boys ?

(iii) What qualities of the Skylark does Shelley wish to have for

himself ? Why ?

(iv) Discuss the use of ‘hyperbole’ in Marvell’s “To His Coy Mistress.”

(v) How does Wordsworth give a touch of pathos to Lucy’s story ?

(vi) Describe the various scenes on the Grecian Urn as depicted

by Keats in “Ode on a Grecian Urn.”

3. Answer any two of the following : [16]

(i) Comment how Thomas Hardy’s “The Darkling Thrush” brings

together his sense of hopelessness and the happiness of the

thrush.

(ii) How does Frost’s “The Road Not Taken” bring out the idea

that the decision one takes at a crucial moment in life can

affect it in a serious way ?

(iii) Describe the picture of Delhi as Parthasarathy portrays it in

“Delhi”.
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4. Answer any two of the following : [16]

(i) Philip Larkin’s “Church Going” speaks of both utility and futility

of the Church. Discuss.

(ii) Comment on Ramanujan’s “The Last of the Princes” as containing

both pathos and satire.

(iii) What seems to really move Jayanta Mahapatra in “The Abandoned

British Cemetery at Balasore” ? Why ?

5. Explain with reference to the context any four of the following : [16]

(i) ‘So careful of the type’ ? but no.

From scarped cliff and quarried stone

She cries, ‘A thousand types are gone:

I care for nothing, all shall go.

(ii) Tomorrow

I’ll sit at the table

When company comes.

Nobody’ll dare

Say to me

‘Eat in the kitchen,

Then.

Besides,

They’ll see how beautiful I am

And be ashamed,—

I, too, am America.
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(iii) His countenance a billow

His fingers, as he passed,

Let go a music, as of tunes

Blown tremulous in glass.

(iv) All great ideas, the races’ aspirations,

All heroisms, deeds of rapt enthusiasts,

Be ye my Gods.

(v) The nightingales are singing near

The Convent of the Sacred Heart,

And sang within the bloody wood

When Agamemnon cried aloud,

And let their liquid sifting fall

To stain the stiff dishonoured shroud.

(vi) Coming back to Miss Pushpa

she is most popular lady

with men also and ladies also.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4101]-267

S.Y. B.A. EXAMINATION, 2012

PHYSICAL EDUCATION

(2008 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams wherever necessary.

1. Answer the following in 50 words each (any four) : [10]

(i) Define Health Education and explain the nature of Health

Education.

(ii) What is respiration ? List out organs of respiratory system.

(iii) Importance of ‘warming up’.

(iv) Define First-Aid and explain RICE therapy.

(v) Define Flexibility and suggest two exercises to improve the

flexibility.

(vi) Importance of ‘cooling down’.

P.T.O.
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2. Write short notes in 100 words each (any three) : [15]

(i) Effect of exercise on digestive system.

(ii) Principle of Health Education.

(iii) Pale and Red muscle fibers.

(iv) Draw a neat diagram of Kho-Kho ground and list out basic

skills of kho-kho.

(v) Define strength and explain different types of strength.

(vi) Effect of exercise on Health related components.

3. Answer the following in 200 to 250 words each (any two) : [20]

(i) Role of Health Education in promoting Physical, Mental and

Social Health.

(ii) Effect of exercise on Muscular System.

(iii) Write down history of Handball.

4. Answer the following in 500 words (any one) : [15]

(i) Effect of exercise on cardio-respiratory system.

(ii) What is Health Education and explain scope and importance

of Health Education.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu vfuok;Z vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k] vkjk[kMs dk<k-

1. [kk«h« izðððððukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [10]

(i) vkjksX; fðk{k.kkph O;k[;k lkaxqu] vkjksX; fðk{k.kkps Lo:i FkksMD;kr f«gk-

(ii) ðolu Eg.kts dk; \ ðolulaLFksrh« bafÊ;kaph ;knh f«gk-

(iii) ^okfe±x vi* ps egRo f«gk-

(iv) izFkeksipkj Eg.kts dk; rs lkaxwu ^jkbZl* Fksjsih cÌ« ekfgrh f«gk-

(v) «ofpdrk Eg.kts dk; \ «ofpdrk ok<fo.;klkBh dks.krsgh nksu O;k;ke izdkj

f«gk-

(vi) ^dqf«ax Mk≈u* Eg.kts dk; \

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [15]

(i) O;k;kekpk ipu laLFksoj gks.kkjk ifj.kke lkaxk-

(ii) vkjksX; fðk{k.kkph rRos f«gk-

(iii) rkacMs vkf.k fiˇs Luk;w rarw-

(iv) [kks&[kks eSnkukph lqcd vkœrh dk<wu [kks&[kks [ksˇkrh« eq«Hkwr dkSðkY;

f«gk-

(v) rkdn Eg.kts dk; \ rkdnhps fofo/k izdkj lkaxk-

(vi) O;k;kekpk vkjksX; laca/kh ?kVdkoj gks.kkjk ifj.kke-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [20]

(i) ðkkjhfjd] ekufld o lkekftd vkjksX; ok<hlkBh vkjksX; fðk{k.kkph Hkwfedk

foðkn djk-

(ii) O;k;kekpk Luk;w laLFksoj gks.kkjk ifj.kke lkaxk-

(iii) ^gW.MckW«* ;k [ksˇkpk bfrgkl f«gk-

4. [kk«h«iSdh dks.krkgh ,d izðukph mŸkj 500 ðkCnkar f«gk % [15]

(i) O;k;kekpk ðoluk#f/kjkfHklj.k laLFksoj gks.kkjs ifj.kke f«gk-

(ii) vkjksX; fðk{k.k Eg.kts dk; \ vkjksX; fðk{k.kkps egRo o O;kIrh Li"V djk-
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Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4101]-268

S.Y. B.A. EXAMINATION, 2012

MATHEMATICS

MG-2 : Differential Equations and Linear Algebra

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(i) Solve the differential equation :

2 .x y ydy
e x e

dx
+= +

(ii) Test whether the differential equation :

( ) ( )2 2 2 23 3 6 1 0xy x dx x y x dy− + − − =

is exact or not.

(iii) Find :

( )3
2

1
.

D
x
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(iv) Form the differential equation by eliminating arbitrary constant

from y2 = mx.

(v) Let V = R3 and W be the subset of V, given by :

W = {(x, y, z) ∈ V|x = 0 or y = 0}.

Is W a subspace of V ? Why ?

(vi) Write any two bases for R3.

(vii) Let R4 have the Euclidean inner product. Find the cosine

of the angle between the vectors u  = (–1, 2, 3, 4) and

v

 = (1, 0, –1, 1).

(viii) Find the eigenvalues of the matrix :

A = .
2. (A) Attempt any one of the following : [6]

(i) Explain the method of solving the homogeneous differential

equation :

( )
( )

,
,

,

f x ydy

dx g x y
=

where f(x, y) and g(x, y) are homogeneous functions of

same degree.

(ii) Let f(D) be a polynomial in D = 
d

dx
 with constant

coefficients. Prove that :

( ) ( )2 2

1 cos
cos ,

D

ax
ax

f f a
=

−

provided f(–a2) ≠ 0.
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(B) Attempt any two of the following : [10]

(i) Solve :

( )21 2 1 0.
dy

x xy
dx

+ + − =

(ii) Solve :

( )2D 5D + 6 .xy e+ =

(iii) The population of a village increases at a rate proportional

to the population at that time. If the population increases

from 2500 to 5000 in two years, what will be the population

in next 2 years ?

3. (A) Attempt any one of the following : [8]

(i) (a) Solve :

( )2 3 3 0.x y dx x y dy− + =

(b) Solve :

( )2 2D 4 3 .y x− =

(ii) Explain the method of solving the differential equation :

( ) ( ) ( )
2

2

d y dy
p x q x y r x

dxdx
+ + =

by the method of reduction of order.
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(B) Attempt any one of the following : [8]

(i) Let V be a vector space. Then prove that :

(a) There is only one zero in V.

(b) Each vector in V has just one negative in V.

(ii) (a) Show that :

  S = {(1, 1, 1), (1, 1, 0), (1, 0, 0)}

is linear independent in R3.

(b) Let p2 be a vector space with inner product :

( ) ( )
1

1

, .p q p x q x dx

−

= ∫

Find :

(i) || p|| for p = 1 – x

(ii) d(p, q), if p = x and q = 1.

4. (A) Attempt any one of the following : [6]

(i) Prove that a set with exactly two vectors is linearly

dependent if and only if one vector is scalar multiple

of the other vector.

(ii) Let V be an n-dimensional vector space. Then prove that

any set with n linearly independent vectors in V is a

basis for V.
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(B) Attempt any two of the following : [10]

(i) Show that the set { }1 2 3
B , ,u u u=  where 1

u  = (0, 1, 0),

2
u  = (1, 0, 1) and 3

u  = (1, 0, –1) is an orthogonal

basis for R3 with Euclidean inner product.

(ii) Let T : R2 → R3 be defined as :

T(x, y) = (2x, x + y, x – y).

Prove that T is a linear transformation.

(iii) Apply Gram-Schmidt process to transform the basis

{(1, –3), (2, 2)} to orthonormal basis of R2.

5. (A) Attempt any one of the following : [6]

(i) If V is an inner product space and the norm :

½
,u u u=

then prove that :

(a) ku k u= for any scalar k.

(b) u v u v+ ≤ +

(ii) Let T : V → W be a linear transformation. Then prove

that :

(a) the kernel of T is a subspace of V.

(b) the range of T is a subspace of W.
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(B) Attempt any two of the following : [10]

(i) Find eigenvalues of the following matrix A. Also find the

eigenvector corresponding to the largest eigenvalue :

2 1 1

A = 0 3 1 .

2 1 3

− 
 

− 
 
  

(ii) Let V be a vector space of all real valued functions defined

on closed interval [0, 1]. Let :

1
W = V 0 .

2
f f

  ∈ =    

Then show that W is a subspace of V.

(iii) Find rank and nullity of matrix :

1 4 5

A = 2 1 3 .

1 3 2

 
 
 
 
 − 
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Total No. of Questions—5+5] [Total No. of Printed Pages—8+3

Seat

No. [4101]-269

S.Y. B.A. EXAMINATION, 2012

MATHEMATICS

MS-1 : (a) : Number Theory and Complex Variables

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt the following questions : [16]

(i) Find the number of positive integers ≤ 3600 that are prime

to 3600.

(ii) If x and y are odd integers, prove that x2 + y2 is even but

not divisible by 4.

(iii) For n = 400, find φ(n) and σ(n).

(iv) Find two Pythagorean triples whose terms form an arithmetic

progression.

(v) Show that ez is an entire function.

(vi) Evaluate :

1/

C

,ze dz∫
where ‘C’ is a circle |z| = 1 described in the positive sense.
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(vii) Show that :

( )log 1 ,
2

ei i
π

− = −

where log z denotes the principal branch of logarithm.

(viii) State the Cauchy-Riemann equations in polar form.

2. (A) Attempt any one of the following : [6]

(i) If d is the greatest common divisor of b and c, then

prove that there exist integers x0 and y0 such that :

d = (b, c) = bx0 + cy0.

(ii) State and prove Fermat’s theorem.

(B) Attempt any two of the following : [10]

(i) Find all the integers that give remainder 1, 3, 3 when

divided by 3, 4 and 5 respectively.

(ii) Find the highest power of 14 dividing 1000!.

(iii) Apply Wilson’s theorem to show that :

(a) 18! + 1 ≡ 0 (mod 19)

(b) 18! + 1 ≡ 0 (mod 23).

3. (A) Attempt any one of the following : [8]

(i) A cock worth Rs. 5, a hen Re. 1 and four chickens together

Re. 1. How many cocks, hens and chickens, totaling 100,

can be bought for Rs. 100 ?
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(ii) Prove that for any integers a and b with a > 0, there

exist unique integers q, r such that :

b = aq + r, 0 ≤ r < a.

(B) Attempt any one of the following : [8]

(i) Define a harmonic function. If a function f(z) = u + iv

is analytic in a domain D, then prove that u and v are

harmonic in D.

(ii) Prove that, if f(z) is analytic within and on closed contour

C and z0 is any point inside C then :

( ) ( )
( )0 2

0C

1
.

2

f z
f z dz

i z z
=′

π −∫

4. (A) Attempt any one of the following : [6]

(i) Let C be the arc of circle |z| = 2 from z = 2 to

z = 2i that lies in the first quadrant then :

3

C

4 6
.

71

z
dz

z

+ π
≤

−∫

(ii) Use residues to evaluate the improper integral :

( ) ( )
2

2 2

0

.
1 4

x dx

x x

∞

+ +∫
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(B) Attempt any two of the following : [10]

(i) Derive the Taylor series representation :

( )
( )

( )1
0

1
; 2 .

1 1

n

n

n

z i
z i

z i

∞

+
=

−
= − <

− −∑

(ii) If

( )
4 3 23 2 8 2 5z z z z

f z
z i

− + − +
=

−

is continuous at z = i, find f(i).

(iii) Prove that :

2

C

1
sin ,

2 1

ze
dz

i z

λ
= λ

π +∫
where λ > 0 and C is a circle |z| = 3.

5. (A) Attempt any one of the following : [6]

(i) If a function is analytic at a point, then prove that its

derivative of all orders exist at that point and these

derivatives are all analytic there.

(ii) If u = r2 cos 2θ, show that u is harmonic, and find f(z).

(B) Attempt any two of the following : [10]

(i) Evaluate :

( )3

C

,
4

dz

z z +∫
taken contour-clockwise around C : |z| = 2.
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(ii) Obtain the Laurent series of the function :

( ) ( ) ( )
2 1

2 3

z
f z

z z

−
=

+ +

in the region 2 < |z| < 3.

(iii) Evaluate :

2

0

.
5 3cos

d
π

θ
+ θ∫
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[4101]-269

MS-1 : (b) : Problem Course Based on Papers MG2 and AMG2

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions : [16]

(A) Solve :

( )1 cos sin 0.y ye x dx e x dy+ + =

(B) Find the integrating factor of the differential equation :

( )3 2 0.ydx x x y dy+ + =

(C) Evaluate :

( ) ( )

3

2 6, 0, 0
lim .

x y

xy

x y→ +

(D) Evaluate :

1 1 1

0 0 0

.x y ze dx dy dz+ +∫ ∫ ∫
(E) Let T : R2 → R2 be the linear transformation given by :

T(x, y) = (2x – y, –8x + 4y)

(i) Is (1, –4) ∈ R(T) ?

(ii) Is (3, 2) ∈ Ker(T) ?
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(F) For which value of k will the vector (1, –2, k) in R3

be a linear combination of the vectors (3, 0, –2) and

(2, 1, –5) ?

(G) If

2 2sin cos , , 1 ,x xf e y i e y j x t y t= + = = −

then find 
df

dt
.

(H) For any closed surface, prove that :

S

ˆcurl F · 0.nds =∫∫

2. (A) Attempt any one of the following : [6]

(a) Solve :

cos sin 2 .ndy
y x y x

dx
+ =

(b) For the family x2 + 3y2 = cy, find the member of

the orthogonal trajectories which passes through the

point (1, 2).
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(B) Attempt any two of the following : [10]

(a) Show that the function :

( )
2 2

2 2

2 2

, 0

,

0 , 0

xy
x y

x yf x y

x y

 + ≠ += 


+ =

is continuous at (0, 0) but not differentiable at (0, 0).

(b) Expand ex tan–1 y in powers of (x – 1) and (y – 1)

upto second degree terms.

(c) Divide the number 36 into three parts so that the continued

product of the first, square of the second and the cube

of the third may be maximum.

3. (A) Attempt any one of the following : [8]

(a) Solve the equation :

2

2

3
2

1 x

d y dy
y

dxdx e
+ − =

−

by using the method of variation of parameters.

(b) If

1/21 3 1 3
1

1 2 1 2
sin ,

x y
u

x y

−  +
=  

+ 

then show that :

( )
2 2 2

2 2 2
2 2

tan
2 13 tan .

144

u u u u
x xy y u

x yx y

∂ ∂ ∂
+ + = +

∂ ∂∂ ∂
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(B) Attempt any one of the following : [8]

(a) Consider the linear transformation T : P2 → P2 for which

T(1) = 1 + x, T(x) = 3 – x2, T(x2) = 4 + 2x – 3x2.

Find the formula for T(a0 + a1x + a2x2) and use this

formula to find T(2 – 2x – 3x2). Find a matrix of T

with respect to the basis :

( ) ( ){ }
2

2
2

0

2, 1 , 1 · P | .i
i i

i

x x a x a

=

    + + = ∈ 
    

∑ R

(b) Verify Green’s theorem in the plane for :

( )2 2

C

,xy y dx x dy+ +∫�
where C is the closed curve of the region bounded by

y = x and y = x2.

4. (A) Attempt any one of the following : [6]

(a) Let T : R3 → R3 be a linear map with T(e1) = e2,

T(e2) = e3, T(e3) = 0. Then show that T ≠ 0,

T2 ≠ 0 but T3 = 0.

(b) Let P2 be the vector space with inner product :

( ) ( )
1

1

, .p q p x q x dx

−

= ∫
If p(x) = 1 and q(x) = x, show that p and q are orthogonal.

Further verify Pythagoras theorem.
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(B) Attempt any two of the following : [10]

(a) Show that the set B = {(3, 1, –4), (2, 5, 6), (1, 4, 8)}

is basis for R3.

(b) Find the basis and dimension of :

W = {(x, y, z, w)|x + 2y + 3z = 0}.

(c) Find eigenvalues of the matrix :

2 1 1

A 2 3 4 .

1 1 2

 
 
 =  
 
 − − − 

Also find eigenspace corresponding to the largest eigenvalue

of A.

5. (A) Attempt any one of the following : [6]

(a) Evaluate :

( ) ( )2 2 2 2

C

·x y i x y j dr + + − ∫

along the following paths :

(i) The parabola y2 = x.

(ii) The straight line from (0, 0) to (1, 1).
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(b) Using Stokes’ theorem prove that :

( )
C

sin cos sin 2,z dx x dy y dz− + =∫
where C is the boundary of the rectangle 0 ≤ x ≤ π,

0 ≤ y ≤ 1, z = 3.

(B) Attempt any two of the following : [10]

(a) Find the directional derivative of the function :

φ(x, y, z) = y2 + z2 + x2

along the tangent to the curve x = t, y = t2, z = t3

at the point (1, 1, 1).

(b) Show that the vector field :

( ) ( ) ( )3 2 22 3f xy z i x j xz k= + + +

is conservative and find the scalar potential associated

with f .

(c) Find the equation of the tangent line and normal plane

to the curve :

( ) ( )2 32 1r t i t j t k= + − + +

at the point t = 1.
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MS-2 (a) Combinatorics and Computational Geometry

1. Answer each of the following questions : [16]

(a) Find the number of ordered pairs (x, y) of positive integers

such that :

4x y+ ≤ .

(b)

1 2 3A { , , ,.........., }na a a a=

 and 

1 2B { , }b b=

. Find the number of

onto functions that can be defined from A to B.

(c) Solve the recurrence relation :

1 1, 1
nn aa n a
−

= =

.

(d) How many integers between 1 and 567 are divisible by either

3 or 5 ?

P.T.O.
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(e) Give two different parametric representations of the circle :

( 3) ( 4) 25

.

(f) If the triangle ABC is reflected to the new triangle A'B'C'

by the reflection about the line y = x. Obtain the new vertices

A', B', C' of the triangle if the vertices are :

A = [1, 5], B = [3, 4] and C = [2, 3].

(g) If the triangle ABC with vertices A [1, 0], B [0, 0], C [0, 2]

is transformed by :

3 2
[T]

1 2

 
=  − 

to a new triangle A'B'C'. Find the area of a new triangle A'B'C'.

(h) Write the matrix of rotation by an angle φ about the y-axis

in three dimension and find its effect on A = [1, 0, 0].

2. (a) Answer any one of the following questions : [6]

(i) Show that the number of r-permutations of a set S containing

n different objects is given by :

( 1) ( 2)......( 1)n n n n r− − − + .

(ii) Give a combinatorial proof of the identity :

r

.
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(b) Answer any two of the following questions : [10]

(i) Find the number of integer solutions of 1 2 3 24x x x+ + =

subject to the conditions :

11 5,x≤ ≤

 

212 18,x≤ ≤

 

31 12x− ≤ ≤

.

(ii) Solve the recurrence relation :

1 23 4n n na a a− −= +

 for 

2n ≥

 and 

0 1 1a a= =

.

(iii) Show that given any set of 7 distinct integers, there must

exist 2 integers in this set whose sum or difference is

divisible by 10.

3. (a) Answer any one of the following questions : [8]

(i) Suppose there are n objects, of which n1 are identical

of first type, n2 are identical of second type,........, nk are

identical of kth type so that :

1 2 ........ kn n n n= + + +

.

Then, show that the number of permutations of these n

objects, taken all at a time, denoted by 

1 2P ( ; , ,......., )kn n n n

is given by :

 

1 2 11
1

1 2

.....
P ( ; ,......., ) ......

k
k

k

n n n nn n n
n n n

nn n

−− − − −−     
=     
     

1 2

!

! !..... !k

n

n n n
= .
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(ii) Let φ (n) denote Euler’s totient function. Prove that if :

21
1 2 ........ kee e

k
n p p p=

is the factorization of the positive integer n into distinct

primes pi and ei are positive integers, then φ (n) is given

by :

1 2

1 1 1
( ) 1 1 ..... 1

k

n n
p p p

    
φ = − − −    

     
.

(b) Answer any one of the following questions : [8]

(i) If a straight line with equation y mx c= +  is transformed

by using the transformation matrix 

[T]

, then obtain

the equation of the transformed line and hence or otherwise

Show that parallel lines get transformed to parallel lines.

(ii) Write an algorithm to generate uniformly spaced n points

on the ellipse :

2 2

2 2
1

x y

a b
+ = .

4. (a) Answer any one of the following questions : [6]

(i) Explain the method to rotate the triangle ABC about the

point (α, β) through an angle θ where :

A = [a1, a2], B = [b1, b2] and C = [c1, c2].
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(ii) Determine all the transformations in a plane which preserve

the angle between the two lines as well as the length

of any line segment.

(b) Answer any two of the following questions : [10]

(i) Generate uniformly space 3 points of the parabolic segment

2 4y x=  in the first quadrant for 1 4x≤ ≤ .

(ii) Apply the following transformation on the line segment

joining two points A = [1, 0], B = [0, 1]

(1) scaling in y-direction by 1/2

(2) scaling in x-direction by 2

(3) shearing in x-direction by 2 units and y-direction by

–2 units.

Does this transformation preserve the angle ?

(iii) Find the point at infinity for the lines 

1x y+ =

 and 

0x y+ =

.

5. (a) Answer any one of the following questions : [6]

(i) Explain the method to carry out the reflection of an object

through an arbitray plane in 3-dimensional space.

(ii) Write a short note on trimetric projections and dimetric

projections.
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(b) Answer any two of the following questions : [10]

(i) Obtain the concatenated transformation for the translation

in x, y, z directions by –1, –1, –1 units respectively followed

by 30º rotation about x-axis and 45º rotation about y-axis.

Apply it on [3, 2, 11].

(ii) If B0 [1, 1], B1 [2, 3], B2 [4, 3] and B3 [3, 1] are the vertices

of a Bezier polygon, then determine the coordinates of

the point P of the Bezier curve at which t = 1/2.

(iii) Find the cavalier projection with α = 45º and cabinet projection

with α = 30º of the object :

X

.
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[4101]-270

MS-2 (b) Graph Theory and Lattice Theory

1. Attempt the following : [16]

(i) Draw a connected graph that becomes disconnected when any

edge is removed from it.

(ii) Give an example of self-complementary graph.

(iii) Define Euler graph and give an example of non-Euler graph.

(iv) Define finite and infinite graphs.

(v) Define ideal of a lattice.

(vi) Prove that every chain is a lattice.

(vii) Draw the circuit represented by the function ( ') ( ' )a b a b∧ ∨ ∧ .

(viii) Give an example of non-distributive lattice.

2. (A) Attempt any one : [6]

(i) Define a tree, also prove that a graph with n vertices,

n – 1 edges and no circuits is connected.

(ii) Sketch all spanning trees of the following graph :

v1 v2

v3v5

v4

e1

e2

e3

e4

e5 e6
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(B) Attempt any two : [10]

(i) Prove that an arborescence is a tree in which every vertex
other than the root has an in-degree of exactly one.

(ii) Write adjacency matrix of the following graph :

     

v1 v6

v3v2

v4 e8

e3

v5

e6

e2

e7

e4

e5

e1

(iii) Find Hamiltonian circuit in the graph G.

v2
v8

v9

v10 v11

v16

v12

v13

v17

v18v19

v20

v14

v5

v15

v6

v1

v7

v3
v4

G
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3. (A) Attempt any one : [8]

(i) Prove that the set of circuit vectors corresponding to the

set of fundamental circuits with respect to any spanning

tree, forms a basis for the circuit subspace WΓ .

(ii) Find fundamental circuits and fundamental cut sets of the

graph G with respect to spanning tree T.

e1

v3

e6

e7

e5

e4

e3

e2

e8v1

v6

v2

v5

v4

G

v3

e6

e5

e3

e2

e8
v1

v2

v5

v4

v6

T
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(B) Attempt any one : [8]

(i) Prove that lattices isomorphic as posets are isomorphic

as algebras.

(ii) Put the function ( )x y z∧ ∨  in conjunctive normal form.

4. (A) Attempt any one : [6]

(i) Show that the poset X = {2, 3, 4, 6} of non-trivial factors

of 12 under divisibility is self dual.

(ii) Show that every convex sublattice of a lattice L is the

intersection of an ideal and a dual ideal.

(B) Attempt any two : [10]

(i) Prove that a lattice L is distributive iff :

   

a b c a b a c a b c

.

(ii) Show that union of two sublattices may not be sublattice.

(iii) Prove that any lattice can be imbedded into its ideal

lattice.

5. (A) Attempt any one : [6]

(i) Prove that Homomorphic image of a relatively complemented

lattice is relatively complemented.
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(ii) Draw the circuit which realises the function :

[( ') ( ' ( '))]a b d c a d c b∧ ∨ ∨ ∧ ∨ ∨ ∧

.

(B) Attempt any two : [10]

(i) If x has a complement in a distributive lattice L, then

prove that it has a relative complement in any interval

containing it.

(ii) Show that dual of lattice is a lattice.

(iii) DN form of a function f is :

( ' ) ( )x y z x y z∧ ∧ ∨ ∧ ∧

.

Find CN form (conjunctive normal form) of f '.
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1. Explain the following concepts in 50 words each (any two) : [10]

(1) Existential Quantifier

(2) Bound Variable

(3) Well Formed Formulae

(4) Proper Subset.

2. Answer any four of the following : [20]

(1) Symbolise the following propositions with the help of the symbols

given in brackets (any two) :

(a) Only executives have secretaries. (Ex, Sx)
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(b) No crow is white. (Cx, Wx)

(c) Sanskrit is an Indian language. (Lx, S)

(d) Some girls are both intelligent and beautiful.

(Gx, Ix, Bx)

(2) Symbolise the following propositions with the help of the symbols

given in brackets (any two) :

(a) Everything is attracted by everything. (Axy)

(b) Bad men never have friends. (Bx, Mx, Fxy)

(c) Only Ram loves Seeta.

(r : Ram, s : Seeta, Lxy : x loves y)

(d) Every dog has his day. (Dx : x is a dog,

Yx : x is a day,

Hxy : x has y)

(3) Explain the difference between Propositional Logic and

Predicate Logic.

(4) Write the revised rules of quantification in their symbolic

forms.

(5) Explain symmetry and transitivity as properties of dyadic

relation.
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(6) If A = {1, 2}, B = {1, 3, 5} and C = {2, 3, 5, 7}, then list

the elements of the following sets :

(a) C ∩ (A ∪ B)

(b) A ∩ (B ∩ C)

(c) B ∪ C

(d) (A ∩ B) ∩ (A ∪ B)

(e) (A ∪ B) ∩ ~(A ∩ B).

3. Answer any three of the following : [30]

(1) Prove the validity of any two of the following :

(a) (X) (Hx ⊃ Mx)

Hs / ∴ Ms

(b) (X) (Mx ⊃ ~Px)

(X) (Hx ⊃ Mx)

/ ∴ (X) (Hx ⊃ ~Px)

(c) (X) (Dx ⊃ Gx)

(∃x) (Ax · Dx)

/ ∴ (∃x) (Ax · Gx)

(d) (X) (Bx ⊃ Sx)

(X) (Sx ⊃ ~Dx)

/ ∴ (X) (Dx ⊃ ~Bx)
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(2) Demonstrate the invalidity of the following arguments

(any two) :

(a) (X) (Ax ⊃ Bx)

Bc / ∴ Ac

(b) (X) (Hx ⊃ Ix)

(∃x) (Jx · Ix)

/ ∴ (X) (Hx ⊃ Jx)

(c) (X) (Ex ⊃ Fx)

(X) (Gx ⊃ Fx)

/ ∴ (X) (Ex ⊃ Gx)

(d) No kittens are large. Some mammals are large. Therefore,

no kittens are mammals. (Kx, Lx, Mx)

(3) Prove the validity of the following arguments (any two) :

(a) Enm

Ecn / ∴ Ecm

(b) (X) (Cax ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby

/ ∴ (∃x) Cax ⊃ (∃y) Dby

(c) (∃x) [Mx · (y) (My ⊃ Dyx)]

/ ∴ (∃x) (Mx · Dxx)

(d) (X) [Bx ⊃ (y) (Cy ⊃ Dxy)]

(∃x) [Bx · (∃y) ~Dxy]

/ ∴ (∃x) ~Cx
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(4) State the attributes of the relation of identity.

(5) What is propositional function ? Explain the two ways of obtaining

propositions from propositional function.

4. Answer any one of the following : [20]

(1) Explain fully the general characteristics of the Axiomatic

system P.M.

(2) Prove any four of the following theorems with the help of

the Axioms given below :

Axioms :

(1) (p ∨ p) ⊃ p

(2) q ⊃ (p ∨ q)

(3) (p ∨ q) ⊃ (q ∨ p)

(4) [p ∨ (q ∨ r)] ⊃ [q ∨ (p ∨ r)]

(5) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)]

Theorems :

(1) |—  (p ⊃ ~p) ⊃ ~p

(2) |—  p ⊃ ~~p

(3) |—  (p ⊃ ~q) ⊃ (q ⊃ ~p)

(4) |—  ~~p ⊃ p

(5) |—  (p ⊃ q) ⊃ (~q ⊃ ~p)

(6) |—  ~p ∨ p.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dkgh igkoh-

1- [kk«h« ladYiuk izR;sdh 50 ðkCnkar Li"V djk (dks.kR;kgh nksu) % [10]

(1) vfLrRonðkhZ la[;hdkjd (la[;kid)

(2) cº pj

(3) lq?kfVr lw=s

(4) ;qDr milap-

2- [kk«h«iSdh dks.kR;kgh pkjkaph mŸkjs nÓk % [20]

(1) dalkr fn«sY;k fpUgk aP;k lgk∏;kus [kk«h« fo/kkuk aps fpUgk adu djk

(dks.krhgh nksu) %

(v) QDr vf/kdkÚ;kaukp lgk∏;d vlrkr- (Ex, Sx)

(c) ,dgh dkoˇk ika<jk ulrks- (Cx, Wx)

(d) laLœr gh ,d Hkkjrh; Hkk"kk vkgs- (Lx, S)

(M) dkgh eq«h cqfºeku vkf.k lqanj nksUgh vlrkr- (Gx, Ix, Bx)
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(2) dalkr fn«sY;k fpUgk aP;k lgk∏;kus [kk«h« fo/kkuk aps fpUgk adu djk

(dks.krhgh nksu) %

(v) izR;sd xks"V izR;sd xks"VhdMwu vkdf"kZr gksrs- (Axy)

(c) okbZV ek.klkauk d/khgh fe= ulrkr- (Bx : {k okbZV vkgs,

Mx : {k ek.kwl vkgs,

Fxy : {k ; pk fe= vkgs)

(d) QDr jke lhrsoj izse djrks- (r : jke, s : lhrk,

Lxy : {k ; oj izse djrks)

(M) izR;sd dq´;k«k R;kpk fnol vlrks- (Dx : x is a dog,

Yx : x is a day,

Hxy : {k «k ; vkgs)

(3) fo/kkuh; rdZðkkL= vkf.k fo/ks; rdZðkkL= ;karh« Qjd Li"V djk-

(4) la[;hdj.kkP;k lq/kkfjr fu;ekaph lkadsfrd :is f«gk-

(5) f}Ro laca/kkps xq.k/keZ ;k ukR;kus leek=rk o izokfgrrk ;kaps Lo:i Li"V

djk-

(6) tj A = {1, 2}, B = {1, 3, 5} vkf.k C = {2, 3, 5, 7}, rj iq<h«

lapkrh« lnL;kaph ;knh djk %

(v) C ∩ (A ∪ B)

(c) A ∩ (B ∩ C)

(d) B ∪ C

(M) (A ∩ B) ∩ (A ∪ B)

(b) (A ∪ B) ∩ ~(A ∩ B).



[4101]-272 8

3- dks.kR;kgh frukaph mŸkjs f«gk % [30]

(1) [kk«h«iSdh dks.kR;kgh nksu ;qfDroknkaph oS/krk flº djk %

(v) (X) (Hx ⊃ Mx)

Hs / ∴ Ms

(c) (X) (Mx ⊃ ~Px)

(X) (Hx ⊃ Mx)

/ ∴ (X) (Hx ⊃ ~Px)

(d) (X) (Dx ⊃ Gx)

(∃x) (Ax · Dx)

/ ∴ (∃x) (Ax · Gx)

(M) (X) (Bx ⊃ Sx)

(X) (Sx ⊃ ~Dx)

/ ∴ (X) (Dx ⊃ ~Bx)

(2) [kk«h« ;qfDroknkaph v;qDrrk@voS/krk flº djk (dks.krsgh nksu) %

(v) (X) (Ax ⊃ Bx)

Bc / ∴ Ac

(c) (X) (Hx ⊃ Ix)

(∃x) (Jx · Ix)

/ ∴ (X) (Hx ⊃ Jx)
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(d) (X) (Ex ⊃ Fx)

(X) (Gx ⊃ Fx)

/ ∴ (X) (Ex ⊃ Gx)

(M) ,dgh ekatjkps fiY«w eksBs ulrs- dkgh lLru (izk.kh) eksBs vlrkr-

;ko:u] ,dgh ekatjkps fiY«w lLru (izk.kh) ulrs- (Kx, Lx, Mx)

(3) [kk«h« ;qfDroknkaph ;qDrrk@oS/krk flº djk (dks.krhgh nksu) %

(v) Enm

Ecn / ∴ Ecm

(c) (X) (Cax ⊃ Dxb)

(∃x) Dxb ⊃ (∃y) Dby

/ ∴ (∃x) Cax ⊃ (∃y) Dby

(d) (∃x) [Mx · (y) (My ⊃ Dyx)]

/ ∴ (∃x) (Mx · Dxx)

(M) (X) [Bx ⊃ (y) (Cy ⊃ Dxy)]

(∃x) [Bx · (∃y) ~Dxy]

/ ∴ (∃x) ~Cx

(4) rnsork laca/kkps xq.k/keZ lkaxk-

(5) fo/kkuh; Q«u Eg.kts dk; \ fo/kkuh; Q«ukiklwu fo/kkus feˇfo.;kps nksu

ekxZ Li"V djk-
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4- dks.kR;kgh ,dk izðukps mŸkjs f«gk % [20]

(1) ih- ,e~- chtkuqeku iz.kk«hps lkekU; xq.k/keZ lfoLrj Li"V djk-

(2) [kk«h fn«sY;k ew«k/kkjkaP;k lgk∏;kus R;ka[kk«h fn«sY;kaiSdh dks.krhgh pkj izes;s

flº djk %

ew«k/kkj %

(1) (p ∨ p) ⊃ p

(2) q ⊃ (p ∨ q)

(3) (p ∨ q) ⊃ (q ∨ p)

(4) [p ∨ (q ∨ r)] ⊃ [q ∨ (p ∨ r)]

(5) (q ⊃ r) ⊃ [(p ∨ q) ⊃ (p ∨ r)]

izes;s %

(1) |—  (p ⊃ ~p) ⊃ ~p

(2) |—  p ⊃ ~~p

(3) |—  (p ⊃ ~q) ⊃ (q ⊃ ~p)

(4) |—  ~~p ⊃ p

(5) |—  (p ⊃ q) ⊃ (~q ⊃ ~p)

(6) |—  ~p ∨ p.
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Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4101]-273

S.Y. B.A. EXAMINATION, 2012

SOCIOLOGY

Group A : Population and Society (G-2)

Or

     Group B : Introduction to Social Welfare and

 Social Legislation in India (G-2)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt Group ‘A’ or Group ‘B’.

(ii) All questions are compulsory.

(iii) Figures to the right indicate full marks.

lwpuk :— (i) xV ^v* fdaok xV ^c* lksMok-

(ii) loZ izðu lksMfo.ks vkoð;d vkgsr-

(iii) mtohdMh« vad iw.kZ xq.k n”kZforkr-

Group ‘A’

Population and Society (G-2)

1. Answer any two of the following in maximum 50 words each : [10]

(1) Meaning and definition of population studies.

(2) Types of Sterility.

(3) Characteristics of population in India.

(4) Means of Population Education.
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2. Write short notes on any four of the following in maximum

100 words each : [20]

(1) Factors of maternal mortality.

(2) Uses of registration method.

(3) Criticism of Demographic Transition Theory.

(4) Meaning and definition of Population Education.

(5) Pre-Independence Population Policy.

(6) Failures of Family Planning Programme.

3. Write any three of the following in maximum 250 words

each : [30]

(1) Explain the scope of population studies.

(2) Discuss the types of migration.

(3) Describe the uses and importance of census.

(4) Explain the achievements of family planning programme.

(5) Discuss the types of population policy.

4. Answer any one of the following in maximum 500 words : [20]

(1) Define fertility. Explain the factors of fertility.

(2) Examine the relation between population growth and economic

development as a two-way process.
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(ejkBh :ikarj)

xV ^v*

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(1) «ksdla[;k vH;klkph vFkZ vkf.k O;k[;k-

(2) oa/;Rokps izdkj-

(3) Hkkjrkrh« «ksdla[;kph oSfðk"VÓs-

(4) «ksdla[;k fðk{k.kkph lk/kus-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) ekrk e`R;qps ?kVd-

(2) uksan.kh iºrhps mi;ksx-

(3) «ksdla[;k laÿe.k fln~/kkarkps fVdkRed ijh{k.k-

(4) «ksdla[;k fðk{k.kkpk vFkZ vkf.k O;k[;k-

(5) Lokra´;iwoZ dkˇkrh« «ksdla[;k /kksj.k-

(6) dqVqacfu;kstu dk;Zÿekps vi;ðk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh dek« 250 ðkCnkar f«gk % [30]

(1) «ksdla[;k vH;klkph O;kIrh Li"V djk-

(2) LFk«karjkP;k izdkjkaph ppkZ djk-

(3) txx.kusps mi;ksx vkf.k egRokps o.kZu djk-

(4) dqVqacfu;kstu dk;Zÿekps ;ðk Li"V djk-

(5) «ksdla[;k /kksj.kkP;k izdkjkph ppkZ djk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) tuukph O;k[;k f«gk- tuu{kersps ?kVd Li"V djk-

(2) «ksdla[;k ok< vkf.k vkfFkZd fodkl gh nqgsjh izfÿ;k ;krh« laca/kkps

ifj{k.k djk-

OR

(fdaok)

Group ‘B’

Introduction to Social Welfare and

Social Legislation in India (G-2)

1. Answer any two of the following in maximum 50 words each : [10]

(1) Problems of mentally retarted children.

(2) Problems of Voluntry Retirement in Services (V.R.S.).

(3) Need of Minimum Wage Act.

(4) Problem of Dowry.

2. Write short notes on any four of the following in maximum

100 words each : [20]

(1) Objectives of EGS.

(2) Maternity Benefit Act.
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(3) Objectives of Mid-Day Meal Scheme.

(4) Meaning of Sustainable Development.

(5) Main provisions of Domestic Violence Act, 2005.

(6) Features of Indira Awas Yojana.

3. Answer any three of the following in maximum 250 words

each : [30]

(1) Elaborate socio-economic problems of the aged.

(2) State the meaning and features of privatization.

(3) Discuss the Fundamental Rights from Indian Constitution.

(4) Elucidate the constitutional provisions to safeguard the interest

of SCs and STs.

(5) State the objectives and provisions of Prime Minister’s

Employment Programme.

4. Answer any one of the following in maximum 500 words : [20]

(1) What is social welfare ? What are its characteristics ? Explain

how is the modern concept of social welfare is different from

traditional Dana based social welfare.

(2) What is NGO ? What are the strengths and limitations of

NGOs in doing social welfare ?
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(ejkBh :ikarj)

xV ^c*

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(1) efrean eq«kaP;k leL;k-

(2) LosPNk lsokfuo`ŸkhP;k leL;k-

(3) fdeku osru dk;|kph xjt-

(4) gqaMÓkph leL;k-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) jkstxkj geh ;kstusph mfÌ"VÓs-

(2) ekr`Ro «kHkkapk dk;nk-

(3) e/;kUg vkgkj ;kstusph mfÌ"VÓs-

(4) ðkkðor fodklkpk vFkZ-

(5) dkSVwafcd fgalkpkjkpk dk;nk] 2005 e/kh« rjrqnh-

(6) bafnjk vkokl ;kstusph (?kjdw«) oSfðk"VÓs-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh dek« 250 ðkCnkar f«gk % [30]

(1) o`ºkaP;k lkekftd lkaLœfrd leL;k foðkn djk-

(2) [kktxhdj.kkpk vFkZ o oSfðk"VÓs Li"V djk-

(3) Hkkjrh; jkT;?kVusrh« ew«Hkwr gDdkaph ppkZ djk-
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(4) vuqlwfpr tkrhtekrhaP;k fgrlaca/kkaps j{k.k dj.;kP;k ?kVukRed rjrqnh foðkn

djk-

(5) iariz/kku jkstxkj ;kstusph mfÌ"VÓs o rjrqnh Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj dek« 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) lkekftd dY;k.k Eg.kts dk; \ lkekftd dY;k.kkph oSfðk"VÓs dks.krh \

nku vk/kkfjr lkekftd dY;k.kkis{kk vk/kqfud lkekftd dY;k.kkph ladYiuk

osxˇh dðkh vkgs rs Li"V djk-

(2) fcxj ðkkldh; la?kVuk (NGO) Eg.kts dk; \ fcxj ðkkldh; la?kVukaph

c«L;kus o e;kZnk dks.kR;k \



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-274

S.Y. B.A. EXAMINATION, 2012

SOCIOLOGY

(S-1 : Foundations of Sociological Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any two of the following in maximum 50 words each : [10]

(i) Characteristics of Conflict

(ii) Theory of Untouchability (B.R. Ambedkar)

(iii) Characteristics of social thoughts

(iv) Sanskritization (Srinivas)

2. Write short notes on any four of the following in maximum

100 words each : [20]

(i) Enlightenment

(ii) Types of Authority (Weber)

(iii) Functional theory

P.T.O.
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(iv) Social impacts of French Revolution.

(v) Social evolution

(vi) Class conflict (Karl Marx)

3. Answer any three of the following in maximum 250 words each : [30]

(i) Describe the concept of Alienation.

(ii) Distinguish between Militant and Industrial Society.

(iii) Explain the concept of Dominant Caste. (Srinivas)

(iv) Elaborate the characteristics of Caste System.

(v) Explain the types of Social Action.

4. Answer any one of the following in maximum 500 words : [20]

(i) Discuss the law of three stages as explained by Auguste Comte.

(ii) Discuss Durkheim’s Theory of Suicide.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r f«gk %  [10]

(i) la?k"kkZph oSfðk"VÓs-
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(ii) vLi`ð;rspk flºkUr (MkW- vkacsMdj)-

(iii) lkekftd fopkjkaph oSfðk"VÓs-

(iv) laLœrhdj.k (Jhfuokl)-

2. [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r mŸkjs f«gk % [20]

(i) izcks/ku

(ii) vf/kdkjkaps izdkj (oscj)

(iii) izdk;Zoknh flºkUr

(iv) ›sap jkT;ÿkarhps lkekftd ifj.kke

(v) lkekftd mRÿkarh

(vi) oxZla?k"kZ (dk«Z ekDlZ)

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 250 ðkCnkai;±r mŸkjs f«gk % [30]

(i) ijkRerk ;k ladYiusps o.kZu djk-

(ii) lSfudh lekt o vkS|ksfxd lekt ;krh« Hksn Li"V djk-

(iii) izcˇ tkrh gh ladYiuk Li"V djk- (Jhfuokl)

(iv) tkrhO;oLFksP;k oSfðk"VÓkaps foospu djk-

(v) lkekftd œrhaps izdkj Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukoj 500 ðkCnkai;±r mŸkjs f«gk % [20]

(i) vkWxLV dkWEVuh Li"V ds«sY;k rhu voLFkkaP;k fu;ekph ppkZ djk-

(ii) Mj[kkbZeP;k vkRegRFksP;k flºkUrkph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-275

S.Y. B.A. EXAMINATION, 2012

SOCIOLOGY

Special Paper II

(S-2 : Indian Society : Issues and Problems)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words

each : [10]

(1) Characteristics of Social Problems

(2) Causes of Regionalism

(3) Displacement due to Dams

(4) Causes of Alcoholism.

2. Write short notes on any four of the following in maximum 100

words each : [20]

(1) Causes of Dowry

(2) Consequences of Domestic Violence

(3) Problems of Scheduled Castes

(4) Problems of Scheduled Tribes

(5) Causes of White-collar Crime

(6) Consequences of Corruption.

P.T.O.
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3. Answer any three of the following in maximum 250 words

each : [30]

(1) Describe problems of Minority groups.

(2) Explain the problems of youth.

(3) Discuss causes of Juvenile Delinquency.

(4) Elucidate consequences of Divorce.

(5) Explain nature of Eveteasing and Sexual Abuse.

4. Answer any one of the following in maximum 500 words

each : [20]

(1) Define poverty and elucidate causes and consequences of

poverty.

(2) Define Terrorism and discuss nature and causes of

Terrorism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh nksgksaph izR;sdh 50 ðkCnkar mŸkjs f«gk %  [10]

(1) lkekftd leL;kaph oSfðk"VÓs

(2) izknsfðkdrkoknkph dkj.ks

(3) /kj.kklkBh >k«s«s foLFkkiu

(4) e|ikukph dkj.ks-

2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh dek« 100 ðkCnkar Vhik f«gk %  [20]

(1) gqaMÓkph dkj.ks

(2) dkSVwafcd fgalkpkjkps ifj.kke
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(3) vuqlwfpr tkrhaP;k leL;k

(4) vuqlwfpr tekrhaP;k leL;k

(5) ika<jisðkkxqUgÓkaph dkj.ks

(6) Hkz"Vkpkjkps ifj.kke-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk %  [30]

(1) vYila[;kd leqgkP;k leL;kaps o.kZu djk-

(2) ;qodkaP;k leL;k Li"V djk-

(3) ck«xqUgsxkjhP;k dkj.kkaph ppkZ djk-

(4) ?kVLQksVkps ifj.kke foðkn djk-

(5) efg«kaph NsMNkM o «Safxd Nˇkps Lo:i Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukpk dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) nkfjÊÓkph O;k[;k |k vkf.k nkfjÊÓkph dkj.ks o ifj.kke foðkn djk-

(2) ngðkroknkph O;k[;k |k vkf.k ngðkroknkP;k Lo:i o dkj.kkaph ppkZ

djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

[4101]-276

S.Y. B.A. EXAMINATION, 2012

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper II

[Outline of Political, Social and Economic Institutions of

Ancient India (600 B.C. to 1200 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each  (any two) : [10]

(1) Monarchical State.

(2) Vidatha.

(3) Types of Ancient Courts.

(4) Punchmarked Coins.

2. Write notes on the following in 100 words each (any four) : [20]

(1) Concept of Kingship during Kushana Period.

(2) Ancient Indian Judiciary.

P.T.O.

Seat

No.
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(3) Nature of education in Ancient Indian Universities.

(4) Importance of Ashrama System in Ancient Period.

(5) Ancient Indian Weights.

(6) Coins from the Satavahana period.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(1) Discuss the literary sources useful for the study of Ancient

Indian Political, Economic and Social Institutions.

(2) Describe the system of functioning of Sabha.

(3) State the factors responsible for the decline of Ganarajyas

(Republics).

(4) Explain the nature of Ancient Indian Agriculture.

(5) Describe the trade relations between Ancient Indian and South-

East Asia.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the nature and significance of Ministry in ancient

India.

(2) Discuss the types of marriages in ancient period.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(1) jktsðkkgh jkT;-

(2) fon~Fk-

(3) izkphu U;k;k«;kaps izdkj-

(4) vkgr uk.kh-

2. [kkyhyiSdh izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(1) dqðkkudk«hu jktin ladYiuk-

(2) izkphu Hkkjrh; U;k;O;oLFkk-

(3) izkphu Hkkjrh; fo|kihBkrh« fðk{k.kkps Lo:i-

(4) izkphu dkˇkrh« vkJeO;oLFksps egRo-

(5) izkphu Hkkjrh; otus-

(6) lkrokgu dkˇkrh« uk.kh-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) izkphu Hkkjrh; jktdh;] vkfFkZd o lkekftd laLFkkP;k vH;klkl mi;qDr

vl.kkÚ;k ok≥~e;hu lk/kukaph ppkZ djk-
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(2) lHksph dk;Ziºrh o.kZu djk-

(3) x.kjkT;kaP;k foukðkkl dkj.khHkwr >k«s«s ?kVd lkaxk-

(4) izkphu Hkkjrh; ðksrhps Lo:i foðkn djk-

(5) izkphu Hkkjr o vkXus; vkfðk;k ;kaP;krh« O;kikjh laca/k o.kZu djk-

4. [kk«h«iSdh dks.krkgh ,dk iz'ukpk mŸkj 500 ðkCnkar f«gk % [20]

(1) izkphu Hkkjrkrh« ea=heaMˇkps Lo:i o egRo foðkn djk-

(2) izkphu dkˇkrh« fookg izdkjkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—3

[4101]-277

S.Y. B.A. EXAMINATION, 2012

MATHEMATICAL PREREQUISITES

(Mathematics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of calculator is allowed.

1. Attempt any ten of the following : [20]

(1) Find :

43 log 64

(2) Find x if =5log 3x

(3) Define homogenous function.

(4) If y = e7x, then find 
dy

dx
.

(5) Define improper integral.

(6) Find zx if z = xy + y3.

(7) What is degree and order of 

5 83

3
0

d y dy

dxdx

   + =     
 ?

P.T.O.

Seat

No.
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(8) Evaluate :

4( 5)x dx+∫ .

(9) Solve :

1

2

1

( 1)x dx

−

+∫ .

(10) Define integrating factor.

(11) Show that f(x, y) = x2y + y3 is homogenous.

(12) Verify that 

2 0

0 2

( 5) ( 5)x dx x dx+ = − +∫ ∫ .

(13) Write =loga x b in exponential form.

2. Solve any two of the following : [10]

(1) Given a principal of Rs. 1,000 at 6 percent for three years,

use logs to find the future value S when the principal is

compounded annually.

(2) Solve :

2 410 ( 3)x x dx+∫
by method of substitution.

(3) Find integrating factor of 2(7 4 ) 4 0y t dy tydt+ + = .
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3. Attempt any two of the following : [20]

(1) What interest rate is needed to have money treble in ten

years when compounded quarterly ?

(2) Examine the function = − +2log ( 6 10)y x x  for extreme values.

(3) Explain exact differential equation.

4. Solve any two of the following : [30]

(1) Explain Bernoulli’s differential equation and solve :

3dy
y ty

dt
+ = .

(2) Discuss in detail ‘COBWEB MODEL’.

(3) Solve :

( )

5

2

2

3

1

x
dx

x +∫ .

by integration by parts.

Also evaluate :

16

1/ 2

0

( 3 )x x dx− +∫ .
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1. Attempt any two of the following : [2×5=10]

(a) Explain ratio and regression methods of estimation. Give a

real life situation where each method is applicable.

(b) What do you mean by saying that a production process is

under statistical control ? Explain the necessity of constructing

both R and X  charts.

P.T.O.
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(c) Derive and expression for Average Outgoing Quality (AOQ) in

case of Single Sampling Plan (SSP).

(d) A population consists of 12 units with the following values :

15 18 20 16 15 21

34 26 49 18 20 26

Draw all systematic samples of size 4 from the above population,

explaining the procedure clearly. Verify that sample mean is

an unbiased estimator of population mean.

2. Attempt any four of the following : [4×5=20]

(a) In a stratified random sampling with two strata, the following

data are available :

Stratum Wi Si

1 0.6 2

2 0.4 4

Compute sample sizes under Neyman’s allocation, if the total

sample size is 1600.

(b) Write a note on sampling and non-sampling error with an

illustration.
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(c) What is questionnaire ? What are the characteristics of a good

questionnaire ?

(d) Explain the constructions of R and X  charts, when standards

are unknown.

(e) Distinguish between a defect and defective. Describe the

construction and interpretation of C-chart.

(f) Describe the various measurement scales.

3. Attempt any three of the following : [3×10=30]

(a) (i) Consider stratified sampling with the cost function of the

form c = c0 + Σnici. Derive an expression for sample size

(ni) so as to minimise variance of sample mean for fixed

total cost. [7]

(ii) Write a note on ‘high’ and ‘low’ spots. [3]

(b) (i) A population consists of 500 units. By total count it was

found that X  = 49 and S2 = 44.6. How many sampling

units must be selected to estimate population mean

with permissible margin of error 10% of the true

population mean and 95% confidence coefficient ? Assume

SRSWOR. [5]

(ii) What is SQC ? Describe its uses. [5]
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(c) Describe all four methods of constructing p-chart, when the

subgroup sizes are different. [10]

(d) (i) Write a note on assignable causes and chance causes of

variation. [5]

(ii) Give theoretical justification for use of 3σ control limits

on control charts. [5]

(e) (i) Eight samples of sizes 100 each are drawn from a production

process and the following data are recorded :

Subgroup No. No. of Defective Items

1 2

2 1

3 1

4 9

5 0

6 0

7 1

8 2

Find 3-σ control limits on p-chart. State whether the

production process is under statistical control. (Drawing

the chart is not expected). [7]

(ii) Write a note on ‘Producer’s risk’. [3]



[4101]-278 5 P.T.O.

4. Attempt any one of the following : [1×20=20]

(a) (i) Ten subgroups of size 5 each are inspected, it has been

found that ΣXi = 40 and ΣRi = 0.8. Calculate control limits

on R-chart.

Assuming that R-chart shows controlled situation, calculate

control limits on X -chart.

[For n = 5, D3 = 0, D4 = 2.115, A2 = 0.577 and

d2 = 2.326]. [8]

(ii) Describe the construction of operating characteristics (OC)

curve in case of double sampling plan. [7]

(iii) Compute probability of accepting a lot if the incoming

quality is 0.1 under single sampling plan with n = 10 and

c = 2. Use Binomial distribution. [5]

(b) (i) Describe the working of Double Sampling Plan (DSP). Obtain

an expression for average sample number in case of

DSP. [8]

(ii) Describe the features of good research design. [7]

(iii) Describe the terms ‘AQL’ and ‘LTPD’ in acceptance sampling

plan. [5]
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1. Attempt any two of the following : [2×5=10]

(a) Define gamma variate with parameters α and λ. Find its m.g.f.

(b) If X is a continuous random variable (r.v.) with p.d.f. :

f(x) = 3 (1 – x)2 0 ≤ x ≤ 1,

   = 0 otherwise.

Find the p.d.f. of Y = – log (1 – x).

(c) Define Student’s t-distribution with n degrees of freedom (d.f.).

Obtain variance of t-distribution.

(d) Describe the test procedure for testing H0 : ρ = 0 against

H1 : ρ ≠ 0 at 5% level of significance.
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2. Attempt any four of the following : [4×5=20]

(a) The joint p.d.f. of (X, Y) is :

f(x, y) = e–y ; 0 < x < y < ∞

     = 0 ; otherwise.

Find marginal probability distributions of X and Y. Are X and

Y independent ? Justify.

(b) If X → N(0, 1), then show that Y = X2 follows Chi-square

distribution with one (d.f.).

(c) Define the following terms :

(i) Statistic

(ii) Standard Error (S.E.) of statistic

(iii) GFR.

(d) State and prove lack of memory property of exponential distribution

with parameter (α).

(e) The following is the information of certain town of malaria

cases. Test whether the vaccination is effective to control the

said disease. Use 5% l.o.s.

Vaccinated Not-Vaccinated

Affected 03 22

Not affected 52 23
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(f) The samples were drawn from two independent normal popu-

lation with unknown mean. The related information is given

below :

Sample No. Sample Size ∑Xi ∑ 2Xi

I 9 9.6 61.52

II 11 16.5 73.26

Test whether two population have equal variances. [Use 5% l.o.s.].

3. Attempt any three of the following : [3×10=30]

(a) Let X be a binomial variate with parameters n and p. Find

the m.g.f.

X
Y

np

npq

−
=

Hence find limiting distribution of Y as n → ∞.

(b) The joint p.d.f. of (X, Y) is :

f(x, y) = 3 (x + y) , 0 < x : y < 1, and 0 < x + y < 1,

     = 0 , otherwise.

Obtain the conditional p.d.f. of Y given X = x and X given

Y = y.

(c) Define Snedecor’s F-distribution with n1 and n2 d.f. Derive

its p.d.f.

(d) Let X1, X2, X3 ......... Xn be a random sample from N(µ,σ2)

then show that

X  and  ( )
22 1

S ix x
n

= −∑
are independently distributed. Also identify their distributions.
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(e) If X and Y are two independent Chi-square variates with

n1 and n2 d.f. respectively.

Show that U = X + Y and

       
X

V =
X + Y

are independent.

4. Attempt any one of the following : [1×20=20]

(a) (i) The gain in weights (kg) of pigs before and after a certain

treatment are as below :

Weight before Weight after

20 25

23 28

24 21

21 29

26 32

28 25

20 25

21 29

Test whether the mean weight of pig increases due to

the treatment. Use α = 0.01. (7)
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(ii) Let X follows Chi-square distribution with n degrees of

freedom, with usual notations, prove that :

µr+1 = 2r. [nµr–1 + µr] for r = 1, 2, 3, ..............

Hence obtain variance of X. (7)

(iii) Calculate GFR, TFR and GRR for the following

data :

Age Group No. of Women No. of Births

(in thousands)

15—20 8 560

20—25 10 1000

25—30 12 840

30—35 6 360

35—40 3 150

40—45 5 50

45—50 4 40

Consider proportion of female births is 0.58. (6)

(b) (i) Among 64 offsprings of a certain cross between

guinea pigs 34 were red, 10 were black and

20 were white. According to a genetic model, these
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numbers should in the ratio 9 : 3 : 4. Does the

data consistent with the model. Test at 5% level  of

significance. (7)

(ii) Let X → N (µ, σ2). Obtain m.g.f. and c.g.f. of X. Hence

find mean and variance of X. (7)

(iii) If a random sample of size 25 drawn from normal

(5, 9), calculate :

   P(3.8 ≤ X  ≤ 5.6, 5.637 ≤ S2 ≤ 11.951)

where X  and S2 are the mean and variance of the sample

respectively. (6)
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1. Attempt each of the following questions : [16]

(a) Find the first partial derivative of the function :

log ( cos )u x y= + .

(b) Find the extreme point of the function :

2 2( , ) 3 ( 1) ( 3) 1f x y x y y y= − + − +

..

(c) If :

( / )u xy f x y= ,

then show that :

2
u u

x y u
x y

∂ ∂
+ =

∂ ∂

P.T.O.
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(d) Evaluate :

2

0 0

2 2

.

a xa

x y dy dx

−

∫ ∫

(e) For the curve :

cos , sin , 2,x t y t z= = =

show that parameter t represents an arc length.

(f) If 

a

 is a constant vector, then show that :

( . )r a a∇ =

(g) Find grad φ ; where :

at the point (1, –2, 1)

(h) If :

2 2F (3 6 ) 14 20x y i yz j xz k= + − +

then evaluate :

C

F . dr∫

from (0, 0, 0) to (1, 1, 1) along the path :

2 3, , .x t y t z t= = =
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2. (A) Attempt any one of the following : [6]

(a) Prove that if a function f(x, y) is differentiable at (a, b),

then fx(a, b) and fy (a, b) exist and f is continuous at

(a, b).

(b) State and prove Euler’s theorem for homogeneous function.

(B) Attempt any two of the following : [10]

(a) Show that the function :

( , ) | |f x y x y=

is not differentiable at (0, 0) even though fx(0, 0),

fy (0, 0) exists.

(b) If W = f(u, v), where :

,x y x yu e e v e e− −= + = − ,

show that :

w w w w
u v

x y u v

∂ ∂ ∂ ∂
− = −

∂ ∂ ∂ ∂

(c) Find the area of an ellipse :

2 2

2 2
1

x y

a b
+ = .
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3. (A) Attempt any one of the following : [8]

(a) Evaluate :

R

;

x y

x ye dxdy

−
+∫∫

where R is a region bounded by the lines x = 0,

y = 0, x + y = 1.

(b) By using Taylor’s theorem, expand xy in powers of

(x – 1) and (y – 1) upto third degree terms, hence find

the value of (1.1)1.02.

(B) Attempt any one of the following : [8]

(a) If F( )t  is differentiable at to, then it is continuous at

to. Show that :

2
2sin 1

F( ) , 0

2 , 0

tt e
t i j t k t

t t

i j t

−
= + − ≠

= + =

is continuous at t = 0.

(b) Find the directional derivative of the function :

2 2( , , ) = 2x y z xy yz zxφ + +

along the tangent to the curve :

2 3, ,x t y t z t= = =

at the point (1, 1, 1).
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4. (A) Attempt any one of the following : [6]

(a) If ( , , )x y zφ  is a scalar function which possesses

continuous second order partial derivatives, then prove

that :

( ) 0∇ × ∇ φ =

(b) If a vector field F  is the gradient of a single valued

scalar field φ  in a region of space, then show that the

line integral of 

F

 around any closed path C in the region

is zero.

(B) Attempt any two of the following : [10]

(a) Find :

1

r

 ∇  
 

;

where :

r xi y j zk= + +  and | |r r=

(b) Find the acute angle between the tangents to the

curve :

2 21
2

2
r t i t j t k= + −

  at the point t = 1 and t = – 3.
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(c) In what direction from the point (2, 1, – 2) is the directional

derivative of :

2 3 32 3x y xz− +

is maximum ? What is its magnitude ?

5. (A) Attempt any one of the following : [6]

(a) Prove that the vector field :

3 2 2 2F (2 6 ) (6 2 ) (3 )xz y i x yz j x z y k= + + − + −

is irrotational. Find the scalar potential φ such that F = grad .φ

(b) Evaluate :

C

( 1)yzdx zx dy xydz+ + +∫

where C is any path from (1, 0, 0) to (2, 1, 4).

(B) Attempt any two of the following : [10]

(a) Evaluate by using Green’s theorem :

2 2

C

(2 ) ( )xy x dx x y dy− + +∫�

where C is the closed curve of the region bounded by

y = x2 and y2 = x.
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(b) Evaluate 

s

ˆF . S;n d∫∫  where :

F 18 12 3zi j y k= − +

and S is the part of the plane :

2 3 6 12x y z+ + =

which is located in

0, 0, 0.x y z≥ ≥ ≥

(c) Evaluate by using Stokes’ theorem :

C

( 2 );xe dx ydy dz+ −∫
where C is the curve :

2 2 4; 2.x y z+ = =
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1. Attempt any two of the following : [2×5=10]

(a) Explain the following terms :

(i) sample space,

(ii) an event

(iii) mutually exclusive events.

P.T.O.
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(b) In how many ways can 7 text-books and 2 reference books

be arranged in a row of shelf so that :

(i) Two reference books are side by side,

(ii) Two reference books are not side by side.

(c) (i) Give classical definition of probability.

(ii) Discuss the limitations of classical definition of probability.

(iii) State the axioms of probability.

(d) (i) State the formula of finding index number by weighted

A.M. of price relatives.

(ii) The price index number for year 2009 calculated using

Laspeyre and Paasche’s formula is given by 112.5 and 129.2

respectively. Compute the price index number by Fisher

and Dorbish Bowley’s formula.

2. Attempt any four of the following : [4×5=20]

(a) Explain the following components of time series :

(i) Secular Trend

(ii) Cyclical variations. [5]

(b) Define discrete uniform distribution and state its mean and

standard deviation. Also give any two real life situations, where

the uniform distribution is applicable. [5]
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(c) One card is drawn from a full pack of playing cards. Three

events A, B and C are defined as follows :

A : A black card is drawn,

B : A spade card is drawn,

C : Ace of spade is drawn.

Check whether the events A, B, C are :

(i) prirwise independent,

(ii) complete independent. [5]

(d) (i) State the probability mass function (p.m.f.), mean and variance

of Poisson distribution.

(ii) Give one real life situation where Poisson distribution is

applicable.

(iii) State the additive property of Poisson distribution. [5]

(e) (i) State any two practical situations where multiple regression

can be used.

(ii) Distinguish between multiple correlation and partial correlation

in case of trivariate data. [5]

(f) What are index numbers ? Discuss the utility of index

numbers. [5]
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3. Attempt any three of the following : [3×10=30]

(a) For two-dimensional discrete random variable (X, Y) define :

(i) probability mass function of (X, Y),

(ii) marginal probability distributions of X and Y,

(iii) conditional probability distribution of X given Y = y,

(iv) conditional mean of X given Y = y,

(v) conditional variance of X given Y = y. [10]

(b) (i) The p.m.f. of a random variable X is :

2
( ) , 1, 2,......

( 1)

0 otherwise

x
p x x n

n n
= =

+

= .

Find E(X) and E(X2). [5]

(ii) An insurance agent insures the lives of 5 men, all of them

of the same age and in good health. The probability that

a man will survive the next 30 years is known to be

0.65. Find the probability that in the next 30 years :

(I) At least one man will survive.

(II) At most three men will survive. [5]



[4101]-281 5 P.T.O.

(c) The joint distribution of (X, Y) is given below :

 X    Y –1 1 2

–2 2c 0 c

1 0 2c 3c

3 3c c 0

Find :

(i) the value of c,

(ii) P (XY is odd),

(iii) P (X > 0|Y is odd),

(iv) E(X) and E(Y). [10]

(d) The mean, standard deviation and correlation coefficients for

three characteristics X1, X2 and X3 are given below :

1 1 12X 100.5 , 25 , 0.6r= σ = =

2 2 23X 80 , 40 , 0.7r= σ = =

3 3 13X 65.5 , 12 , 0.65r= σ = =

(i) Obtain the equation of plane of regression of X1 on X2

and X3.

(ii) Estimate X1 when X2 = 70 and X3 = 72. [10]

(e) (i) Define :

(I) Discrete random variable (r.v.) and give one illustration

of it.

(II) Expectation of a discrete r.v.

(III) Variance of a discrete r.v. [5]
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(ii) If X and Y are two discrete random variables with

σX = 5, σY = 4 and cov (X, Y) = 14, then compute :

(I) V (3X + 2Y).

(II) Corr (X, Y).

(III) Corr (2X + 3, 3Y – 4). [5]

4. Attempt any one of the following : [1×20=20]

(a) (i) The data given below are the average quarterly prices of

a certain variety of pulses (in Rs.) for different years.

Compute seasonal indices by simple average method for

these data :

Quarter I II III IV

Year

2004 53 45 55 58

2005 52 58 52 56

2006 44 54 47.5 57

2007 55 53 56.5 56   [6]

(ii) What is time series ? Discuss the usefulness of time series. [4]

(iii) The probability mass function of a discrete random variable

X is :

P( ) , 21, 22,......, 30

0 otherwise

x k x x= =

=
.

Find the value of k. Further find 
5

E
3

x + 
 
 

. [5]



[4101]-281 7 P.T.O.

(iv) Explain the terms : G.R.R., N.R.R. and give its

interpretation. [5]

(b) (i) Describe the method of estimating seasonal indices by

ratio to trend where trend is obtained by link relative

method. [10]

(ii) Let

      1X B( 5, 0.5),n p→ = =  

2Y B( 2, 0.5).n p→ = =

Let X and Y be independent variables. If 

Z (5 X Y)= − +

,

find 

P (Z 5)≥

. [5]

(iii) Let A and B be any two events associated with an experiment.

Suppose that :

P(A) 0.4=  and P(A B) 0.7∪ =  and P(B) k= .

Find the value of k if :

(I) A and B are independent,

(II) A and B are mutually exclusive. [5]
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1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the concept of Panchkosha.

(2) State the nature of Applied Ethics.

(3) What is whistle blowing ?

(4) What is the trivarga doctrine of Purushartha ?

2. Write short notes on any four of the following in 100 words each : [20]

(1) Role of Media in Democracy.

P.T.O.

Seat

No.
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(2) Paternalism in medical ethics.

(3) Ecocentrism.

(4) Epicureanism.

(5) Gender discrimination.

(6) Concept of Jeevanmukta.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Discuss the arguments for and against vegetarianism.

(2) Briefly explain the impact of colonial rule in India.

(3) “Life unexamined, is not worth living.” Discuss.

(4) State and discuss the two positions regarding corporate social

responsibility.

(5) Discuss the problem of objectivity regarding media.

4. Answer any one of the following questions in 500 words : [20]

(1) Discuss the arguments for and against euthanasia.

(2) Discuss the concepts of ideal persons in Buddhism and the

way to attain the ideal.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(1) ^iapdksðk* gh ladYiuk Li"V djk-

(2) mi;ksftr uhfrðkkL=kps Lo:i lkaxk-

(3) ^fOgl« C«ksbax* Eg.kts dk; \

(4) iq#"kkFkkZpk f=oxZ flºkar dk; vkgs \

2. [kk«h«iSdh dks.kR;kgh pkjk aoj izR;sdh 100 ðkCnkar fVi.k f«gk % [20]

(1) «ksdðkkghe/ks ek/;ekaph Hkwfedk

(2) oS|dh; uhfrðkkL=krh« fir`okn

(3) ifjlaLFkkdsfUÊrrkokn

(4) ,fiD;wfjvuokn

(5) f«axHkko Hksn

(6) ^thoueqDr* gh ladYiuk
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar |k % [30]

(1) ðkkdkgkjoknkP;k cktwus vkf.k fojks/kh vl.kkÚ;k ;qfDroknkaph ppkZ djk-

(2) olkgroknh ðkklukps Hkkjrkoj >k«s«s ifj.kke FkksMD;kr Li"V djk-

(3) ^^ijh{k.k u ds«s«s thou tx.;kP;k ;ksX;rsps ukgh-** ppkZ djk-

(4) m|ksxkaP;k lkekftd tckcnkjhcÌ«P;k nksu Hkwfedk ekaMwu R;kaph ppkZ djk-

(5) ek/;ekaP;k lanHkkZr oLrqfu"BrsP;k leL;sph ppkZ djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar |k % [20]

(1) n;kej.kkP;k eq|kP;k cktwus vkf.k fojks/kh vl.kkÚ;k ;qfDroknkaph ppkZ djk-

(2) ckSº nðkZukrh« vknðkZ O;DrhP;k ladYiuk vkf.k vknðkZizkIrhP;k ekxkZph ppkZ

djk-
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[4101]-282

G-2 : Philosophy of Indian Saints

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the concept of Bhakti.

(2) Explain Basaveshvara’s path of Satsang in his philosophy.

(3) Explain Dnyaneshvara’s concept of Para-Bhakti.

(4) Explain Tukarama’s concept of God.

2. Write short notes on any four of the following in 100 words each : [20]

(1) Kabira’s concept of Nirguna Bhakti.

(2) Guru Nanak’s concept of Raja and Bhai (Will and Fear).

(3) Behenabai’s concept of ‘Pativrata’ in spiritual sense.

(4) What according to Saint Ramdasa, is Sahanpana ?

(5) Basaveshvara’s approach to Nivrutti.

(6) Dnyaneshvara’s concept of Vishvatmak Deva.

3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Why are the saints called socio-cultural reformers ?

Explain.
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(2) Explain the nature of Ultimate Reality, according to Kabir.

(3) Explain Guru Nanak’s attitude towards Hinduism and Islam.

(4) Explain and evaluate Saint Ramdasa’s synthesis of Prapancha

and Parmartha in the light of modern society.

(5) State Saint Tukarama’s criticism of Heresies (Pakhanda) and

explain the concept of True Dharma.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain Saint Ramdasa’s socio-political thoughts with special

reference to Prayatnavada, Dharma, Maharashtra Dharma,

Rajakarana, Varna and Caste.

(2) Explain the impact of Vaishnavism and Sufism on Saint

Kabir.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar |k % [10]

(1) HkDrh ladYiuk foðkn djk-

(2) closðojkaP;k rŸoKkukrh« ^lRlax ekxZ* foðkn djk-

(3) Kkusðojkaph ^ijkHkDrh* ladYiuk lkaxk-

(4) rqdkjkekaph ^bZðoj* ladYiuk lkaxk-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) dchjkaph ^fuxqZ.k HkDrh* ladYiuk-

(2) xq# ukudkaph jktk vkf.k HkkbZ ladYiuk-

(3) cgs.kkckb±ph v/;kfRed fopkjkrh« ^ifrozrk* ladYiuk-

(4) lar jkenklkaP;k ers] ðkgk.ki.k Eg.kts dk; \

(5) closðojkapk fuo`Ÿkhpk n`f"Vdksu-

(6) Kkusðojkaph ^foðokRednso* ladYiuk-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) larkauk lkekftd&lkaLœfrd lq/kkjd dk Eg.krkr \ lkaxk-

(2) dchjkauk vfHkizsr vl«sY;k vafre ln~oLrqps Lo:i lkaxk-

(3) fganqRo vkf.k bL«ke cÌ«pk xq# ukudkapk n`"Vhdksu foðkn djk-

(4) lar jkenklkpk iziap&ijekFkZ&leUo; n`"Vhdksu Li"V d:u] R;kps vk/kqfud

lekt O;oLFks'kh eqY;ekiu djk-

(5) lar rqdkjkekaph ik[kaM&[kaM.k ladYiuk lkaxwu R;kph ^lR;/keZ* ladYiuk Li"V

djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj fygk % [20]

(1) iq<h« eq|kauk vuql:u lar jkenklkapk lekt&jktdh; fopkj Li"V djk %

iz;Ruokn] /keZ] egkjk"V™/keZ] jktdkj.k] o.kZ vkf.k tkr-

(2) lar dchjkaojh« oS".ko o lqQh rŸoKkukpk izHkko Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4101]-283

S.Y. B.A. EXAMINATION, 2012

PHILOSOPHY

Special Paper S-1

(Indian Philosophical Approaches)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the notion of para and apara vidya according to Upanishadic

philosophy.

(2) Explain Chavaka’s views on Pramanas.

(3) Explain the concept of Samadhi according to Yoga darshan.

(4) Explain the concept of God in Sankara’s Advaita.

2. Write short notes on any four of the following in 100 words each : [20]

(1) Anatmavada of Buddhism

(2) Madhva’s dvaitavada

(3) Idea of Sthitapradnya in Gita

(4) Charvaka’s Bhut-chaitanyavada

(5) Nature of Jiva according to Jaina

(6) Apaurusheyatva of Vedas.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Explain Shankaracharya’s Mayavada.

(2) State and discuss Upanishada’s apposition to the ritualism of

Brahmanas.

(3) Explain briefly Sankhya’s Satkaryavada.

(4) Elaborate the concept of Bhaktiyoga in Bhagvatgita.

(5) State and explain the four major schools of Buddhism.

4. Answer any one of the following questions in 500 words : [20]

(1) Elaborately discuss the pramana concept by Purvamimasa.

(2) State and discuss the Padartha’s of Vaisesika Darshan.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph izR;sdh 50 ðkCnkr mŸkjs f«gk % [10]

(1) mifu"knkaP;k rRoKkukuwlkj ijk vkf.k vijk fo|k ;k laKkaps Li"Vhdj.k djk-

(2) pkokZdkapk izek.kfo"k;d n`"Vhdksu Li"V djk-

(3) ;ksx nðkZukuwlkj lek/kh gh ladYiuk Li"V djk-

(4) ðkadjkpk;k±P;k v}Srkrh« bZðoj ladYiuk Li"V djk-



[4101]-283 3 P.T.O.

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkr fVik f«gk % [20]

(1) ckSºkapk vukReokn

(2) e/okpk;k±pk }Srokn

(3) Hkxor~fxrsrh« ^fLFkrizK* gh dYiuk

(4) pkokZdkapk Hkwr&pSrU;okn

(5) tSu nðkZukuwlkj thokps Lo:i

(6) osnkaps vikS#"ks;Ro-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk % [30]

(1) ðkadjkpk;k±pk ek;kokn Li"V djk-

(2) czkEg.;kae/kh« deZdkaMkaojh« mifu"knkapk fojks/k lkaxwu R;koj ppkZ djk-

(3) lka[;kapk lRdk;Zokn FkksMD;kr Li"V djk-

(4) Hkxor~fxrsrh« HkfDr;ksx gh ladYiuk lfoLrj foðkn djk-

(5) ckSº nðkZukps pkj eq[; laiznk; lkaxqu R;kaps Li"Vhdj.k djk-

4- [kk«h«iSdh dks.kRkkgh ,dk izðukps 500 ðkCnkr mŸkj f«gk % [20]

(1) iwoZfeekalk nðkZukrh« izek.k ladYiuscÌ« lfoLrj ppkZ djk-

(2) oSðksf"kd nðkZukuwlkj inkFkZ lkaxwu R;kfo"k;h lfoLrj ppkZ djk-



Total No. of Questions—5] [Total No. of Printed Pages—7

Seat

No. [4101]-280

S.Y. B.A. EXAMINATION, 2012

APPLIED MATHEMATICS

(AMG-2 : Calculus of Several Variables and Vector Calculus)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt each of the following questions : [16]

(a) Find the first partial derivative of the function :

log ( cos )u x y� � .

(b) Find the extreme point of the function :

2 2( , ) 3 ( 1) ( 3) 1f x y x y y y� � � � � ..

(c) If :

( / )u xy f x y� ,

then show that :

2
u u

x y u
x y

� �
� �

� �
P.T.O.
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(d) Evaluate :

2

0 0

2 2

.

a xa

x y dy dx

�

� �

(e) For the curve :

cos , sin , 2,x t y t z� � �

show that parameter t represents an arc length.

(f) If a  is a constant vector, then show that :

( . )r a a� �

(g) Find grad � ; where :

2 2( , , ) 3x y z xy z x z� � � �

at the point (1, –2, 1)

(h) If :

2 2F (3 6 ) 14 20x y i yz j x z k� � � �

then evaluate :

C

F . dr�

from (0, 0, 0) to (1, 1, 1) along the path :

2 3, , .x t y t z t� � �
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2. (A) Attempt any one of the following : [6]

(a) Prove that if a function f(x, y) is differentiable at (a, b),

then fx(a, b) and fy (a, b) exist and f is continuous at

(a, b).

(b) State and prove Euler’s theorem for homogeneous function.

(B) Attempt any two of the following : [10]

(a) Show that the function :

( , ) | |f x y x y�

is not differentiable at (0, 0) even though fx(0, 0),

fy (0, 0) exists.

(b) If W = f(u, v), where :

,x y x yu e e v e e� �� � � � ,

show that :

w w w w
u v

x y u v

� � � �
� � �

� � � �

(c) Find the area of an ellipse :

2 2

2 2
1

x y

a b
� � .
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3. (A) Attempt any one of the following : [8]

(a) Evaluate :

R

;

x y

x ye dxdy

�
���

where R is a region bounded by the lines x = 0,

y = 0, x + y = 1.

(b) By using Taylor’s theorem, expand xy in powers of

(x – 1) and (y – 1) upto third degree terms, hence find

the value of (1.1)1.02.

(B) Attempt any one of the following : [8]

(a) If F( )t  is differentiable at to, then it is continuous at

to. Show that :

2
2sin 1

F( ) , 0

2 , 0

tt e
t i j t k t

t t

i j t

�
� � � �

� � �

is continuous at t = 0.

(b) Find the directional derivative of the function :

2 2( , , ) = 2x y z xy yz zx� � �

along the tangent to the curve :

2 3, ,x t y t z t� � �

at the point (1, 1, 1).
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4. (A) Attempt any one of the following : [6]

(a) If ( , , )x y z�  is a scalar function which possesses

continuous second order partial derivatives, then prove

that :

( ) 0� 	 � � �

(b) If a vector field F  is the gradient of a single valued

scalar field �  in a region of space, then show that the

line integral of F  around any closed path C in the region

is zero.

(B) Attempt any two of the following : [10]

(a) Find :

1

r


 �� � 

� �

;

where :

r xi y j zk� � �  and | |r r�

(b) Find the acute angle between the tangents to the

curve :

2 21
2

2
r t i t j t k� � �

  at the point t = 1 and t = – 3.
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(c) In what direction from the point (2, 1, – 2) is the directional

derivative of :

2 3 32 3x y xz� �

is maximum ? What is its magnitude ?

5. (A) Attempt any one of the following : [6]

(a) Prove that the vector field :

3 2 2 2F (2 6 ) (6 2 ) (3 )xz y i x yz j x z y k� � � � � �

is irrotational. Find the scalar potential � such that F = grad .�

(b) Evaluate :

C

( 1)yzdx zx dy xydz� � ��

where C is any path from (1, 0, 0) to (2, 1, 4).

(B) Attempt any two of the following : [10]

(a) Evaluate by using Green’s theorem :

2 2

C

(2 ) ( )xy x dx x y dy� � ��

where C is the closed curve of the region bounded by

y = x2 and y2 = x.
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(b) Evaluate 

s

ˆF . S;n d��  where :

F 18 12 3zi j yk� � �

and S is the part of the plane :

2 3 6 12x y z� � �

which is located in

0, 0, 0.x y z� � �

(c) Evaluate by using Stokes’ theorem :

C

( 2 );xe dx ydy dz� ��

where C is the curve :

2 2 4; 2.x y z� � �
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[4101]-287

S.Y. B.A. EXAMINATION, 2012

COMPUTER APPLICATIONS

COURSE—III

(Vocational Course)

(Theory)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any Five from

the remaining questions.

(ii) Draw a neat-labelled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. Define RDBMS. Explain the advantages of RDBMS. [10]

2. Explain in brief the following with syntax and example : [6]

(a) Update

(b) Insert

3. Explain in brief PL/SQL and its features. [6]

P.T.O.

Seat

No.



[4101]-287 2

4. Explain the following functions : [6]

(a) Substr()

(b) Avg()

5. Explain in brief the following : [6]

(a) Foreign Key

(b) DML

6. Explain the following with example : [6]

(a) Select with all the clauses

(b) In Operator

7. What is E-R Model ? Explain in brief key elements of E-R

Model. [6]



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4101]-288

S.Y. B.A. EXAMINATION, 2012

FUNCTIONAL ENGLISH (Vocational Stream)

Paper III : Advanced Writing Skills and Introduction to

Electronic Media (Theory)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) (i) Find out and write five colours hiding in the following

puzzle : [5]

R O C U R B

E K H T W L

D M B S K U

W H I T E E

Y E L L O W

G R E E N R
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Or

(ii) Match the following pairs using the scrambled words in

each column : [5]

 A  B

Ase elabt

Efla anm

Mtie xbo

Tcwah erosh

Htcam tel

(B) (i) Identify the register of the following paragraph and

underline its markers : [5]

Nouns have singular and plural forms. Many plural forms

have -s or -es endings (dog/dogs, referee/referees, bush/

bushes), but by no means all (woman/women, axis/axes,

medium/media). Unlike some other languages, in English,

nouns do not have grammatical gender. However, many

nouns can refer to masculine or feminine animate objects

(mother/father, tiger/tigress, alumnus/alumna, male/female).

Nouns can be classified semantically, i.e. by their meanings :

common nouns ("sugar", "maple", "syrup", "wood"), proper
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nouns ("Cyrus", "China"), concrete nouns ("book", "laptop"),

and abstract nouns ("heat", "prejudice"). Alternatively, they

can be distinguished grammatically : count nouns ("clock",

"city", "colour") and non-count nouns ("milk", "decor",

"foliage").

Or

(ii) Identify the style of each of the following sentences : [5]

(1) Mom, why don’t you take rest ? You look tired.

(2) All the students are instructed to submit their

journals.

(3) Come on dear, don’t be difficult.

(4) Can you lend me your book ?

(5) I think functional English will be useful to you in

many ways.

2. (i) You are working in a city near your hometown. You are going

abroad for one year on a project. Your mother is worried

because you had never been away from her for so long. Write

a letter to her promising that you will take proper care of

yourself. [5]
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Or

(ii) You are applying for the job of a teacher. Prepare your resume

for the same. [5]

3. (A) The Principal of your college has asked you to survey the

use of library by students, with reference to books, journals

and newspapers. Prepare your report based on your interaction

with the students, teachers and Librarian of your college. Write

it along with your comments and recommendations. [10]

(B) You were present for a rally supporting Anna Hajare’s Janlokpal

Abhiyan, as a journalist. Write a report on the rally for your

newspaper. [10]

4. (A) You have to compere a dance show arranged by the students

of your college. Write a script for it considering the programme

given below : [10]

• Welcome song

• Lighting of the auspicious lamp and worshipping the idol

of Nataraj, the god of fine Arts

• Guru Vandana
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• Introductory remarks by the General Secretary of the

college

• Bharatnatyam by Yogita

• Lavani by Rupali

• Katthak by Mahendra

• Western dance by Jessica and group

• Folk dance by Rajesh and group

• Group dance based on a patriotic song—Vande Mataram

by Sayli and group

(B) Answer the following questions (any two) : [10]

(1) What role is radio, as a mass medium, expected to play

in educating the masses ?

(2) Who is your favourite radio announcer ? Why ?

(3) Do you agree with the view that radio is more popular

as well as useful in ural India ?

(C) Answer the following questions (any two) : [10]

(1) Discuss how TV can play an important role in educating

and entertaining women.

(2) Comment on the view that TV is popular because it brings

the world home.

(3) Point out the main features of TV as a mass media.
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5. Answer the following questions (any three) : [15]

(1) What is the essential difference between the language used

for radio and for TV ?

(2) Which of the electronic media do you like the most ?

Why ?

(3) What vital role have TV and Radio recently played in building

public opinion ? Give examples.

(4) Should the Government have direct control over the Mass

media ? Justify your answer.

(5) In what way a cricket commentator on radio, in the absence

of TV camera, requires better languages skills ?



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4101]-289

S.Y. B.A. EXAMINATION, 2012

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper III

(Tourism Marketing and Travel Agency Operation)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words) : [10]

(i) Importance of travel agency

(ii) IATA

(iii) Private air taxi

(iv) Define marketing.

2. Write short notes on any four (around 100 words) : [20]

(i) Procedure of passport

(ii) Exchange rate

P.T.O.
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(iii) Front office

(iv) Break Journey

(v) International tourism

(vi) Pamphlets.

3. Answer any three (200-250 words) : [30]

(i) Classification and types of hotels.

(ii) Linkage of tourism industry with tourism organizations.

(iii) Prizing and cost calculation of tour package.

(iv) Write the definition and procedure of VISA.

(v) Define Star Cruise with suitable example.

4. Answer in detail any one (around 500 words)  : [20]

(i) Write the importance and functions of UNESCO. How does

it cooperate the tourism industry ?

(ii) Explain Royal Orient and mention its Itinerary.



Total No. of Questions—5] [Total No. of Printed Pages—4+1

Seat

No. [4101]-290

S.Y. B.A. EXAMINATION, 2012

iz;kstuewyd fganh % oksds'kuy

(Functional Hindi : Vocational)

iz'u&i= III

(jktHkk"kk fganh] fganh esa i=kpkj] foKkiu] i=dkfjrk rFkk vuqokn&1)

(2008 PATTERN)

le; % rhu ?k.Vs dqy vad % 80

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSaA

(ii) nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSaA

(iii) foHkkx ^v* vkSj foHkkx ^c* ds mŸkj ,d gh mŸkj&iqfLrdk esa fyf[k,A

foHkkx ^v*

1. (d) fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [10]

(1) jktHkk"kk vf/kfu;e 1976 ds izeq[k mica/k]

(2) ljdkjh vkSj vºZljdkjh i= esa varj]

(3) O;kikfjd i=ksa dk egRo]

(4) foKkiu izk:i ds fofo/k ?kVdA

P.T.O.
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([k) ^jke ,tsUlh* 1971 fryd ekxZ] iq.ks dh vksj ls ^ctkt vkWVks fy- okyqat]

vkSjaxkckn dks 50 ctkt luh >hi] 50 ctkt fytaM rFkk 500 ctkt lQk;j

dk vkns'k ,d ekg ds vUnj lqiqnZxh dh 'krZ ij Hkstk FkkA lqiqnZxh dk

le; chr pqdk gSA ^jke ,tsUlh* dh vksj ls xkfM+;k° Hkstus esa foyac gksus

dh f'kdk;r djrs gq, i= fyf[k,A [6]

vFkok

^ctkt vkWVks fy- okyqat] vkSjaxkckn dh vksj ls ^jke ,tsUlh* 1971 fryd

ekxZ] iq.ks 411030 dks ubZ eksVj lkbfdy dh tkudkjh nsrs gq, izLrko i=

fyf[k,A

2. (x) fuEufyf[kr esa ls fdUgha rhu iz'uksa ds mŸkj la{ksi esa fyf[k, % [9]

(1) jktHkk"kk vf/kfu;e] 1963 dh /kkjk 3] mi/kkjk 3 dk D;k egRo gS \

(2) fganh dk dk;Zlk/kd Kku fdls dgrs gSa \

(3) dk;kZy;hu rFkk okf.kfT;d i=kpkj dk vUrj Li"V dhft,A

(4) dk;kZy;hu vkns'k }kjk dkSu&dkSulh lwpuk,° nh tk ldrh gSa \

(5) O;kikfjd i= esa 'kh"kZd] frfFk] lanHkZ&ÿekad] ikus okys dk irkµbu

ckrksa dk D;k LFkku gS \

(?k) fuEufyf[kr esa ls fdUgha lkr foKkiu okD;ka'kksa@?kks"kokD;ksa ds vkxs muds mRikn~;&oLrq

ds uke fyf[k, % [7]

(1) rqe tks fey x, gks-------------------

(2) vkf[kj nhokjksa ds Hkh fny gksrs gSa-------------------
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(3) Mj ds vkxs thr gS-------------------

(4) D;k lsaV gS \-------------------

(5) lM+u ls lqj{kk dksus&dksus rd-------------------

(6) cPpksa dk fnekx jgs ›s'k-------------------

(7) txexk ns nqfu;k-------------------

(8) ,d 'kxqu ftanxh ds uke-------------------

(9) ckcj dk csVk gqek;w°-------------------

(10) pyrk jgs] pyrk jgs-------------------

foHkkx ^c*

3. (p) fuEufyf[kr vuqPNsn dk fganh esa vuqokn dhft, % [7]

'kaHkj o"kkZiwohZi;±r vkiY;kdMs eqyhaph ukos izk;% un~;kaP;k ukokao:u Bsohr- eqyh

vkf.k unh ;kaP;krys ,d d:.k vkf.k euksgj lkE; dkfynkl us lkafxrys vkgs-

,dnk Hkkstjktk vkf.k dkfynkl fQjr&fQjr ,dk unhP;k fdukjh vkys- rh

unh nxMxksVÓkarwu tkr gksrh vkf.k R;keq š frpk vkokt ;sr gksrk- jktkus dkfynklkyk

fopkjys] ^^gh unh v'kh dk jMr vkgs \** dkfynkl pVdu Eg.kkyk] ^vgks]

rh ekgsjgwu lkljh fu?kkyh vkgs- v'kk osˇh eqyh vkf.k un~;k jM.kkjp!**
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(N) izfr&la'kks/ku ds fp�ksa dk iz;ksx djrs gq, fuEufyf[kr ifjPNsn dks fQj ls

fyf[k, % [7]

eSa ,dckj jsYos LVs 'k u ij fVdV ysus x;kA xyrh ls eSa us nl :i, ds

cnys lkS :i, dk uksV fn;k fV dVckcw us ml le; og :i;k j[k fy;kA

eq>s irk fHk ugha pyk fd eSaus xyrh dhA eSa t YnhtYnh xkMhesa vkdj cSB

x;kA FkksMh nsj esa fVd Vck cw lSadM Dykl ds Mcs esa gj vkneh dk psgjk

igpkurk gqvk mifLFkr gqvkA mlus eq>s igpkukA cM+h fouezrk ds lkFk esjs

gkFk esa uCcs :i, j [k fn , vkSj dgk°] ^^;g cgqr cM+h xyrh gks xbZ Fkh]

vkius Hkh ugha ns [kkvkSj eSaus HkhA** eSa pfdr jg x ;kA dSls d°gw° fd nq fu;k

esa lPpkbZ vkSj bZekunkjh yw Ir gks x bZ gS \

4. (t) vkids egkfon~;ky; esa okf"kZd ikfjrksf"kd forj.k lekjksg esa ,u- lh- ,y-

iq.ks ds lapkyd MkW- ,- ,- ukrw i/kkj jgs gSaµbl lanHkZ esa izsl&foKfIr rS;kj

dhft,A [6]

(>) (I) fuEufyf[kr esa ls fdUgha ik°p ds fganh ikfjHkkf"kd 'kCn fyf[k, % [5]

(1) Annuity

(2) Bank endorsement

(3) Costing

(4) Annual Verification

(5) Barred by law

(6) Cause law

(7) Emergency stop

(8) Input.
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(II) fuEufyf[kr esa ls fdUgha ik°p ds vaxzsth ikfjHkkf"kd 'kCn fyf[k, % [5]

(1) rRdky vnk;xh

(2) cSa•dx ysu&nsu

(3) feF;k vfHk;ksx

(4) f'kuk[r ijsM

(5) ifjlhek

(6) xksyk iRFkj

(7) njlwph

(8) nq?kZVuk laca/kh nkok A

5. fuEufyf[kr esa ls fdUgha rhu ij fVIif.k;k° fyf[k, % [18]

(1) vuqokn dk {ks=

(2) fjiksVZ ds rRo

(3) izfrla'kks/kd ds xq.k

(4) oMZ dh fo'ks"krk

(5) ,e- ,l- ,DlsyA



P.T.O.

Total No. of Questions—7] [Total No. of Printed Pages—2

Seat

No. [4101]-292

S.Y. B.A. EXAMINATION, 2012

(Vocational Course)

COMPUTER APPLICATIONS (COURSE—IV)

(Software Engineering) (Theory)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) Question No. 1 is compulsory and solve any five rest

of the questions.

(ii) Draw a neat-labeled diagram wherever necessary.

(iii) Figures to the right indicate full marks.

1. What is data flow diagram ? Draw context level data flow diagram

for Admission system. [10]

2. Explain the different types of Fact-Gathering Techniques. [6]

3. What is a Decision Tree and Decision Table ? Give example of Decision

Tree. [6]

4. Explain the following : [6]

(1) Flow-charting

(2) Data Dictionary.
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5. Explain, what is normalization. [6]

6. Explain Waterfall Model with diagram. [6]

7. Who is System Analyst ? State roles of System Analyst. [6]
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